Products Guide Catalogue

The specifications on each item can be amended without any prenotice to improve aperformance.
The specifications on each item can be different form actual specification.



CHAPTER 01

Products Item List

CONTENTS

- N N

YSV B
Serios YSVI10 oot |10
3/2
10mm Pico V/V .
3/2 YSVi0 YSV20 YSV20 R = 15 12
15mm Micro V/V Body Width-10mm Body Width-15mm
YSV
Series YSV200 M5 14
3/2-NC, NO
Staking Body
Valve
il e YSV300 1/8 16
g’lecs gAF(l;(?UL[,JOSFZUOO SF1000,2000
ries VT Solenoid
Multi MCS100 Valve 20
Connector MOUNTED
System Mes200
Solenoid Valve SF2000
o Solenoid
MCS200
s vave | 22
oo MOUNTED
S
=
= olenoi
E MCS400 Valve 24
() MOUNTED
SF
(FLEXIBLE) SF1000 M5X%0.8 28
Series
5/2,5/3, 3/2
Solenoid, show sF0 SF2000 1/8 30
ody Width-15mm Body Width-18mm
Pneumatic '
Valve
SF3000 1/8 32
gg&?ym\:\?idth—%mm S;lyo ?I\[l)idth—zsmm SF4000 1/4 34
g SF5000 3/8 36
=
(W}
=
% SF5000 SF6000
E Body Width-32mm Body Width-36mm SF6000 1 / 2 38




oRT S Pace

T s v
SIv

(Is0)

ISO-0-18

. pr B e | SVAO | ShB T | 42
Series Sub Base Thread-1/4 Sub Base Thread-1/4 -] /4
5/2, 5/3
Solenoid, ISO-0-26
Pneumatic SIV300 Sub Base Thread | 44
Valve -1/
ISO-1

SIV400 Sub Base Thread | 46
= -1/4,3/8 1/2
g 150-2
& ég/i[;[\]Nidth—AOmm Va0 SIV500 Sub Base Thread 48

Sub Base Thread-1/4, 3/8, 1/2 R
> Sy o e g 112, 3/4
SIE 1S0-0-18
(EC_ONOMY) SIE200 Stb Base Thread | 50
Series -1/
5/2, 5/3
Solenoid EE?[?/(\JN s ISO-0-26
Pneumatic Sub Basle Thre?dT1 /4 EIES[;JC\IN s SIE300 Sub Base Thread 52
Valve SLE;J— éasled tT;rS;TjTI /4 -1 / 4
MCS $C200,300,400
Series Solenoid
M vahe | S¢
Connector ggezr?f?id Valve MOUNTED Solenoid Vaive MOUNTED MOUNTED
System MCS100
4 SCE300,400
65 Solenoid
— 58
= MCS100 MCS100 Valve
E gggr?o?g Valve MOUNTED ggf’i?g Valve MOUNTED MOUNTED
SC
(COMPACT) SC200 M5, M3 62
Series
5/2’ 5/3’ 3/2 S%ZOU o SC300 ) SC400 )
. ody Width-10mm Body Width-15mm Body Width-18mm
golenmdt,. SC300 1/8, M5 64
neumatic

Valve

SC400 1/4, 1/8 66

SC260 SC360

Body Width-10mm Body Width-15mm

SC460
Body Width-18mm




Products Item List

CONTENTS

T | emes | wooa leomrome e
SCE

(ECONOMY)
Series SCE300 M5, 1/8 68
5/2,5/3, 3/2
Solenoid, e
Pneumatic Body Width-15mm
Valve SCE400
Body Width-18mm
SCE400 1/8, 1/4 70
SCE500
Body Width-26mm
[<-]
S o T
65 SCES00 3/8 72
— SCE460
- Body Width-18mm
=X
==
(L]
SN Series
5/2, 5/3
>/2. 5/ SN3000 1/4 76
Solenoid
Pneumatic
Valve
N~ SN3000
[—) Body Width-23mm
s
— SN4000 1/4 78
[-= SN4000
§ Body Width-30mm
(L)
SOLENOID Width 15mm
Caoil
SC1-A2, A1, D4

sC1 SG1 SD1 SL1 SM1 (ACZZOV' 1, DCZAV) Width-15mm 80
g Width 22mm SC2-A2, Al DA Width-22mm
ec (2200, 110v, DC2W)
e
o
(-
=5
- sc2 SG2 SD2
(L]
DIN
CONNECTOR CNI1 Width-15mm 89

cD1 cp2 CN2 Width-22mm

CN1 cZ1 CN2 cZ2




T | emes | woom leomrome e
YMV

Series YMV310 1/8
3/2
Mechanically 86
Valve YMV410 1/4
YMV310-PU  YMV310-1RP  YMV310-2RB  YMV310-FP  YMV310-SL  YMV310-MS YMV310-MT
PMEV
(ECONOMY)
Serles PMEVIIO | o oo
5/2, 3/2 PMEV160 '
Panel
Mounted EMdEW 1.2—EP]5 PMEV110-SL PMEV160-MS PMEV160-MT
Manua”y Pca)n)(;l \?l—:olte- () ngm
Valve
PMEV210
PMEV260 1/8 88
PMEV210-FP PMEV210-SL PMEV260-MS PMEV260-MT
Body width-18mm
Panel Hole- 2 30
S
o PMEV410 1/4
= PMEV460
& PMEV410-FP PMEV410-SL PMEV460-MS PMEV460-MT
- —] Body width-26mm
(L] Panel Hole- @ 30
RLV
Series RLV110 508
5/2, 3/2 RLV160 )
RO”GI’ Lever RLV110-PU RLV110-1RP RLV160-PU RLV160-2RB
Mechanical Body width-15mm
Valve
RLV210
1/8
RLV260 / 90
RLV210-PU RLV210-1RB RLV260-PU RLV260-2RP
Body width-18mm
RLV410
RLV460 1/4
RLV410-PU RLV410-1RB RLV460-PU RLV460-2RP
Body width-26mm




Products Item List

CONTENTS

MoDEL_|poRT 5z PAGE.

| mEM | SeRES
HLV

HLV310-S
Series HLV320-D e
5/2, 5/3, 3/2 HLV330-5,D
Hand Lever HLV340-S,D
Manually HLV350-S,D
Valve HLV410-S
HLV300
5/2, 5/3-Way HLV420-D
HLV430-S,D
HLvad0-sD| 174
HLV450-S,D
?/szg% . g/sz_z\l/t\algy HLV460-S,D 92
5 —Vvay
HLV510-S
HLV520-D
HLV530-S,D
HLvs40-s,p|  3/8
HLV500 ;'}z\if\ssgy HLV550-S,D
/2, 5/3-Hey HLV560-S,D
HLV610-S
HLV620-D
HLV630-S,D 1/2
R HLVe0-5.0
HLV650-S,D
KMV KMV310-S
Series KMV310-D 1/8
5/2, 3/2 KMV310-DA
Knob 94
Push/Pull KMV410 KMV260 KMV410-S,D,DA
Manuall /2 way /ety v ng-spoa| /4
Valve B
;Z"n_" TMV210
es TMV260 1/8
5/2, 3/2
Knob 96
Push/Pull TMV410 /
Manually e G ey Sowsy | TMVA60 174
Valve
FT FT410-S 1/4
Series FT510-S 3/8
5/2, 5/3 FT610-S
Foot FT620-D 98
Treadle oviay 1600 FT630-S,D 1/2
Manually 5/2, 5/3-Way FT640-S,D
Valve FT500

5/2-Way

FT650-S,D




ITEM MODEL RT SIZE
| MEM | SERES | MODEL |PORT SZE| PAGE)

Compact YC[D]Q2-12 M5 X 0.8
Cylinder YC[D]Q2-16 M5 % 0.8
YC [D]Q2-20 M5 X 0.8
YC(D)Q2- 8 12~YC(D)Q2- 6 25 YC[D]Q2-25 M5 % 0.8
YC[D]Q2-32 1/8 102
= Yc[D]Q2-40 1/8
& YC[D]Q2-50 1/4
E YC(D)Q2- 8 32~YC(D)Q2- 2 80 [D] Q2_63 ] /4
] YC[D]Q2-80 3/8
S YSC02-1 1/8
Controller
104
YSC02-1 YSC02-2 YSC02-2 1/4
Air ASS1000-M5 AS2000-1/8 ASS
Silencer st i (Metal) | MO~PT1/2
ASS5000-3/8 ASE000-1/2 106
ASS6000-1/2 AS
Metal Silencer Plastic Silencer (Plastic) PT1/8~PT1/2
Air Hydro )
Air Port-3/8
C ri
onverter veTes Oil Port-3/4
Air Port-1/2
YCT100
Oil Port-1 L=
Air Port-3/4
YCTe3 CTI00 YCT160 Oil Port-1)4
YCT160
u YNBH3-40
Cylinder (1) | Ar Port-3/8
YNBH3-60 Oil Port-1 /2
(25:1)
110
o025 1) YNPH3-40
(11:1) Air Port-3/8
wwprz-ao(11:1) | YNPH3-60 Qil Port-1/2

YNPH3-60(25:1)

(25:1)




REFERENCE MATERIALS

The surface of earth is covered with air layer, which consists of nitrogen(78Vo 1%), oxygen(21Vo 1%) and small amount of COz,

AR, Hz, Ne, Kt and Xe. To understand air movement and the law of nature, various physical terms as follow should be utilized.

For better mutual understanding, scientist in most countries come to same unit system, called Sl unit.

Following are the relation between generally used engineering terms and new Sl unit.

In defining aerology, foilowing term and words are required.

BN T T T N
Length Newton(N)
Force F kP _ Tkam
kp.s 2 - 2
Mass m i kg s
(0 Area A nt i
Time t Sec. Sec. Volume Y n m
Temp. T Degress Celsius(°C) Kelvin(K) Flux V(Q) /S ni/S
Eletrc curent I Ampere(A) Ampere(A) Pascal(Pa) oae N
gz N
Intensity light [ Candela(cd) Pressure P (Kp/ i) ?S;fbf{%s Pa= m
100kPa( 10 2 kPa) =
n Mole(mol) (1 4.5psi )
mmHg
HH“ kgf/cm HM o
«| = Electric Current (A)
1x10° | 10197210 € | 9.86923x10 % | 1.01972%10 * | 75006210 * | 1.45038 10 «E = Voltage (V)
2| 1x10° : 101972 |9g683x10* | 101972x10* | 750082102 | 14508810 *R = Resistance (2)
A «W = Power consumption (w)
3 | 9.80665%10 ¢ | 9.80665%10 1 967841x10*| 1X10 73559% 10°¢ | 1.42234%10
4 | 1.0135x10° | 1.01325 1.03323 1 1.03323x10* | 760 102 | 1.46960%10
5 | 9.80665 |[9.80665x10°| 1% 107 |967841x10°% 1 7.35559x10 | 1.42034x10°°
2
6 |1.33322x102 [1.33322x10 % | 1.35951 X10 * [ 13157910 * | 1.35951 10 1 19336810
7 |6.89473x10°% |6.89473%10 2 | 7.03065% 10 % | 6.80457x10 # | 7.03067x10°¢ | 5.17147x10 1

ALLOWABLE TEMPERATURE ACCORDING TO THE TYPE OF INSULATOR

Insulation Type Temperature rising value ('C) |Max, allowable temperature (°C)

Y Type x below 50 above 90
A Type below 65 above 105
E Type below 80 above 120
B Type below 90 above 130
F Type below 115 above 155
H Type below 140 above 180
C Type = below 140 above 180

= Theoretical Specifications

CONSUMPTION ELECTRIC POWER
AC Solenoid

electric power(VA) = Voltage(V) X electric current(A)

Consumption electric power(W) =
Voltage(V) X electric current(A) X COS 8

DC Solenoid

Consumption electric power(W) = Voltage(V) X electric current (A)



GUIDELINES FOR SAFELY USING

SOLENOID VALVES

%Please carefully read prior to using the valves.

B> B> B>

A WaRNING
Design, specificaiion, and usage of the compressed qir sysfem

® Only the qualified personnel should design, specify, and handle the
compressed air system.

®  Recommended working condition for each and every product shown in the
catalog varies. Implement only the most suitable working condition prior to
specifying the system for each product.

m  Proper safety features should be installed and secured prior to operating any
machinery equipment. The source of disassembing any machinery to avoid
any personal injury.

A caution
Preparatory factors to consider prior to using the valves

m Verify the accuracy of the specifications of the valves prior to the usage.

m Verify and check that the specifiacations of the valves are consistent with the
requested or ordered specifications.

m Use compress air to clean any metallic residues, cutting oil, or dust inside of
the piping system.

m Distance between the actuator and the valve should be as minimal as possible.
The piping distance longer than the minimal leads to inefficiency, waste of
compressed air, and slower resposive time of the valve.

m Use zinc~plated steel tube when steel tubing is required.

m Select and connect the proper ports for accurate piping.

P(1) : Compressed air input connection ports
B(2), A(4) : Actuator connection ports
R2(3), R1(5) : Residual air exhaust ports

m Any and all foreign materials of impurity must be removed at the points of
connection or from the inside of valve prior to piping.

m  When connecting fittings to the ports,
apply Teflon tape to the fitting
threads. The first 2 threads of
fitting should be free of any
Teflon tape. Any fragment or
portion of Teflon tape entering
the inside of valve will result
in the improper operations of
the valve.

Leaving 2Mount Interval

A waRnING
Installation environment for the valves

m Avoid any location where explosive, vibration, and impact factors are present.

m  Maintain a sufficient space for a proper ventilation and for any needed repair
work when installing valves.

m Use the valves within the allowable range of 5C~60°C of the ambient
temperature and of the fluid material. In the valves when used under the low
temperature working conditions.

A caution
Usage conditions for valves

m |nstalling air filter and oiler prior to piping of valves leads to the extension of
the product life.

m Use the purified and dried air only. The source of the compressed air that
contains any chemicals, organic raw materials, salt, corrosive materials will
render the valves defective and non-operational.

m Excessive air leakage from the compressed air system may reduce the
product life of valve.

pLUelS3 8 Failure to follow may result in death or serious personal injury.

WLGHN[ER Failure to follow may result in personal injury.

(o \I[o\'W Failure to follow may result in personal injury or machinery equipment damage.

m  Proper filtering system must be installed to prevent any substance of impurity
from entering valves. periodical monitoring or replacement of filters is strongly
suggested.

m Use turbine oil type or class 2 (ISO VG #32) oil in order to extend the
product life, Non-graded oil may be used.

m Use only the recommended oil type. Using non-recommended oil type may
reduce the product life of valves due to damage caused by the shrinkage or
enlargement of the valve packing. (Do not use spindle oil, machine oil,
hydraulic oil, cooking oil, or anti-corrosion oil)

m Do not use the valves in the dusty working condition. If the dusty working
condition is unavoidable, place a protective cover over the control unit and
place the noise muffler or silencer at the exhaust ports of R2(3) and R1(5).

m Do not allow the valves to be on the stand-by or pause mode for an
extended period of time. The stand-by or pause mode of valves should be
used briefly and momentarily.

m  Solenoid valves are not designed to be suddenly interrupted, stopped, or shut
off. Consider and prepare other safety measurements before using the
solenoid valves.

A warnING
Electrical factors for the valves

m Allowable range of voltage variation should be within 10% of the
recommended voltage for the proper operation of the valves. Any voltage
exceeding more than 10% of the recommended voltage will result in the coil
damage and the malfunctioning of the valves.

m Turning on or off of Alternate Current (AC) may result in surge current that
may have problematic effect to the magnetic circuitry. It is recommended that
an alternate plan is implemented to avoid such problematic effect.

m  Continuous supply of electricity to the solenoid coil may result in increase of
the surface temperature of the coil. In order to avoid the damage to the coil,
please verify circuitry design before piping.

m Even if the source of electricity is completely disconnected, the operation of
the valves may not come a complete stop due to a residual current in the
magnetic circuitry. Reduce the magnitude of the leakage current on both
sides by 20% of the rated voltage for AC supply current and by 10% of the
rated voltage for DC supply current.

A\ caution
Applicable torque force when piping valves

m Applying excessive torque force will damage the fitting threads when
connection to the valves. Use the following guideline of torque force for each
applicable port size.

Applicable Torque N.m(kgf/ cif)

M5 2(20)
PT1/8 15(150)
PT1/4 20(200)
PT3/8 25(250)
PT1/2 34(340)
PT3/4 51(510)
PTI 69(690)
PT1 1/4 80(800)
PT1 1/2 85(850)
PT2 120(1200)

G D



PG2-06

PG2-06

**:\Voltage Selection

ORDERING NO.

[ [
Valve Series Function

SPECIFICATION

SERIES YSV10 YSVI1
R FUNCTION 3/2-N.C 3/2-N.O0
Fluids Compressed Air & Inert Gases
Pressure(bar) 1~8.0
Orifice(mm ) P=906, R=080.7
Ambient & Fluid Temp. 5~60°C (41~140°F)
Response Time(5bar) 10ms or Less
Max. Working Frequency 30c/sec
Lubrication Not Required(Use 1SO VG324 )
Manual Override Push Button

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

10% of Rated Voltage

Power Consumption

0.65W(24V : 27.0mA / 12V : 54.0mA)

Transition Capacity Graph

Armature : Stainless Steel
Indicator Cap : Polycarbonate

30
£ —
£ —

215 —— ]
(o4 5 il
0
1 2 3 4 5 6 7 8
Pressure (bar)
The Material of Parts

Pilot Parts : Glass Filled Nylon

Spring : Stainless

Seals : NBR

Plug Connector With Clip

Ordering Code
PG2-06 (L : 600m)
PG2-10 ( L : 1.000mm)

Blanking Plate (Material : STS304)

==
<

Ordering Code
YMF10 - BLK

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

oll-HH-H-B

|
Pilot Source Manual Operator Solenoid Coil Type Voltage
YSV] , 0 3/2 Normally Closed D Direct P Push L 90 Degree Plug-in Wire D4 DC 24V
' Spring Return Operated Non-Locking Assembly With LED D2 DC 12V
Solenoid Valve :
1 3/2 Normally Open M 180 Degree Plug-in Wire
Spring Return Assembly With LED




Direct Solenoid Actuated Valves

10mm Pico

Manual Button

Manual Button
— Red A 1
g9 - == -
A Black i
6.0 6.0]
8.5 8.5
AWG24
= Red—ﬁ ﬁ—a\uck
4 i g
E N )
ijaﬁj*
! T 1 |
EE——c = e o 3 8
3249 || ) q24d || 2
szﬂ.ho.ss//w-I 285 )u 28.5
31.9 2—M1.7x0.35:
35.9 600
2.8 1'\ 2.8 2.8 ‘Wﬂu‘ 2.8 2.8 1\'0 2.8 2.8 1\'0 2.8
LB > [ 9] [ B]
- —-—- —— feeE- —-—- - —-—-
af \ b i
P(1)*A 2) R(3) R(3) AR P(1) P(1)’A 2)’R131 R(G)’A 2)’Pl1l
YSV10-DP-M-xx YSV11-DP-h—sx YSV10-DP-L—#x YSV11-DP-L—x
Normally Closed Type Normally Open Type Normally Closed Type Normally Open Type
13 31 13 31
6.0
YSV10-DP-L—** 2l8 i 2.8
[
' 2 AR
YSV10-DP-M-**
ob E 4 5
YMF10-BLK 0.5 7.0 0.5
Blanking Plate
Gasket (Sealing Area) ] i . .
Manifold Block Ordering Code Blanking Plate Ordering Code
YMF10 - 2 YMF10-BLK
YMF10-M04 |—|
@ Blanking Plate.
02 2-Station (Material: STS304)
3 W
YMF10 MANIFOLD BLOCK o | swr N
(YSV10 Solenoid Valve Use) 08 | &-Station
10 | 10-Station Manifold Gasket.
TW % (Material: NBR)
O A N Manual Button 14 | 14-Station -
ﬁ % i 2-¢6.0 DP3.0
83.2 Hole
o 1| [=E] =] BEa] ) [Ea] [Es] [E]
© e 7 .
9wl ™|
Bxx##x 4)( alBp xxx x x apraprEaBrEa =
.0 B=(10.50411.5) — = w0 Normally Closed Type Normally Open Type
A=(10.51+19.5)
. AWG24 . AWG24
Red  Black H H
E E E
MMMMMMM = =t
%F%F%F%F%F%F%Eﬂﬁﬂﬁﬂﬁiﬁiﬁﬂ%i : :
N 2 e N N e e P e P S e B GUAN \ R \
—EAE— o
bﬂ”bﬂHbﬂHbﬂHb4Hb4HMHMHbﬂ”b4”b4“b4”b4”b4 ! 9 o
A A A A A A A A A A A A A A J o kel ;] | f,{ &l ;I Ry
\‘9@@@@@@@@@@@@@—49 fi
P=10.5 __‘ 15.0 o 12#0‘ 2-M5x0.8(R—Port) 2 12‘0‘ 2-M5x0.8(P—Port)
25.0 25.0
A(2) A(2)
3-PORT MANIFOLD BLOCK DIMENSION Y
= " 2 3 4 5 6 7 8 9 10 11 12 13 14
B 32.5 43.0 | 535 | 64.0 | 745 | 85.0 | 95.5 |106.0 | 116.5 | 127.0 | 137.5 | 148.0 | 158.5 P REG)
A 40.5 | 51.0 | 61.5 72.0 | 825 | 93.0 | 103.5 [114.0 |124.5 | 135.0 | 145.5 | 156.0 | 166.5 RE) PO




YS\QEO—DP—SD—** YS\éZO*DP*SC*CNW i

YSV20-DP-SM-+* YSV20-DP-SL-**

== Voltage Selection

ORDERING NO.

SPECIFICATION

SERIES YSV20
ITEM FUNCTION 3/2-N.C
Fluids Compressed Air & Inert Gases
Pressure(bar) 0~8.0
Orifice(mm ) P=81.1, R=615
Ambient & Fluid Temp. 5~60C (41 ~140°F)

Response Time(5bar)

20ms or Less

Max. Working Frequency

10c/sec

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button

Cail Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

AC:3.5VA(B0Hz) / DC:2.5W

Transition Capacity Graph

60

50 —

g 40 ——

= ——

j=y |

S 10— —

0
1 2 3 4 5 6 7 8
Pressure (bar)
The Material of Parts

m Pilot Parts : Glass Filled Nylon m |Lead Wire : AWG-no.24
m Spring : Stainless m |Lead Wire Packing : Viton
m Seals : NBR
m Armature : Stainless Steel
m |ndicator Cap : Polycarbonate

Plug Connector With Clip Blanking Plate (Material : STS304)

Ordering Code
YMF20 - BLK

Ordering Code
PG2-06 ( L : 600mm)
PG2-10 (L : 1,000mm)

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

J
[ [
P

YSV2:

| |
] ] ]
Solenoid Coail Type Connector Type Voltoge
0 0 0

Solenoid Valve

0 3/2 Normally Closed D Direct Push None None None
| Spring Return | Operated Non-Locking SC |3 Pin Connector Coil CN1 | Normal Connector A2 AC 220V
SG | Grommet /Flying Leads ~ CD1 | Cornnector With LED Al AC 110V
SD | Grommet /Flying Leads ~ CZ1 Cornnector With LED D4 DC 24v
With LED & Surge Suppressor D2 DC 12V

SL | 90 Degree Plug-in
Wire Assembly with LED

SM | 180 Degree Plug-in
Wire Assembly with LED




Direct Solenoid Actuated Valves

15mm Micro

Fai F=T0
B 7 I
INd|
1-8.2 | Manual Button
515 max10.0
9|
|
2-91.4 H
P
: E
y B
= <
o : =} V;
i 3 ‘ wir\\
3o | ) ‘ 3y |
i | | | i |
i W i
2-M3x0.5 Lﬂ.} 42.0
42.0 15.0 Normally Closed Type YSV20-DP-SC-CN1—#%
Normally Closed
2
A@) WA T
P(1) R(3) T3
- — ‘ PG2-06/PG2-10 W
YSV20-DP-SD—** |/~2-3.2 Hole(M3x0.5) ==
Normally Closed
2 3 as|
WA . P i
T3 9 9 i
PG2-06/PG2-10 3—01.8 Hole w
H 42.0
YSV20-DP-SM—*x
Normally Closed
— Sealing Area 2
§ AN,
2 o T3
o \ §
24 |
|
42.0 . o a o
Manifold Block Ordering Code Blanking Plate Ordering Code
YSV20-DP-SL—*
Normally Closed - YMF20-BLK
) YMF 20 2
- @
| 02 | 2-Station /
YMF20 3 Way Blanking Plate
04 | 4-Station (Material: STS304)
YMF20 MANIFOLD BLOCK e S
08 | 8-Station
- o 10 | 10-Station
(YSV20 Solenoid Valve Use) g 2 osmion Manifold Plate Manifold Gasket.
H _— (Material:STS304) (Material: NBR)
14 | 14-Station
22045 Holom | ‘ ‘ n
Qo
a T O ujuy e
o [ ofoofo ool ofelofelofe!efe! of ] 9
@%@%@%@%@#@@?@@d"@@‘®®?®®<P® i
} } T T T T T T
45 B=(16.0n+18.0) 45
A=(16.0n+27.0) 56.0 max10.0
of
& G1/8(P(1)-Port). EP &
i i
o !
< _ IFNF RL!‘T’V*
= @ 1
s @\ il
N Sl
Nn—M5xD.8(A(2)—-Port) P=18.0 25 5.9 13.2 ‘ N-G1,/8(R(3)—Port)
34.0
3-PORT MANIFOLD BLOCK DIMENSION n=STATION
e 2 4 6 8 10 12 14
8 | 50.0 | 820 | 114.0 | 146.0 | 178.0 | 210.0 242.0
A | 59.0 [ 910 [123.0 [ 155.0] 187.0 | 219.0 [ 251.0




YSV200. M5

R(3)PORT

A(2) PORT

YSV211-DP-SM1—*x YSV211-DP-SC1-CN1—*x

AN AN
31 31

P (1) PORT

A(2) PORT

YSV221-DP- YSV221-DP-SD1- YSV221-DP-SL1-#* YSV221-DP-SC1-CN1—*x
2 2 2
31 31 31 31

*x:\Voltage Selection (see page 80)

ORDERING NO.

Ysv2 1

J
[ [
Valve Series Function

| —

SPECIFICATION

SERIES YSV211 YSV221
R FUNCTION 3/2-N.C 3/2-N.O0
Fluids Compressed Air & Inert Gases
Pressure(bar) 0~8.0
Orifice(mm ) P=011, R=012 | P=012 R=01.1
Ambient & Fluid Temp. 5~60°C (41 ~140°F)

Response Time(5bar)

20ms or Less

Max. Working Frequency

8c/sec

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Cail Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

AC:3.5VA(60Hz) / DC:2.5W

60

Transition Capacity Graph

50
40

30

Qn (¢ /min)

20
10

3 4 5
Pressure (bar)

Valve Body : Aluminium

Pilot Plate :
Spring : Stainless
Seals @ NBR

The Material of Parts

Pilot Parts : Glass Filled Nylon
Zinc Pressure Die-Cast

m Armature : Stainless Steel
m Armature Seals : Viton

Plug Connector With Clip

i
N1

Ordering Code
PG2-06 ( L @ 600mm)
PG2-10 (L : 1.000mm)

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

|—I
0

YSV2:

| |
] ] ]
Port Size & Thread Pilot Source Manual Operator | Solenoid Coil Type i  Connector Type
P 0 0

Solenoid Valve

1 3/2 Normally Closed 1 M5x0.8 D Direct Push None None None
Spring Return 2 | 10-32 UNF Operated Non-Locking Override  SC1[3 Pin Connector Coil  CN1| Normal Connector A2 | AC 220V
2 3/2 Normally Open L | LeverLocking Override ~ SG1| Grommet/Flying Leads  CD1| Cornnector With LED Al [ AC 110V
Spring Return SD1| Grommet/Flying Leads ~ CZ1| Cornnector With LED A4 | AC 24V
— With LED & Surge Suppressor D4 | DC 24V
SL1|90 Degree Plug-in D2 | DC 12v
Wire Assembly with LED
SM1| 180 Degree Plug-in
Wire Assembly with LED




Direct Solenoid Actuated Valves

Port Thread

M5x0.8

s~ NC N.O
X P(1) | R(3)
Y A(2) A(2)
z R(3) | P(1)

YSV221-DP-SG1—**
Normally Open
2

AN

31

YSV221-DP-SD1—x
Normally Open

2

UANIEL

31

A=(18.0x(n—1))+20.8

2-93.5 Hole L1 4.0
60.0
o
=
g
gy
—— i
T
O
J | o
3 | 7
‘ !
7 BT
& o W= b
7 =N
F
2-M5x0.8 "X~ 16.0 “
310
60.0
YSV211-DP-SC1-CN1-**
Normally Closed
VAN
31
PG2-06/PG2-10
i
\ —
)
- |
3 I
‘ I
)
g FiE:
g J =
9 P
3
2-M5x0.8 "X" 16.0 <
1.0

YSV211-DP-SL1-**
Normally Closed
2

)

-
31

B=(18.0x(n—1))+8.0

M5x0.8 "Z™
g_\ fwl
{ B[
= =)
RS
- ‘
2-03.5 Hole 2T ] 145
34.3 400£10.0
4 N
(T §
| 4
\ :
o |
P | Manual Button
0 ‘ |
o =
A EIE_ o
7 Pl |
3
2-M5x0.8 X" 16.0 “
31.0
YSV211-DP-SG1—**
Normally Closed
YINANS
31
375 400£10.0
3
13
I
&
—
=
<
P
1) ‘
%
AT
7 |
3
2-M5x0.8 X" 16.0 “
31.0
YSV211-DP-SD1—x*
Normally Closed
VImANE
31
6.8
11
rzlyt
i

17.7
—

31.0

il

\n—M5xD 8"z

| max10.0

n—M5x0.8 "Y'
A, B = DIMENSIONS n = STATION
TEM—L 2 3 4 5 6 7 8 9 10
A 38.8 | 56.8 | 748 | 928 | 110.8 | 128.8 | 146.8 | 164.56 | 182.8
B 260 | 440 | 62.0 | 80.0 98.0 | 116.0 | 1340 | 152.0 | 170.0

S N

58.0

_max10.0

YSV221-DP-SL1-#*
Normally Open

2-M3x0.5

YSV221-DP-SC1-CN1-»*

Normally Open
2

AN

31

PG2-06/PG2—-10 —L

54.0

2,

o

2-M5x0.8 "X

31.0

39.5

YSV211-DP-SM1-#x
Normally Closed

YSV221-DP-SM1—*»
Normally Open

LINANSERAN|

54.0

2—-M5x0.8 "X"



YSV300. 1/8

SPECIFICATION

R(3) PORT SERIES YSV311 YSV321
R FUNCTION 3/2-N.C 3/2-N.O0
Fluids Compressed Air & Inert Gases
Pressure(bar) 0~8.0
Orifice(mn ) P=915 R=015 | P=015 R=015
Ambient & Fluid Temp. 5~60C (41 ~140°F)

Response Time(5bar)

20ms or Less

8c/sec

Not Required(Use 1SO VG324 )

YSV311-DP- YSV311-DL-SG2-#x YSV311-DP-SD2-x YSV311-DP-SC2-CN2—#*
imaNE imaN® imaNE imaNE Max. Working Frequency
31 31 31 31
Lubrication
P (1) PORT

YSV321-DL-SG2-**

*x:\Voltage Selection (see page 80)

ORDERING NO.

YSV321-DP-SD2-*

Manual Override

Push Button(Standard), Lever Lock(Option)

Cail Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

AC:3.5VA(B0Hz) / DC:2.5W

Transition Capacity Graph

120

100
80

60

40

Qn (I /min)

20

4 5 6 7 8
Pressure (bar)

m Valve Body : Aluminium
m Pilot Parts :
m Pilot Plate :
m Spring @ Stainless
m Seals : NBR

Glass Filled Nylon
Zinc Pressure Die-Cast

The Material of Parts

® Armature : Stainless Steel
® Armature Seals : Viton

YSV311-DP-SG2-#*
YSV311-DP-SD2-#*
YSV311-DP-SC2-CN2-#*

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

vova (41 14 - 01 8 - 52 - e - e

| | |
[ [ ] ] ]
Function Port Size & Thread Pilot Source Manual Operator | Solenoid Coil Type i Connector Type Voltage
P 0 0 0

YSV3: 1 3/2 Normally Closed 1 G1/8 D Direct Push Non-Locking None None None
o Spring Return 2 NPT 1/8 | Operated Override SC2| 3 Pin Connector Coil  CN2 | Normal Connector A2 | AC 220V
Salenoid Valve 2 | 3/2 Normally Open T | Lover Locking SG2| Grommet/Fiying Leads CD2 | Cornnector With LED AT | AC 110V
Spring Return Override SD2| Grommet/Flying Leads CZ2 | Cornnector With LED A4 | AC 24V
— - With LED & Surge Suppressor D4 | DC 24V
D2 | DC 12V




Direct Solenoid Actuated Valves Port Thread 1/8

M5x0.8 "Z"
2-94.5 Hole
—
N m} 0 = ! e[ NG N.O
| ﬁ*’g N L ] T [
|

Y A(2) | A2)
z R(3) | P(1)

400+10.0

Manual Button:

2-92.4

c1/8 "Y"

|
| E 2-M3x0.5 \
|

! =

70.5

M5x0.8 "Z"

: & F /
Nzl
A
>

2-¢4.5 Hole
S|
) N m g
g 2 B X
o178 1 23.0 13.5 ‘ ) - L\\J
41.5 ‘
2.5 21.5 50.0
YSV310-DP-SD2-** YSV320-DP-SD2—** 74.0
Normally Closed Normally Open
2 2
WIAN. UANIN. §
31 31 ses O 22,0
g
[TTTTT
400£10.0 ==
I . -
[TTRITT (T [T |
| = |
| p \ |
i ? Manual Eu((or\\ i i Manual Bu(mn\
o) ‘ o o ‘ o | g o
E ‘ G1/8 Y\ E ‘ IN G1/8 Y\
; o 2-M3x0.5 é 1 | h 2-M3x0.5 &
T F . I -
i 1 Py =S 1 Py
1 T ko = e
23.0 13.5 ‘ 23.0 13.5
ci/8 ></ 41.5 61/8 ></ 41.5
YSV310-DP-SG2-* YSV320-DP-SG2-*x YSV310-DP-SC2-CN2—** YSV320-DP-SC2-CN2—x*
Normally Closed Normally Open Normally Closed Normally Open
31 B 31 31
A=(24.8n+4.0)
6.5 B=(24.80—11.2)
il |
T
P JUPU U] U U] :
o8 ﬁ?ﬁsﬁ SR\ 3R [ 3R 3|R 3R 3[R 3R 3R
1Re 9)(e)|(e
==tt=t=T="=1 A o e Y Y s O A
il YY 7y
R LR A %) %)
o 9|
g E 74.0
g g
O n o0 Ord Ooren O0rnd [TTTTD
= == = =4 &4 =
[&LH[L@][El‘][‘ﬁ‘][‘m]JN‘/LLW‘/LLW‘/LLW‘/U\‘Vl \ i
olo olo olo @E o|o ‘
lolo|e|e ()]
cj e e O O G GV N i
ollolofolldllollollofolld — LI
¢@A$@A$@M} Aﬂ}@ﬁ} LAR AR Al LAl LA g p@ E
il s id i id id id id d id 1 i
ZLJ, [ I I I I ‘
n-G1/8 "Y' — N 2-c1/8 x"
13.5 P=24.8 41.5
A, B = DIMENSIONS n = STATION
TR0 2 3 4 5 6 7 8 g 0

A 53.6 78.4 103.2 | 128.0 | 152.8 | 177.6 202.4 | 227.2 252.0
B 38.4 63.2 88.0 | 112.8 137.6 | 162.4 | 187.2 | 212.0 236.8







MOCS serics

EMCS100
EMCS200
mEMCS400

MCS100
SF1000, SF2000
Solenoid Valve
MOUNTED

MCS200
SF2000
Solenoid Valve
MOUNTED

MCS400
SF4000
Solenoid Valve
MOUNTED



Wire Color | | Soienod
Black 01 | s-01
Brown 02 | s-02
Red 03] s-03
Orange 04 s-04
Yellow 05| s-05
Green 06 | S-06
Blue 07 | s-07
Purple 08 | S-08
Gray 09| s-09
White 10 | s-10
Pink 1] s-1
Light Green 2] s-12
Black/White 13| s-13
Brown/White 14| S-14
Red/White 15
Orange/White | 16
Green/White 17
Blue/White 18
Purple/White 19
Red/White 20
Orange/Black | 21
Yellow/Black 22 = }=
Green/Black 23 = }—
Gray/Black 24
Pink/Black 25] oM =-[COM}—==
D-Sub Connector Pin No.
I MF1500-10
)
Sol 1 (Black D @ Sol 14 (Brown/White)
Sol 2 (Brown) 2 . i
) ® Red/White)
Sol 3 (Red ©) ¢ )
) ©® Orange/White)
Sol 4 (Orange @ . !
) @ Green/White)
Sol 5 (Yellow) ® . )
) (€ Blue/White)
Sol 6 (Green) ® . ’
) @ Purple/White)
Sol 7 (Blue) @) .
) @ Red/Black)
Sol 8 (Purple) ® .
) @ Orange/Black)
Sol 9 (Gray; © .
ite) @ (Yellow/Black)
Sol 10 (White © & (elow Back
Sol 11 (Pink) D=4 reen/Blac
Sol 12 (Light Green) ©® % com
E)

Sol 13 (Black/White)

of

(24-Gray/Black)
(25-Pink/Black)

Terminal Box /
MCS100 -T14-D4 /

Terminal Box
MCS100 -T14-DA

94.0 3.0

o o

\_LH

24.0

2-M3x0.5
2-82.5 Hole \

[ o0 &0 oo o9 oo oo oo G o))
Y (s e s 0

Eo s el g

100.0 19.0 1.75
107.0 24.0
114.5

SF1101-IP-SM1—*x
SF1200-IP-SM1—**
SF1303-IP-SM1—*x

With Clip
PG2-01-D
PG2-02-D

Terminal Box
+ Manifold Block
Fixed Bolt

Single D-SUB v

Connector Cable

Ordering Code
MCS100 ~T14-#x

MCS100-SC-10
Terminal Box Plug Connector With Clip Single D-Sub Connector Cable IP40
17.0
fs_q‘ 35.0
Femdle ~ &§— —[——=

14

Ordering Code
MCS100-SC-1

Ordering Code
PG2-01-D (100mm)

0 (1m)

L=(Cable Length)

UNC NO.4-40

ORDERING NO.

wcst [0 [0 - Tid - b4
s HH-H-1

[ [ ]
D—Sub Connector Multipole Wireway Box

Voltage

MCS1:

Multi Connector
Solenoid Valve Mounted

0 Single Module

0 25 Pin D-Sub
Connector

T14 | 14 Station 0 None
D4 | DC 24V
D2 | DC 1V

Plug Connector



Multi Connector System Solenoid Valve Mounted

SF1000 Series Mounted

2n—M5x0.8
(AB—Port)
148.0
139.5(3—Position) e
o 131.5(Double) g (A—Port)
F —& [ &/ | I |
= Y Bl A% ) ]
uﬂ} = P YA g )
g S - _
6] =% 5 & =
Y 4 i T —u
Bl @ = & [
Y l& 5 T —1
Sl %l @ =2 SEs & i
i Y o [ ok =4 }
EH: R g ] 8% t
HE A = gle @ ;
3T wﬂ} R jf 7T 8 i
< @ ; % < ]
Pl m = 2 [
2 e i & 3 & o
i R i i i
X H X 5
u$ e)m ] L ,,,?&‘:L,,@, e
R A 5
=l ] 7 S
Xﬂ’ é;ﬂ =i rbx [ i
AR ’ =N
2 g ‘15—".‘ 4-94.5 Hole o 9 soo\f¥zimb3 Holel
45.5 @ 78.0
87.5
q . B
23 N
B Sat
| = . a2
DO | b=

T Sol 14
17.0 com
300
4-61/8

Sol 1 Sol 1
y % S0l 2 ?*‘ Y Sal 2
ol 2y T L i T

S[ Ps Sol 14 g — ol 14
[ com [ 200 com

/ 390 | X

42,0
6-G1/4 610 | 4-G1/4 —
(P,R1R2-Port) (P.R-Port) 1005 1,000

104.0 1,000 (P,R—Port) B9.5 1,000
6-G1/8
(P.R1.R2—Port)
n=STATION n=STATION
e 8 [0 ]2 ] 14 ] 8 [0 124
B |136.0]1680 2000|2320 B | 13601680 2000|2320
A |1440]176.0|208.0 2400 A [1490]181.0]2130 2450
SF2000 Series Mounted
2n—G1/8
(AB—Port)
166.0
162.0(3—Position) n=G1/8
o 150.5(Double) o (A—Port)
— 1 |
e i N ¥
B[] A ¥ ol Fllid
i oA o N
=S N [T—H i
Y [T —8 Y
i [ [T5H i
Y [T 8 MhHY
- i [[T—H | A
212 ALY [T =8 215 Y
i e g He R ¥
EHE ALY ; EE N
ik Q| ¥ i T i
h DY : h Y
e ! Fid
= Y 7 = "HY
2 FOTV TPl i
“ Al = o e
N dihid [T i
A~ BT -
A ¥ [T 5H = ¥
& $ ™
| hd
o g ‘ZU»U‘ 4-84.3 Hole o g |29~ N-2-045Hole
¢ & 510 @ 42.0
105.5 B9.0
o =
4 * * %
590 &5

119.5 1,000
n=STATION n=STATION
ol 8 [0 2] 14 ol 8 [0 2] 14
B |161.0]199.0[237.0 2750 B |161.0]199.0237.0 2750

A |173.0]211.0|249.0 | 287.0 A |173.0]211.0 | 249.0 | 287.0




Pin | Solenoid

Wire Color No.|  No.
Black 01 | s-01
Brown/White 14 | S-02
Brown 02 | S-03
Red/White 15 S-04
Red 03 | s-05
Orange/White | 16 | S-06
Orange 04 | s-07
Green/White 17 | S-08
Yellow 05 | $-09
Blue/White 18 S-10
Green 06 | S-11
Purple/White 19 | s-12
Blue 07 | s-13
Red/White 20 | S-14
Purple 08 | sS-15
Orange/Black | 21 | S-16
Gray 09 | 8-17
Yellow/Black 22| S-18
White 10 S-19
Green/Black 23 | S-20
Light Green 12 | s-21
Gray/Black 24| s-22
Pink/Black 25
Black/White 13 com
Pink 11

Single D-SUB
Connector Cable
MCS25-SC30

Single Module IP40

Coil Fix Plate

Double D-SUB
Connector—-Cable

MCS25-DC-10

SF2303-1P-SC1-D4-MSF200-JC

Blank Station Kit

MSF200-BLK \

MF2500-10

D - SUB Jump Module
MCS200-JM

Single D-SUB /

Connector Cable

Ordering Code

(Material : Zinc)

Ordering Code

ConneCTQ[__%oble 1P40
a2

Ordering Code

MCS25-SC-10 (1m)
MCS25-SC-30 (3m)
MCS25-SC-50 (5m)

MCS25-SC-10
MCS211-T10-D4
Ordering Code Ordering Code
MCS211-T10-D4 MCS200-CP
Double Module P40 D-Sub Jump Single D-Sub Double D-Sub Blank Station Kit Jump Connector
Module I1P40 Connector Cable IP40 (Material : Zinc) Kit IP40

Blanking Block

Manifold Gasket

Blanking Plate. %

Ordering Code

MCS25-DC-05 (0.5m) Ordering Code Ordering Code

MCS8221-T10-D4

MCS200-JM MCS25-SC-100 (10m)

MCS25-DC-10 (10m) MSF200-BLK MSF200-JC

ORDERING NO.

Mes2 (1) (1 - [To4 - D4
e .

[ [
0

| |
Multipole Wireway Box Voltage
0

0 None None None 0 None
MCS2: : : ‘
1 Single Module 1 25 Pin D-Sub TO4 4 Station D4 DC 24v
SF00-1/8-5Port 2| Doudle Modue Connector 06 | 6 Staton D2 | oo
Solenoid Valve Ass'y To8 8 Station
T10 10 Station
T12 12 Station
T14 14 Station




Multi Connector System SF2000 Sol V/V Mounted

MCS211-T10-D4 MCS221-T10-D4
Manifold Assembly Manifold Assembly
19.0 A=(19.0n+4.5) 25 19.0 A=(19.0n+4.5) 19.0_
1.5 P=19.0 o 1.5 P=19.0 ‘ o
® @ P =)
E DYV VoV Yo Vo Ve p E N A 0
g L ; ; s : L : ; 3 g : : . : : : : : 3
OO0 QOOD] |, PO DOOOOROD O |u
\zs—Pm D-sub Connector(Male) n—LED Lamp 250 | \—zsfpin D—sub Connector(Male) n—LED Lamp. ‘ 2‘%
3.0 C=(19.0n+21.0)
6. B=(19.0n+9.0) 6.0
ko oo A @mﬂ Blank Station Kit Ordering Code
MSF200-BLK MSF200—JC 26.0 MSF200-BLK
Blank Station Kit N Jump Connector’ 16.0 Blank Station Kit
4-94.5 Hole é,T—GP‘u/j) L@ | 1—‘9/(11;@4’“) (Material: Zinc)
- S NEELL T | g Bt
Rl Rl Bl B P ) Sl = +
d d s D1e] g8 N o e
g 9 N blal 4 & 2 2 - A
) e 14 F}c Dc B@é} i el
8 Ej ® ©
5o 884 b & .
\~ 25-Pin D—Sub Connector(Male) n—LED Lamp Jump Connector Cable Ordering Code
n=STATION MSF200-JC
TEM W 4 6 8 10 12 14 Jump Connector
A 80.5 1185 | 1565 | 1945 | 2325 | 2705
B 85.0 1230 | 1610 | 1990 | 237.0 | 2750
c 97.0 1350 | 1730 | 211.0 | 2490 | 287.0
D-Sub Connector Pin No.
an\
J
/\ Single D-Sub Connector Cable Ordering Code
Sol 1 (Black .
SZI 3 EB[?)(\;/\/T’)l) % @) Sol 2 (Brown/White) 0
Sol 5 (Red) o) (B Sol 4 (Red/White)
Sol 7 (Orange) > (©) Sol 6 (Orange/White)
Sol 9 (Yellow) & @ Sol 8 (Green/White) .
S0l 11 (Green) o @ Sol 10 (Blue/White) o9 .
Sol 13 (Blue) ! o) (©] Sol 12 (Purple/White) L
Sol 15 (Purple) & @ Sol 14 (Red/Black) v
Sol 17 (Gray) ® @ Sol 16 (Orange/Black) e voso |Gl Lenar)
Sol 19 (White) o ©2) Sol 18 (Yellow/Black)
Ground (Pink) ® @ Sol 20 (Green/Black) MCS25-5C-10 (1m )
Sol 21 (Light Green) @ Sol 22 (Gray/Black) MCS25-5C-30 (3m)
o) ight Green @ MCS25-SC-50 (5m )
COM 13y C MCS25-SC-100 ( 10m )
(13-Black/White)
(25-Pink/Black) — o . )
Coil Fix Plate Ordering Code Double D-Sub Connector Cable Ordering Code

35.0

Female o &

About 285

/Fema\e

L=(Cable Lengtr)

MC825-DC-5 ( 0.5m )
MCS200-CP MCS25-DC-10 ( 1 m)

YPC



Pin | Solenoid
Wire Color No. No.

Black 01| $-01
Brown/White 14| S-02
Brown 02| $-03
Red/White 15| S-04
Red 03| S-05
Orange/White | 16 | S-06
Orange 04| s-07
Green/White 17| S-08
Yellow 05| S-09
Blue/White 18| S-10
Green 06| S-11
Purple/White 19| s-12
Blue 07] s-13
Red/White 20| s-14
Purple 08| s-15
Orange/Black | 21| S-16
Gray 09| s-17
Yellow/Black | 22 | S-18
White 10| S-19
Green/Black 23| S-20
Light Green 12| s-21
Gray/Black 24| S-22
Pink/Black 25

Black/wnie | 18] °OM
Pink 11

Single D-SUB
Connector Cable
MCS25-SC-30

Single Module IP40

Coil Fix Plate

Blank Station Kit

MSF400-BLK  ~ »

MF4500-10

Single D-SUB /(

Connector Cable

Double D-SUB
Connector Cable
MCS25-DC-10

D - SUB Jump Module
MCS400-JM

Ordreing Code
MCS421-T10-D4

(Material : Zinc)

Ordering Code
MCS400-JM

Ordering Code
MCS25-SC-10 (1m)
MCS25-SC-30 (3m)
MCS25-SC-50 (5m)
MCS25-SC-100 (10m)

Ordering Code
MCS25-DC-05 (0.5m)
MCS25-DC-10 (1m)

Blanking Block

Blanking Plate % \B

Manifold Gasket

Ordering Code
MSF400-BLK

MCS25-SC-10
MCS411-T10-D4
Ordering Code Ordering Code
MCS411-T10-D4 MCS200-CP
Double Module IP40 D-Sub Jump Single D-Sub Double D-Sub Blank Station Kit Jump Connector
Module IP40 Conn%%tgg9 Cable IP40 Connector Cable IP40 (Material : Zinc) Kit IP4

Ordering Code
MSF400-JC

ORDERING NO.

MCS4

J
[
Function

1 -
I_\

[
D—Sub Connector Multipole Wireway Box Voltage
0 None 0 None 0 None 0 None
MCSH4: : : -
1 Single Module 1 25 Pin D-Sub TO4 4 Station D4 DC 24v
SFAOO-1/4-5Port 2| Doudle Modue Connector 06 | 6 Staton D2 | oo
Solenoid Valve Ass'y To8 8 Station
TI0 | 10 Station
T2 12 Station
T4 14 Station

c B




Multi Connector System SF4000 Sol V/V Mounted

MCS411-T10-D4 MCS421-T10-D4

Manifold Assermbly
19.0 A=(27.0n+5.0) 2.0 19.0 A=(27.0n+5.0) 19.0
149 P=27.0 140 P=27.0
wf

69.0

25-Pin D—sub Comector(Male) n-LED Lomp 25-Pin D—sub Connector(Male) n—LED Lamp

6.0 €=(27.5n+28.5)
6.0 B=(27.5n+16.5) 6.0

290 __P=27.0

MSF400-JC
Jump Connector

2n-G1/4
(2.4-Port)

MSF400-BLK
Blank Station Kit

e Blank Station Kit Ordering Code

27.0

6-G1/4
o /(1,3,57Pm)
MSF400-BLK
1.0
Blank Station Kit
] | o (Material: Zinc)
il

4-65.5 Hole

H T T e o = ]
d 4 B) DO ROD ! BRI ED 193], ° 33
9 & ] {}@ {)@ {}@ {}@ & {}@ & {}@ N E ; S| @I:% ¥ 9
. | +B +B +B +B +B) +B) g m@%
) E [WITW T[T [T} (¢ .
ek P T DT s
25-Pin D—sub Connector(Male) n—LED Lamp Jump connector Cable Ordering code
n=STATION MSF400-JC
TN n 4 6 8 10 12 14 Jump Connector
A 113.0 167.0 221.0 275.0 329.0 383.0
B 126.5 181.5 236.5 2915 346.5 401.5
C 138.5 193.5 2485 3035 358.5 4135
D-Sub Connector Pin No.

Sol 1

Black)

( ® ,
(@ Sol 2 (Brown/White)

gg: :53 ngeod\/)\m % 15 Sol 4 (Red/White)l
Sol 7 (Orange) 0) ® Sol 6 (Orange/White) 350
Sol 9 (Yellow) ® @ Sol 8 (Green/\/\/h_ite) I
Sol 11 (Green) ® ® Sol 10 (Blue/White) ) — ®,
Sol 13 (Blue) oH© Sol 12 (Purple/White) 32 =S L
Sol 15 (Purple) ® @ Sol 14 (Red/Black)
Sol 17 (Gray) ® @ Sol 16 (Orange/Black) — %
Sol 19 (White) D) @ Sol 18 (Yellow/Black) NG N4 C—(Gole Longi)
Ground (Pink) @) @ Sol 20 (Green/Black) MCS25-SC-10 ( 1m
Sol 21 (Light Green) ®® Sol 22 (Gray/Black) posts-se 01

com
(13-Black/White)
(25-Pink/Black)

)
)
MCS25-SC-50 ( 5m )
m

MCS25-SC~100 ( 10m )

Coil Fix Plate Ordering Code Double D-Sub Connector Cable Ordering Code

o (&

B /Fema\e

‘
About 98.5

L

-

P

T
L=(Cable Lengi)

MCS25-DC-5  (0.5m )
MCS25-DC-10 (1 m )

MCS400-CP







(FLEXIBLE) Series

s SF1000
Body wetn-15mm s SF2000
e %ﬁzz@ﬁg—mm e SF3000
s SF4000
s SFS5000
s SFG6000

SF3000

Body Width-23mm

Thread-1/8
SF4000
Body Width-26mm
Thread-1/4

SF5000
Body Width-32mm
Thread-3/8

SF6000
Body Width-36mm
Thread-1/2



SF1703-IP-SC1-CN1—x*
2

CIERN.

13
*x:Voltage Selection (see page 80)

ORDERING NO.

SF1III HE-lH-I-B

SFP1303

%

‘?

SFP16

sFR17

‘7

SPECIFICATION

SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION | 5, 3 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Section Area(mf)-5bar 36 3.0
Ambient & Fluid Temp. 5~60C (41 ~140°F)

Response Time(5bar)

25ms or Less 35ms or Less

Max. Working Frequency

5c/sec 3c/sec

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC:3.5VA(60Hz) / DC:2.5W

Transition Capacity Graph

Spring : Stainless

500
= 400
£ | —
£ 300 ==
Z 1T
- 200 /4_.._--/-' 5/2,3/2 [
<3 =T
100 — - —-—5/3 L
[ T [ ]
0 1 2 3 4 5 6 7 9 10
Pressure (bar)
The Material of Parts
Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
Spool : Aluminium ® Armature : Stainless Steel
Seals : NBR ® Armature Seals : Viton

Cap : Zinc Pressure Die-Cast

Plug Connector With Clip

i
Nl
Ordering Code

PG2-06 ( L : 600mm)
PG2-10 ( L : 1.000mm)

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

Port Size &Thread i RefumMethod [ Int/Ext. Pilot ManuoIOperaTor Solenoid Coil Type Connector Type VoI'rqge

SF1:

Solenoid Valve

Prieumatic Valve 3/2 Normally Closed

3/2 Normally Open
YPC

1
2
3
4
SFP1: 5 | 5/3 Pressure Center
6 |
7_

5/2 Single 0 | M5%0.8 0 | None | Internal Pilot None None None None

5/2 Double | 10-32 UNF 1 | Air+Spring Push SCI 3 Pin Connector Coil CNI Normal Connector A2 AC 220v
5/3 Closed Center 2 | Ar Non-Locking 561 | Grommet/Flying Leads CD1| Cornector With LED ~ A1 [ AC 110V
5/3 Open Center Z Spring L | Lever Locking SD1| Grommet/Flying Leads With LED CZ1 | Cornnector With LED A4 [ AC 24V

SL

90 Degree Plug-in Wire Assembly With LED

& Surge Suppressor D4 | DC 24V

SM

180 Degree Plug-in Wire Assembly With LED D2 | DC 12V




Solenoid & Pilot Actuated Spool Valves Port Thread M5 X 0.8

11.0,19.0

SPort 2Position Solenoid Valve | Vonual Button 5Port 2Position Pneumatic Valve
T &7
Single Solenoid I s s ‘} )@(m d{ ﬁ
SF1101-IP-SC1-CN1-x : : R Single Pneumatic
2-M5x0.8 2 4
315 (2‘4*Pxori) 90.5 max10.0 imm <}
315
miS|
HE
=
22 f
2
e, J[T ]
2[ l15.5.10.0 2-92.8 Hole T
86.0 Double Pneumatic o M 1 }»
3l
SFP1200 8 H ’»
[P 5 I — = 2 o ol
[5% LT =Hl=| ,b,m,q, 60.0
10.0 ‘ 21.0 3—-M5x0.8 315
(1.3,5—-Port)
Double Solenoid i o r’,
SF1200-1P-SC1-CN1 =+ max10.0 140.0 max10.0 D
21 s [ & ¢ U
= NS 68.0(3—Position)
<l
3
- !
‘ ‘ D ‘ ‘ F BPort 3Position Pneumatic Valve
o @
5Port 3Position Solenoid Valve 1310 Closed Center Exhaust Center Pressure Center

SFP1303 5 4 SFP1403 2 4 SFP1503 2 4
Closed Center )
2 4 315 315 315

315 = E |
Exhaust Center ‘ ‘ D ‘ ‘ F )
SF1403-IP-SM1-#x P 2
2 4 e @ 3Port 2Position Pneumatic Valve

139.5(3—Position)

315
Pressure Center

SF1503-I1P-SM1—#x Normally Closed
2 4

BT K i
2
. 2-92.8 Hols
315 o M"'Ej" (Mun?fn\d H:\:) M'Q' o o FARES
o . 13 S H
- _ T
8Port 2Position Solenoid Valve & J —ox oIS ] Normally Open o
Normally Closed SFP1701 s
ormally Close: 165 2
M5x0.8(2—Port) 9|
SF1601-I1P-SD1-++ E I!“ .
% 208§ bl <t
m (Lever Locking Type) E 13
13 Manual Button
Normally Open . I
SF1701-IP-SD1-+x N = TE
Z 99 o o I g
1 I\ 1983 T A Manifold Block Ordering Code Blanking Plate Ordering Code
13 T i
2 17.5 ‘E 5| 2528 Hole MF1500-BLK
78.0 -
MF 1500 2 Blanking Plate
LAl (Material : SCP1)
LR T —!
o (o Manifold Ga:ﬁkel
125 11.0 2-M5x0.8(1,3—Port) (Material : NBR)

MF1500 | 5Way 02 [ 2-Station
MF1300 [ 3 Way 04 | 4-station
06 6-Station

MF1000 MANIFOLD BLOCK o | st

10 10-Station

(SF1000 Solenoid & Pneumatic Valve Use) ——— @MWM Gasket.

(Material : NBR)

MF1500-BLK

Blanking Plate
(Material : SCP1)

5-Port 3-Port
Manifold Block MF1500-4 Manifold Block MF1300-4
[T HHP}
P==w=sy
MF1500-BLK =] e
Blanking Plate Y| MF1300-BLK
Manifold Gasket L !
5 Blanking Plate pE
MF1500-02 | - Manifold Gasket ‘ ‘
Manifold Block <l 2 MF1300-02
o ey O
Q[ & e‘g edg e‘ge} § :‘f Manifold Block l‘ “
5 b
k. e 3| 5 o
/ Rei & [Bu & [Bf | 5| § | Ja-ci/s o
4-84.2 Hole- Wl o< o =
160 e g R 3 D' B
Sid ] 2l Bl |
2o 2-04.5 oo |
- 185 P=16.0 7.0
e dals 65 B8=[16.0n+8.0] 55
4.0 8=[16.0n+8.0] 40 A=[16.0n+21.0]
A=[16.0n+16.0]
SPORT MANIFOLD BLOCK DIMENSION n=STATION 3PORT MANIFOLD BLOCK DIMENSION n=STATION
u ]
~ 2 4 6 8 10 =~ 2 4 6 8 0
8 | 40.0| 72.0 | 1040 | 136.0 | 168.0 8 | 40.0 | 72.0 | 1040 | 136.0 | 168.0
A | 480 800 [112.0 | 1440 [ 176.0 A | 530 85.0 |117.0 | 1490 | 181.0




SF2000. 1/8

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION | 5, 3 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Section Area(md)-5bar 126 9.0
Ambient & Fluid Temp. 5~60C (41 ~140°F)

Response Time(5bar)

25ms or Less 35ms or Less

Max. Working Frequency

5c/sec 3c/sec

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Cail Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC:3.5VA(60Hz) / DC:2.5W

Transition Capacity Graph

1500
/
SFP2303 = 1200 |
1 £ 1000 = 5
A S = 750 ] T
2 & 500 — S H
) S —
!I g 250 T —=—"T=#" m
o T 11
SFP2601 1 2 3 4 5 6 7 9 10
m Pressure (bar)
13 -
=)
“Il‘ The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
SFP2703 . - . )
2 ® Spool : Aluminium ® Armature : Stainless Steel
N@E"}' m Seals © NBR m Armature Seals : Viton
m Spring @ Stainless
m Cap : Zinc Pressure Die-Cast

Plug Connector With Clip

el
Ordering Code

PG2-06 ( L : 600mm)
PG2-10 ( L : 1,000mm)

SF2703-IP-SC1-CN1-#x
2

VRN

13

*x:\Voltage Selection (see page 80)
% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

ORDERING NO.

SFZIII HE-lH-I-E

Port Size &Thread i RefumMethod [ Int/Ext. Pilot ManuaIOperaTor Solenoid Coil Type Connector Type VoI'rqge

SFO 1 | 5/2 Singe 0 | G1/8 0 | None | Internal Pilot None None None None
! 2 | 5/2 Double | NPT 1/8 1 Air +Spring Push SCI 3 Pin Connector Coil CNI Normal Connector A2 AC 220V
Solenoid Vaive 3 | 5/3 Closed Center 2 | Ar Non-Locking  sG1| Grommet/Flying Leads CD1| Cornnector With LED ~ A1 [ AC 110V
4_ 5/3 Open Center 3_ Spring L | Lever Locking SD1| Grommet/Flying Leads With LED CZ1 | Cornnector With LED ~ A4 | AC 24V
SFP2 : 5_ 5/3 Pressure Center _ SL1| 90 Degree Plug-in Wire Assembly With LED & Surge Suppressor H DC 24v
Preumatic Vave "6 | 3/2 Normally Closed M| 180 Degree Plug-in Wire Assembly With LED D2 | DC T2v
7 | 3/2 Normally Open -




Solenoid & Pilot Actuated Spool Valves Port Thread 1/8

SPort 2Position Solenoid Valve fLg—ss0 ‘ Lot 5Port 2Position Pneumatic Valve
anifold Hole
Single Solenoid g] Bl iE ol Single Pneumatic
SF2101-IP-SC1-CN1—x 4 A HaW | SFP2101
2 4 2 4
375 108.0 max10.0 315 JJ—
Manual Button
mi=| 765
Mol 350 IS]
\ \ .
\*\ T E‘
3
q
/ 104.0 Double Pneumatic T
27933 Hole SFP2200 A ¢ j—}‘
FEImIET 2 4 g 1 A
B A (RREE I
315 925
153 27.0 3-G1/8 (1,3,5-Port)
o
& ]k
Double Solenoid max10.0 159.0 max10.0 D J_}—
SF2200-IP-SC1-CN1—#
=i niE| 101.5(3—Position)
=1 RIS|
315
~
= 4
+ + b
SPort 3Position Solenoid Valve . i
150.5 SPort 3Position Pneumatic Valve
Closed Center
SF2803-10 -SM1 == Closed Center Exhaust Center Pressure Center
161.0(3—Position) SFP2303 SFP2403 SFP2503
315 ‘ 2 4 2 4 2 4
SF2403-IP-SM1—x o e 5 < s 37 < s ER <
s 4 & 9
D E H
315
Pressure Center 162.0(3—Position)
SF2503-IP-SM1{—+x .. -
2 4 3Port 2Position Pneumatic Valve T oy
AVIRIIA e
R Normally Closed MSx0.8
SFP2601 49,0
2 _
10.5 235 2-83.3 Hole - + 4
‘ (Manifold Zo\e) %;‘\JE 4 g D
3Port 2Position Solenoid Valve ElE ; ; W} L. g[ Normally Open —J—u Manual Button
B I il =
Normally Closed srperon 3\ £as
SF2601-IP-SD1-+* 250 Gt /8(2-Port) M _ 0 '
: . Llare A
m (Lever Locking, E
X Manuol Butto g 155|145
E
Normally Open i 2-83.5 Hole N

SF2701-IP-SD1-**
2

s [l _F Manifold Block Ordering Code Blanking Plate Ordering Code
o e 9.0 MF2500-BLK
I W m— - e
Blanking Plate.

LV ] B (Material : SCP1)

15.5|14.5 2-G1/8(1,3-Port) % Manifold Gasket.

(Material : MBR)

MF2500 | 5Way 02 [ 2-Station
MF2300 | 3 Way 04 | 4-station
06 | 6-Staton res0oBL

MF2000 MANIFOLD BLOCK o | oo Q)

10 10-Station (Material : SCP1)

(SF2000 Solenoid & Pneumatic Valve Use) - T

(Material : NBR)

5-Port 3-Port
Manifold Block MF2500-4 Manifold Block MF2300-4
‘ B1.7
!FZfOOF"E‘?LK MF2300-BLK
lanking Plate Blanking Plate e
Manifold Gasket D Manifold Gasket
MF2500-02 e = e
Maniold Block JL B - o 1MF2300-02
T 5 E Manifold Block
BBk 5| 2 2
el [T le| 3
E gl o
Ll | OOl Dls| 5|2 \ E
AR RN | | :
4-04.51 c\e/ = T e s R B ]
200 ‘ 1o J
=T 150 [ &
26.0 r’r T
: N 1.0
& 555 @ P=19.0 | n.
B=[19.0n+9.0] 6.0 25.0
6.0 B0 6.0 A=[19.01+21.0] 54.5
A=[19.0n+21.0]
SPORT MANIFOLD BLOCK DIMENSION n=STATION 3PORT MANIFOLD BLOCK DIMENSION n=STATION
e 4 6 8 10 e e 4 6 8 10
B | 47.0 | 850 | 123.0 | 161.0 | 199.0 8 | 47.0 | 850 |123.0 | 161.0 | 199.0
A 59.0 | 97.0 [ 135.0 | 173.0 | 211.0 A 59.0 | 97.0 | 135.0 [ 173.0 | 211.0




SF3000. 1/8

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Section Area(mf)-5bar 135 11.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
Response Time(5bar) 25ms or Less 35ms or Less
Max. Working Frequency 5c/sec 3c/sec
Lubrication Not Required(Use 1SO VG324 )
Manual Override Push Button(Standard), Lever Lock(Option)
Coil Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage AC:20% or Less / DC:10% or Less
Power Consumption Holding-AC :5.5VA(60Hz) / DC:2.5W
Transition Capacity Graph
1500 =
1250 - T
S 1000 e T
£ — T |
= 750 = i
pr T - i
Z 500 [ b = { —5/2
S 950 b s | ‘ — o 5/3
) TP
1 2 3 4 5 6 7 8 9 10
Pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
® Spool : Aluminium ® Armature : Stainless Steel
m Seals : NBR ® Armature Seals : Viton
m Spring @ Stainless
m Cap : Zinc Pressure Die-Cast

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

*x:\oltage Selection (see page 80)

ORDERING NO.

| | | | |
| ] ] ] ] ]
Valve Series Port Size & Thread Return Method Int/Ext. Pilot Manual Operator - | Solenoid Coil Type f Connector Type

SF3 1 | 5/2 Single 0 | G1/8 0 | None | | Internal Pilot 0 | None 0 | None 0 | None 0 | None
! 2 | 5/2 Double 1 | NPT 1/8 1 | Air+Spring P | Push SC2| 3 Pin Connector Coil CN2[ Normal Connector A2 | AC 220V
Solenoi Valve 3 | 5/3 Closed Center 2 |Ar Non-Looking SG2| Grommet/Flying D2 Cormector With LED AT | AC 110V
"4 |5/3 Open Center "3 | Spring "L | Lever Locking Leads Cz2 | Comnector With LED A4 [ AC 24V
SFP3: "5 | 5/3 Pressure Center - sD2| Grommet/Flying & Surge Suppressor D4 | DC 24V
Preumatic Valve —_— Leads With LED oz (oo v




Solenoid & Pilot Actuated Spool Valves

Port Thread 1/8

BPort 2Pasition Solenoid Valve 170,240 2033 Holo

‘ (Manifold Hole)

Single Solenoid o o &
5 €]
SF3101-IP-SD2-#+ Y %”}E R l
2 4
s\ L molio] \, pzermy 3
3715 g
(Lever Locking) §
Manual Button JJ,lL
= 'A
I 1 1 O O Y -
3 gl ™|
¥ g N
R
o
~ 21.5 Lﬂ‘ 2-84.3 Hole
15.0
-3-G1/8(1,3,5—Port)
5
]
AN A ]
1 N qm‘
14.0 30.0
118.5 max10.0
[T
SF3101-1P-8C2-CN2—** T g
ANIIFAR i
315 < ¢
15.0

—5
e

Double Solenoid

SF3200-1P—SC2-CN2—**
a1

mu‘x‘\T.D 179.5 my

o
318 ig» g
+ 4
| 172.0

BPort 3Position Solenoid Valve
Closed Center
SF3303-IP-SC2-CN2-#*

2 4

mod0.0 193.0(3—Position) \—_mox10.0

315 ‘ ‘
Exhaust Center
SF3403-1P-8C2-CN2-**
2 4

315

<H,7,

<+ ¢

Pressure Center

SF3503-IP-SC2-CN2—*
2 4 185.0(3—Position)

o

315

MF3000 MANIFOLD BLOCK

(SF3000 Solenoid & Pneumatic Valve Use)

5-Port

Manifold Block

5Port 2Position Pneumatic Valve

Single Pneumatic
SFP3101

2 4
CAVIINARS
315

Double Pneumatic
SFP3200

2 4
SMNIITASS
315

5Port 3Position Pneumatic Valve

Closed Center Exhaust Center
SFP3303 SFP3403

2 4 2 4
SO O
375 315

Manifold Block Ordering Code

23.0

£

34.0

340

— ]

\m/s

340

I

& &

106.5(3-Position)

Pressure Center

SFP3503

2 4
WIET
315

Blanking Plate Ordering Code

MF3500 - 2

,_I

MF3500 | 5Way 02 [ 2-Station

04 4-Station
06 6-Station
08 8-Station

10 10-Station

MF3500-BLK

Blanking Plate.
(Material: SCP1)

Manifold Gasket
(Material: NBR)

A
/\% MF3500-BLK
Blanking Plate
S\, Manifold Gasket
=

MF3500-02
Manifold Block

prny ]
%% Ei\ \ tp
77774[]_‘ |re-ci/e
=N 7 3 Wt g
e | poBo el 12 okl {4
*"’L O Do Ddv| 7 3 SdRE
Bd - SEIIE 3k
= |
P=24.0 \ | 1.0
16.0 |
26.0
%T/\T 61.0
&
B=[24.0n+7.5] 6.0
A=[24.0n+19.5] 5PORT MANIFOLD BLOCK DIMENSION ~ -s7aTiON
e 6 8 10
B 151.5 [ 199.5 | 247.5
A 163.5 | 211.5 | 259.5




SF4000.

SFP4703
2

UIFENEE

SF;&703*IP*SC2*CN2***

M [N

13

*x:\Voltage Selection (see page 80)

ORDERING NO.

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION | 5, 3 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Section Area(mf)-5bar 19.0 11.5
Ambient & Fluid Temp. 5~60C (41 ~140°F)

Response Time(5bar)

25ms or Less 35ms or Less

Max. Working Frequency

5c/sec 3c/sec

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC :5.5VA(60Hz) / DC:2.5W

Transition Capacity Graph
2000
: -
= 1600 : — /,(,/I—
£ 1200 = — | -
o e L
(o4 400 ’{,f’ ‘ e 52,372]
I - — e —
0 l ‘_r 5/3
1 2 3 4 5 6 7 8 9 10
Pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
® Spool : Aluminium ® Armature : Stainless Steel
m Seals : NBR ® Armature Seals : Viton
m Spring @ Stainless
m Cap : Zinc Pressure Die-Cast

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

«HEN-HE- -

| | |
| | |
PotSze&Thead | RetumMethod | Int/Ext. Piot | Manual Operctor

oN2 - A2
——

Valve Series Connector Type
SF4 1 [ 5/2 Singe 0 [ci/ 0 [ None I [ internal Piot 0 [ None 0 [ None 0 [None 0 [None
' 2 | 5/2 Double 1 | NPT 1/4 1 | Air+Spring P | Push SC2| 3 Pin Connector Coil CN2[ Normal Connector A2 | AC 220V
Solenoid Vatve 3 | 5/3 Closed Center 2 |Ar Non-Locking G2 | Grommet/Flying 02| Cormnector With LED A1 | AC 110V
"4 |5/3 Open Center "3 | Spring "L [ Lever Locking Leads 22| Cornnector With LED A4 | AC 24V
SFP4.: 5| 5/3 Pressure Center _ 02| Grommet/Fiying & Surge Suppressor D4 | DC 24V
Pneumatic Valve 6 | 3/2 Normally Closed Leads With LED D2 | DC 12V
7| 3/2 Normally Open - _




Solenoid & Pilot Actuated Spool Valves Port Thread 1/4

BPort 2Position Solenoid Valve 280 ma‘ 2(’;:"‘5'0?:0‘9) BPort 2Position Pneumatic Valve
. 4 — N
Single Solenoid o o 1] N AP Single Preumatics 9 AN o
SF4101-IP-SC2-CN2-+x 8§ Iz . SFP4101 | i \;J@ AN 8
2 4 ey [\ 54 | Rk 3
2.3.1.230 3-61/4(1,2,4-Port) M,Q 785 ci/8
315 1265 Max10.0 SRR =
— Jd o _[]]
e B [
I oo ||
H s }ﬁ s I 840
M N &
1411 i 289H
1T « R
' Lz00]
230 | 200 245 Hol T
22 | ] N rl
E i
\ Double Pneumatic & b L
a SFP4200 —
T 5 4 102.0
150] 350 2-G1/8(3,5-Port) 7%7@@747 —
maxio.0 187.0 max10.0 315 [T i ]
Double Solenoid = T Hy
Smfoaﬂpihmi” B i 115.0(3-Position)
T T =] g
315
i 0 i
AP —
BPort 3Position Pneumatic Valve
1795
. o Closed Center Exhaust Center Pressure Center
5SPort 3Position Solenoid Valve SFP4303 SFP4403 SFP4503

24 2 4 2 4
315 315 315

SF4303-1P-SC2-CN2—**
2 4

AL LK

315

i
m

Exhaust Center - K . .
SF4403-1P-SCo-CN2-e i e 3Port 2Position Pneumatic Valve 7_!—@?]_[
e E D g
375 Normally Closed ij_@_u—
Pressure Center 192.5(3—Position) SFPAB01 66.0 \ o/
SF4503-IP-SC2-CN2—+
2 % - =)
AT/ AL IR
315 Normally Open B
sepse, frmoi Serro U []]
- _ T
3Port 2Position Solenoid Valve 4 LI SINRNES
g g P Lr—/ | © [
Normally Closed e
SF4601-IP-SD2-#* 285 G1/4(2—Port) o
2 E
(Lever Locking) |
13 Manual Button %
Normally Open 27645 Hole 115300 i [
SF4701-1P-SD2-#x LL — 1
m i = & i Manifold Block Ordering Code Blanking Plate Ordering Code
2 o )
I 99 9 [l E
13 " e g U MF4500-BLK
00 \ MF4500 - 2
Blanking Plate
5 o ‘ L‘ (Material: SCP1)
o of ,—I
4T ABE %
e 4 Manifold Gasket
17.5 | 18.0. \61/4(1,3—%“) (Material: NBR)

MF4500 [ 5 Way 02 [ 2-station
MF4300 [ 3Way 04 [ 4-Station
06 6-Station

MF4000 MANIFOLD BLOCK e

(SF4000 Solenoid & Pneumatic Valve Use) T

Blanking Plate
(Material: SCP1)

Manifold Gasket.
(Material: NBR)

5-Port 3-Port
Manifold Block MF4500-4 Manifold Block MF4300-4

z@gvo

"¢ MFas00-8LK £
Blanking Plate

P
h T

MF4300-BLK
Blanking Plate

S Manifold Gasket 5-G1/4
yee/ Manifold Gasket
MF4500-02 { 7 3| 2 %
Manifold Block & <8 1-d @ 5 £ I MF4300-02
Q*? b *{} x{} x{} @ 3 E C o o Manifold Block
3 I I N N = ’ ER: 5 o
> (A ROARG ARSI P 3
/I s T-8] Tem || 2| & it =
W sns :
4-85.5 Hole T
29,0 T 1.0
P=27.
| 16.5 |
T/ P=27.0
isad 8=[27.0n+12.0] 55
6.0, B8=[27.50+16.5] 60 A=[27.0n+23.0]
A=[27.5n+28.5]

NIFOLD BLOCK DIMENSION  -s7aTion
2 4 6 8 10
66.0 | 120.0 [ 174.0 [ 228.0 | 282.0
77.0 [ 131.0 | 185.0 [ 239.0 | 293.0

5PORT MANIFOLD BLOCK DIMENSION  -s7aTion
IE 4 6 8 10

8 71.5|126.5 [ 181.5 | 236.5 | 291.5

A | 8351385 [ 193.5 [ 2485 | 303.5




SF5000. 3/8

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5, 3 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Section Area(mf)-5bar 36.0 30.0
Ambient & Fluid Temp. 5~60°C (41 ~140°F)

101 -IP_SD2—rs Response Time(5bar) 30ms or Less 40ms or Less
Max. Working Frequency 5c/sec 3c/sec
Lubrication Not Required(Use 1SO VG324 )
Manual Override Push Button(Standard), Lever Lock(Option)
Coil Insulation Class F-Class or Equivalent

SFB101-1L-8CP-CNa—sxx Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage AC:20% or Less / DC:10% or Less
Power Consumption Holding-AC :5.5VA(60Hz) / DC:2.5W

Transition Capacity Graph
4000
3500
= 3000 ]
£ 2500 = = “"
= 2000 e
~ 1500 s e P |
& 1000 e = T —_—s2,32 | |
500 i | | m—mas —5/3 L
o \ 1 \ I ———
1 2 3 4 5 6 7 8 9 10
Pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
® Spool : Aluminium ® Armature : Stainless Steel
m Seals : NBR ® Armature Seals : Viton
m Spring @ Stainless
m Cap : Zinc Pressure Die-Cast

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

*x:\Voltage Selection (see page 80)

ORDERING NO.

SFSIII EE-IN-I-E

|
|
Port Size & Thread Retumn Method Int/Ext. Pilot Manual Operator - [ Solenoid Coil Type § Connector Type

SF5 1 |5/2 Singe 0 | G 3/8 0 | None | Internal Pilot 0 | None None None None
! 2 | 5/2 Double | NPT 3/8 1 | Air+Spring P | Push Non-Locking SCZ 3 Pin Connector Coil CN2 Normal Connector A2 AC 220V
Solenold Valve 3 | 5/3 Closed Center 2 | Ar L | Lever Locking SG2| Grommet/Flying CD2| Cornnector With LED A1 [ AC 110V
"4 | 5/3 Open Center "3 | spring _ Leads 22| Cormnector With LED A4 | AC 24V
SFPS: "5 | 5/3 Pressure Center _ "s02| Grommet/Fiying & Surge Suppressor 4 [ DC 24V
Preumatic Valve 6| 32 Normally Closed Leads With LED D2 [DC 12V
7 | 3/2 Normally Open _ -




Solenoid & Pilot Actuated Spool Valves Port Thread 3/8

SPort 2Position Solenoid Valve 260 440 - 4.5 Hole SPort 2Position Pneumatic Valve
| / anifold Hole) o 8 m /ﬁ@ 7
SRigtteSBudeniid 5 g IR: Single Pneumatic o NV U H: q
SEB5 00 HP-STRREBIR+++ 99 d [ JhH SFP5101 & A %
s RN T : 2 4 106.3 G1/8
& aNiivAn] o
3565 340 289 2-G3/8(2,4~Port) 315
153.5 — max10.0 ol |
— 9 B
31 045 Hole. ] E LLlg &
T ¢ i ] o 112.0
‘ }W N R & ﬁ\}: RT
3 2 2 ) M
NIE - ¥ 3\4’/ ‘\JJ E&% H—’
ot ﬁ
27.0 o &
1500 Double Pneumatic . ‘
= ﬁ{ - SFP5200 E
D SNITARY lsre
3 1 B 315 1285

455

- ﬂ i
m‘gxm‘.o 213.0 m‘uxw‘vo $ ‘
CoobideSBilendid E [ 7 E

SEBER0GP-SB22 ABIg2+++

mﬂiﬁjﬂﬂ@m 1 S E"‘:LL 5 142.5(3Pasition)
il q
36D ‘
5Port 3Position Solenoid Valve Uy - .
Cissecdzenter 2050 5Port 3Position Pneumatic Valve
SFE}SOS?‘F;SAC%CN%M Closed Center Exhaust Center Pressure Center

SFP5303 , 4 SFP5403 , 4 SH’befﬁz 4

%Ej Fﬁg AN INIVA S AN IR 1174 S AN 1174

Exhaust Center
SF5403-1P-SC2-CN2—**
2 4

3Port 2Position Pneumatic Valve

1]
L

315
Pressure Center R &
SF5503-1P-SC2-CN2-*» Ulg o E Jan) E
2 4
219.5(3—position) Sinale Preumati " @ > 3%
313 SFP5601 B3 am
2 =
Py - 23.0 30.5 2- 94.5 Hole M— _
3Port 2Position Solenoid Valve |/ eniroa rte) au < 9 ¢ 9
& E B
Normally Closed o 9 E L/;‘
SF5601-IP-SD2-++ kR B s
i = .
38.0 63/8(2—Port) % N% d
13 (Lever Locking) g N
Normally Closed Manual Button | e %G
SF5701-IP-SD2-#+ 2-04.5 Hole I
2 4
CIMAN> — %Ljﬁﬂ
N ER- H : | p
3 2 n s 0 .
A m;f N Manifold Block Ordering Code Blanking Plate Ordering Code
2 220 MF5500-BLK
131.0
NC-Ey R Blanking Plate.
; i MF5500 - 2 O e,
3 e ‘i" ,—I % Manifold Gasket.
(Material: NBR)
230 | 305 2-G3/8(1,3-Part)

MF5500 [ 5 Way 02 | 2-Station
MF5300 | 3 Way 04 | a-Station FERT=EL

MF5000 MANIFOLD BLOCK o | s

(SF5000 Solenoid & Pneumatic Valve Use) 10 [ 1ooaton . vaniod saste

(Material: NBR)

Blanking Plate.
(Material: SCP1)

5-Port 3-Port
Manifold Block MF5500-4 Manifold Block MF5300-4

103.0 “4
MF5500-BLK MF5300-BLK
&

g
Blanking Plate g [1] Blanking Plate
@ Manifold Gasket
Manifold Gasket
et S
MF5500-02 | W o MF5300-02
Manifold Block B H - 5 o a Manifold Block |
®, ® ®, @ g = ol
I 5| 8 &
A AR 45 4 b
g =
DD D e 5| F $10 i
ERENCHIEE B ==
ot @ o )
& i 4
l50.0_| P=33.0 N bsso
® |25
| 185 B=[33.0n+14.0] 6.5 30.0
. 30.0 A=[33.0n+27.0] 265
&

B=[33.0n+14.0] 65

A=[33.0n+27.0]

SPORT MANIFOLD BLOCK DIMENSION _-s7aTio1

= 2 [ 4] s 8 [ 10
B 80.0 [ 146.0 | 212.0 | 278.0 | 344.0
A | 9301590 [ 2250 | 2910 | 3570

‘3PORT MANIFOLD BLOCK DIMENSION  n-s7aTioN
e 4 6 8 10
8 80.0 | 146.0 | 212.0 | 278.0 | 344.0

A | 93.0[159.0 [225.0 [ 291.0 [ 357.0




SF6000. 1/2

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Section Area(mf)-5bar 65.0 50.0
Ambient & Fluid Temp. 5~60°C (41~140°F)

Response Time(5bar) 30ms or Less 40ms or Less

2c/sec 1c/sec
Not Required(Use I1SO VG323 )

Push Button(Standard), Lever Lock(Option)

Max. Working Frequency

Lubrication

Manual Override

Coil Insulation Class F-Class or Equivalent

+10% of Rated Voltage

Permissible Voltage Variation
Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less
Holding-AC:5.5VA(60Hz) / DC:2.5W

Power Consumption

Transition Capacity Graph
7000 ‘
6000
S 5000 ,rj//./, :
E 4000 T = T
~ L] b o |
— 3000 I - I I I
S 2000 e et a L
[ -
1000 = e —53
0
1 2 3 4 5 6 7 8 9 10
] Pressure (bar)
SFP6303
2 4
i 315 -
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
® Spool : Aluminium ® Armature : Stainless Steel
m Seals : NBR ® Armature Seals : Viton
m Spring @ Stainless
m Cap : Zinc Pressure Die-Cast

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

*x:\Voltage Selection (see page 80)

ORDERING NO.
SF6 (1. [0 (1 - I [P -sc2 - CN2 - A2
— s ———

|
| |
PotSze&Thead | RetumMethod | Int/Ext.Piot | ManuaiOperator [ olenoid Coil Type [ connector Type

Valve Series
SF 6 . 1 | 5/2 Single 0 | G1/2 0 | None | | Internal Pilot 0 | None 0 | None 0 | None 0 | None
Solenoild Valke 2 | 5/2 Double 1 | NPT 1/2 1 | Air+Spring P | Push Non-Locking ~ SC2| 3 Pin Connector Coil CN2| Normal Connector A2 [ AC 220V
3 | 5/3 Closed Center 2 | Ar L | Lever Locking SG2| Grommet/Flying CD2| Cornnector With LED Al [ AC 110V
"4_|5/3 Open Center 3| spring - Leads 22| Cornector With LED A4 | AC 2V
SFP6: 5| 5/3 Pressure Center - “s02 | Grommet/Fiying & Surge Suppressor D4 | DC 24V
Pneumatic Valve Leads With LED D2 | DC 12V




Solenoid & Pilot Actuated Spool Valves

Port Thread 1/2

SPort 2Pgsition Solenoid Valve

360 410 2-64.5 Hole
‘ (Manifold Hole)
Single Solenoid — &4
SF6101-1P-SD2-+ o of o \ Ki 1 ol <
2 4 8 8 i = 4 © N
AR e’ K !
375
39.5 34.0 2-G1/2(2,4-Port)
E
(Lever Locking) é
3-94.5 Hole Manual Button Jﬁ |
T % — L
i N
o o _ ol
EIEI- W{i - GJ» A 3
q € o
|
415 ‘ 300 ‘ P

Y

3-G1/2(1.3.5-Port)

mox10.0 236.5

mox10.0

Double Solenoid
SF6200-IP-SC2-CN2-#*

<
2 4
4 hia

2300

BPort 3Pasition Solenoid Valve

Closed Center
SF6303-I1P-SC2-CN2-#
2 4

259.0(3-Position)

315

Exhaust Center

SFB403-1P-SC2-CN2—** &
315 777 T
Pressure Center * *

SFB503-1P-SC2-CN2—»* 252.5(3—Position)

MF6000 MANIFOLD BLOCK

(SF6000 Solenoid & Pneumatic Valve Use)

5-Port

Manifold Block MF6500-4

MF6500-BLK
Blanking Plate
Gasket O-Ring

MF6500-02

Manifold Block

SPort 2Position Pneumatic Valve

Single Pneumatic
SFP6101

2 4
AVIIASS
315

Double Pneumatic
SFP6200
2

)
S IVIIARS
315

3.5

G1/8

51.0

153.0

& ha

51.0

179.0(3Position)

SPort 3Position Pneumatic Valve

Closed Center
SFP6303

2 4
ST T
315

Manifold Block Ordering Code

Exhaust Center

SFP6403

2

.
5

31

Pressure Center
SFP6503
2

4
STET7%
315

Blanking Plate Ordering Code

MF6500-BLK
MF6500 - 2
Blanking Plate.
MF6500 | 5 Way 02 | 2-Station (Material: SCP1)
04 4-Station
iw % Gasket O-Ring
B || G € (Material NER)
10 10-Station
G 108.5
i J;;L
Eg |e-e/2
Frr L
~g ~8 ~§ 3 <
3 5 g +| 32
i i N |7 2 g B
2 | o D D Do § 7 n
B0 1N B
| . T
33.0 P=37.5 3
s
14.0 B=[37.5n+13.0] 14.0
A=[37.5n+28.0]

GPORT MANIFOLD BLOCK DIMENSION

n=STATIOI

T, 3
fira) 2 & ¢

8 10

B | 880 [163.0 | 238.0

313.0

388.0

A [103.0 1780 [ 253.0

328.0

403.0






SI1V:-SIE 1so) Series

SIV200
1SO-0/Width-18mm
Sub Base Thread-1/4

SIV400
ISO-1/Width-40mm
Sub Base Thread-1/4, 3/8, 1/2

SIE200
1SO-0/Width-18mm
Sub Base Thread-1/4

SIV300

weemers 1 SINV 200
e SIV300
e SIv4a00
e SIV500

SIV500
1SO-2/Width-50mm
Sub Base Thread-1/2, 3/4

e SIE200
e SIE 300

SIE300
1SO-0/Width-26mm
Sub Base Thread-1/4



Siv200

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Section Area(md)-5bar 12.0 8.5
Ambient & Fluid Temp. 5~60°C (41 ~140°F)
Response Time(5bar) 25ms or Less 35ms or Less
Max. Working Frequency 5c/sec 3c/sec
Lubrication Not Required(Use 1SO VG32# )
Manual Override Push Button(Standard), Lever Lock(Option)
Cail Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage AC:20% or Less / DC:10% or Less
Power Consumption Holding-AC :3.5VA(60Hz) / DC:2.5W
Transition Capacity Graph
1500
/
1250 | o
% 1000 ]
= el —— ‘{‘
= 750 .
) —T"| S e ‘
& | AT L - 52 [
250 I [ad = i : - mne — /Y i
0 | } I S — E— — ——
1 2 3 4 5 6 7 8 9 10
Pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
® Spool : Aluminium ® Armature : Stainless Steel
m Seals : NBR ® Armature Seals : Viton
m Spring @ Stainless
m Cap : Zinc Pressure Die-Cast

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

SIV233-IP-SC1-CN1—#x

2 4

315

*x:\oltage Selection (see page 80)

ORDERING NO.

S'VZII EE-EH-E

Return Method Int/Ext. Pilot Manual Operotor Solenoid Coil Type Connector Type VoIToge
|

S|V2 1 5/2 Single 0 None Internal Pilot None None None None
2 5/2 Double 1 Air +Spring E | External Pilot P Push Non-Locking SC1| 3 Pin Connector Coil ~ CN1| Normal Connector A2 | AC 220V
Solenoid Veive 3 | 53 Closed Center 2| Ar L | Lever Locking SG1| Grommet/Fiying Leads CD1| Cormnector Wih LED A1 | AC 110V
4 5/3 Open Center 3 Spring SD1| Grommet/Flying Leads CZ1| Cornector With LED A4 | AC 24V
SIp2: 5 | 5/3 Pressure Center With LED & Surge Suppressor D4 | DC a4V
Preumatic Valve - SL1| 90 Degree Plug-in Wire Dz | oo v
Assembly With LED
"Swi1[ 180 Degree Plug-in Wire
Assembly With LED




Solenoid & Pilot Actuated Spool Valves 18mm Body Width

BPort 2Position Solenoid Valve SPort 2Position Pneumatic Valve
(Lever Locking) g S
Single Solenoid Monuol Bution 3 Single Pneumatic . —7
—|p-: —k Y )
swv22114wp SG1 (External Pilot—M5x0.5). y N S‘Pg“A ; HE‘ g i A® B
AN IIWA ' uANIIVARS o
315 - Plate 315 / L
T o 2—-M3x0.5
3 | ol 68.0
External Pilot 199 E
Le B
SIV21 1-EP-SGl—#+ LI <H:Hf
2 4 / Double Pneumatic "
A )
»x“llﬂm\ 2-M3x0.5 Sip220 o 9
575 Py 680 2 4 g
»{ I+
315 e
28.0 —M3x0.5°
21.0 77.0
4.0,
P 2.4 DP5.0
o a |
s, 1 9] - .
100 R g N SPort 3Position Pneumatic Valve
e | B B - o
48.0
Closed Center
max10.0 ‘ ‘ 113.0 ‘ max10.0 SIP233
Double Solenoid L m
SIV220-IP-SC1-CN1—xx > <
220 315 ﬁ = = % [y
mm Exhaust Center . N7
375 g SIP243 . o 9 g o
2 4 2 a 4
an} | €]
== SO
g
L] Prosure Contr
j SIP2s3 8.0
2-M3x0.5- 2 4
105.5 375
SPort 3Position Solenoid Valve
Sub Base Ordering Code
Closed Center
SIV233-1P-SC1-CN1-++
AR, sB2 1 - S
375 max10.0 114.5 N max10.0 |
Exhaust Center ‘
SIV243-IP-SCT-CN1 -+ SIB2 0 None S Single Station Sub Base,
SIV200 Solenoid Valve 1 G 1/4 Port Without Pilot Ports
315 L 2 NPT SP | Single Station Sub Base,
E P

Pressure Center

1/4 Port With Pilot Ports

SIV253-IP-SG1-CN1-xx
2 4 DB | Single Station Sub Base,
1/8 Port Without Pilot Ports
315

DC6| Double Modular Sub Base,
5.0 @6 One-Touch Fitting

1055 E End Cover, 1/8 Port

EB | End Blanking Cover

Ordering Code
SIB20-BLK
)
. . Blanking Plate
(SIV200 Solenoid & Pneumatic Valve Use Sub Base) C? (Material: STS304)
_ . Manifold Gasket.
Double Modular Sub Base Dimension @ (Material: NBR)
Ordering Code
24.0 P=190 125 SIB21-E
2",M3x0,5\ 4-04.5 Hole BB
@/ End Cover, 1/8
Blanking Plate o Dol Fo 5 DS (Material: Al)
& o D ©| © | o d
= T TE R e i El
9 9 |lg g Gl =
Manifold Gasket o | B= ;: ;: @ 11 g g:g;gggcade
1] == =t
End Blanking
56 B=(19.0n+20.8) 36 p Cover
A=(19.0n+28.0) MEAN (Material: Al)
- - - - 21.4
Single Station Sub Base Dimension
24.0 P=19.0
=GB Ordering Code
2-M3x0.5 DP5.0- S1821-DB
g 5 T
22.0 35.0 LG
e =
9.5 \ 12.5 2.5 J“% >é >< °L 2 H Double Modular
| [ESVANAINYANIARS B Sub Base, 1/8
] (Material: Al)
< N —— E
of of o 2 A=
T EERT ]
= ) Ordering Code
@ P DOUBLE MODULAR SUB BASE DIMENSION s 4710x $1820-D06
Pl G 2 " s 8 0 Double Modular
4% nen
Sub Base
(1.2.3.4.5-Port) A | 60 | 1040 | 1420 | 1800 | 2180 fitting
ﬁ ] (Haterial: Al)




SiIv300

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Section Area(mi)-5bar 18.0 11.0
Ambient & Fluid Temp. 5~60°C (41 ~140°F)
Response Time(5bar) 25ms or Less 35ms or Less
Max. Working Frequency 5c/sec 3c/sec
Lubrication Not Required(Use 1SO VG32# )
Manual Override Push Button(Standard), Lever Lock(Option)
Coil Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage AC:20% or Less / DC:10% or Less
Power Consumption Holding-AC:3.5VA(60Hz) / DC:2.5W
Transition Capacity Graph
2500
2000 —
£ 1500 — — j_ S
£ |- -
= 1000 = =7 - | .
s /__/_,- fn "" —2
500 [ o l = s w53
0
1 2 3 4 5 6 7 8 9 10
Pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
m Spool @ Aluminium ® Armature : Stainless Steel
m Seals : NBR ® Armature Seals : Viton
m Spring : Stainless
m Cap : Zinc Pressure Die-Cast

ES

The specification on each item can be amended without any prenotice to improve a performance.
The specification on each item can be different from actual specification.

ES

SIV333-IP-SC1-CN1-#x

2 4

*x:Voltage Selection (see page 80)

ORDERING NO.
-HEH-HH-1H-1H-B

| | |
— — | | | L
Refum Method ni/Ext. Pilot ManualOperator [l Solenoid CoilType | Connector Type Voltage
0 0 0 0

I
| Internal Pilot None

SIV3: 1 5/2 Single 0 None | None None None

' 2 5/2 Double 1 Air +Spring E | External Pilot P Push Non-Locking SC1| 3 Pin Connector Coil ~ CN1| Normal Connector A2 | AC 220V
Solenaid Valve 3 | 5/3Ciosed Center 2 | Ar L | Lever Locking SGI| Grommet/Flying Leads CD1| Cormector Wih LED Al | AC 110V
4 5/3 Open Center 3 Spring SD1| Grommet/Flying Leads CZ1| Cornnector With LED A4 | AC 24V
SIP3: 5 | 5/3 Pressure Center With LED & Surge Suppressor D4 | DC 24V
Preumatic Valve _ SL1| 90 Degree Plug-in Wire D2 | e i

Assembly With LED

"SM1| 180 Degree Plug-in Wire
Assembly With LED




Solenoid & Pilot Actuated Spool Valves 26mm Body Width

BPort 2Position Solenoid Valve SPort 2Position Pneumatic Valve
. o
Single Solenoid (Lever Locking) % Single Pneumatic = H [ A
SIV311=IP-SG1 =+ Manual Button g SPatt IS
2 4 (External Pilot—M5x0.8) 2 4 2 9
)i o @ a
315 1 315 0
-—- U
External Pilot 2o HZST{:H g =4 | 260 |
24
SIV311-EP-SG1-*+ e a
2 LI 1 o
NN T T j Double Pneumatic —‘
315 ~
o 2ubor s\nggi J 5
SAiivaR mw
285 315
19.0 990
25 #2.7 DP5.0
3 |
3
. ¥
1 Pt ﬂ £
E g -~ -
Gt = BPort 3Position Pneumatic Valve
elsolll |l ss X
55.0
67.0
Closed Center
moxi0.0 125 mox10.0
‘ ‘ SIP333 2 4
N
Double Solenoid Tt
SIV320-IP-SC1-CN1-**
2 4 Exhaust Center ~
iviiya® o FF ] O
375 - o 2 4 J L‘é
ST | o 3 &
}{ o 315 F B
B Pressure Center ®
il SIP353 il | b L A
SOITET 00
105.5 s 31 12.0

5Port 3Position Solenoid Valve

Sub Base Ordering Code

Closed Center
SIV333-IP-SC1-CN1-#x
2 4

%Qr 11T r %@ mox10.0 125 mox10.0 |

315 ‘ ‘
Exhaust Center
SIV343-IP-SC1-CH1-*x % E SIB3 0 None S Single Station Sub Base,
24 SIV300 Solenoid Valve 1| G 1/4 Port Without Pilot Ports
315 -—- -—- 2| 2 NPT SP [ Single Station Sub Base,
Pressure Center E = i 1/4 Port With Pilot Ports
SIV353-IP-SC1-CN1-+x B hid
2 4 i 4 DB | Double Modular Sub Base,
AT B [ - 1/4 Port Without Piot Ports

315 F_/\/\_j DC8| Double Modular Sub Base,
@ @ #8 One-Touch Fitting

12.0 B End Cover, 1/4 Port

EB | End Blanking Cover

SIB30 SINGLE, DOUBLE SUB BASE

(SIV300 Solenoid & Pneumatic Valve Use Sub Base) < e S0

Manifold Gasket.
Double Modular Sub Base Dimension @ (Material: NBFR)

Ordering Code

285 __P=27.0

19.0 - 1
20-M4x0.7 4-#45 Hole 3-G1/4 SiB31-€
l End Cover, 1/4
Blanking Plate o o o (= (Material: Al)
o o o d @\M
& D D D | O
o Do 56 605 616 oo - o
g B DP9 10E0 % B—5 9
D) D) D) D o
Manifold Gasket e a - a B bt Ordering Code
SIB30-EB
T —r—
TE‘ End Blanking
Cover
40 || B=(27.0n+22.0) 4.0 1200 o (Material: Al)
Single Station Sub Base Dimension A=(27.0n430.0) 255
46.0 Ordering Code

=]
o

— e ‘ — Sub Base, 1/4
—RL E% 9 { (Material: Al)
%) ] o
g 319

i

E3]

2-94.3 Hole- SIB31-DB
245 38.0
2 2 2-M4x0.7 DP5.0 29.5 __P=27.0 4n—G1/4 Q,\
.5 | 19.0 . 105 SN
/ \%QQ; Double Modular
(7B (" NINSZT
7 / QIR
Qf

24.0

41.0

69.0
1

|

RV
21.0

) 8 One-Touch Fiting S Cie
(@) SIB30-DC8
1) & Double Modular
g DOUBLE MODULAR SUB BASE DIMENSION 5771014 Sub Base
|| 2 4 6 8 10 28 one-touch
A | 76.0 | 130.0| 1840 | 238.0 | 282.0 e
5-G1/4 (Material: Al)
(1.2.3.4.5-Port) B 84.0 138.0| 192.0 | 246.0 | 300.0




Siv400

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Section Area(mi)-5bar 30.0 25.0
Ambient & Fluid Temp. 5~60°C (41 ~140°F)
Response Time(5bar) 30ms or Less 40ms or Less
Max. Working Frequency 3c/sec 1c/sec
Lubrication Not Required(Use 1SO VG32# )
Manual Override Push Button(Standard), Lever Lock(Option)
Coil Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage AC:20% or Less / DC:10% or Less
Power Consumption Holding-AC :5.5VA(60Hz) / DC:2.5W
Transition Capacity Graph
3500 ] 1
3000 : = —
~ 2500 L e =
£ 2000 = 525
= 1500 o A
c 1000 S 7
< 500 "4 — w3
o \ —
1 2 3 4 5 6 7 8 9 10
Pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
m Spool @ Aluminium ® Armature : Stainless Steel
m Seals : NBR ® Armature Seals : Viton
m Spring : Stainless
m Cap : Zinc Pressure Die-Cast
x The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

*x:\Voltage Selection (see page 80)

ORDERING NO.

| | |
l—, l_, I_| ‘_| | | | l—l
Retun Method Int/Ext. Pilot ManualOperator  l Solenoid CoilType | Connector Type Voltage
0 0

SIV4 1 5/2 Single 0 | None I internal Piot 0 | None None None 0 [ None
Solenoid lVaIve 2 | 5/2 Double 1 Air +Spring E | External Pilot P | Push Non-Locking SC2| 3 Pin Connector Coil ~ CN2| Normal Connector A2 | AC 220V
3 | 5/3 Closed Center 2 | Ar L | Lever Locking SG2| Grommet/Flying Leads CD2| Cornnector With LED A1 | AC 110V
4 5/3 Open Center 3 Spring SD2| Grommet/Flying Leads CZ2| Cornnector With LED A4 | AC 24V
SIP4: 5 | 5/3 Pressure Center With LED & Surge Suppressor D4 | DC 24V
Pneumatic Valve - D2 | oc 12v




Solenoid & Pilot Actuated Spool Valves 40mm Body Width

SPort 2Position Solenoid Valve 3 5Port 2Position Pneumatic Valve
. b
(Lever Locking) g 5o
Manual Button: ﬁ
Single Solenoid —_
SIVAT1-1P-8D2-+ : Single Pneumatic Plate ’—EW V
2 4 (Extbrnal Pilot—M5x0.8) S‘PéHA T i 0 - ® ®
A ke L ANIAREE — i3
375 o 3 ¥
E I . g 315 ® ®
External Pilot e —
SIV411-EP-SD2-*+ a E I U
A 2 4 100.0
aNIIvAN — 7
© 4-M5x0.8
18.5
sIP420 2
2.4 ”
mad0.0 152.0 max10.0 —{}—M—Q—
 — — 315
N i T O
J‘* 74; 108.0
Double Solenoid
SIV420-IP-SC2-CN2—+* K
2 4 E
315 @7
3 o
L] 4 &
1] 1]
108.0
144.5 36.0
o
S
D1
mox10.0 152.0 mox10.0 ‘
40.0
— 125.0
g1 JI
=1 [
Eﬂ ﬁ% o 9Port 3Position Pneumatic Valve
3
g
i Closed Center Exhaust Center Pressure Center
0 E " . - oaer
3 SIP433 SIP443 sIP453
I B 2 4 2 4 2 4
A — SOTETIZ SO SO
K 315 315 318
3 @
N |
+ + )
2 4 ‘ ‘
125.0

Sub Base Ordering Code

BPort 3Position Solenoid Valve
SiB4 1 - 'S
Closed Center Exhaust Center Pressure Center l—, | I—l
SIV433-IP-SC2-CN2-#* SIV443-IP-SC2-CN2-#* SIV453-IP-SC2-CN2-#*
e e e
e T T8 SiB4 0 | None S | Single Station Sub Base,
SIVA00 Solenoid Valve 1 G 1/4 Without Pilot Ports
2 G 3/8 SP | Single Station Sub Base,
3 G 1/2 With Pilot Ports
SIB40 SINGLE SUB BASE T et
7 | NPT 3/8
(SIV400 Solenoid & Pneumatic Valve Use Sub Base) 8 | NPT 1/2
Single Station Sub Base Dimension
62.0 37.0
50.0

4-97.0 Hole
28,0
Port Thread
4-M5x0.8 DPB.O \ \

]
=
= |~
d o [DEPOTTT g q d
B8 ToS= 17 9 4 8§ gl 2|
Sub Base Gasket Aﬂz}} H—]
(Material: NBR) e
H =% o
¢ B
Sub Base Port Thread
(Material: Al)

2-G1/8 Port Thread
F I/ MODEL A(4).B(2) P(1) R1(5).R2(3)
; SIB41-S(P) | G1/4 Gi/4 Ga/8
sa | | SIB42-S(P) G3/8 G3/8 G3/8

sIB43-S(P) | G1/2 Gi/2 Gi/2




Siv500

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Sectional Area(mi)-5bar 65.0 50.0
Ambient & Fluid Temp. 5~60°C (41~140°F)
Response Time(5bar) 35ms or Less 45ms or Less
Max. Working Frequency 3c/sec Tc/sec
Lubrication Not Required(Use I1SO VG32# )
Manual Override Push Button(Standard), Lever Lock(Option)
Cail Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage AC:20% or Less / DC:10% or Less
Power Consumption Holding-AC:5.5VA(60Hz) / DC:2.5W
Transition Capacity Graph
8000 ‘
7000 j /*_4
S 6000 : |
£ 5000 — —T | )
= 4000 LR wll \
< 3000 Sy S \ |
< 2000 - —
1000 =1 | = T | e 1
o i \ | |
1 2 3 4 5 6 7 8 9 10

Pressure (bar)

The Material of Parts

m Valve Body : Die-Cast Aluminium = Pilot Parts : Glass Filled Nylon
m Spool @ Aluminium m Armature : Stainless Steel

m Seals @ NBR ® Armature Seals : Viton

® Spring : Stainless

m Cap : Zinc Pressure Die-Cast

SIV533-IP-SC2-CN2—**

2 4 % The specification on each item can be amended without any prenotice to improve a performance.

% The specification on each item can be different from actual specification.
315

*x:\oltage Selection (see page 80)

ORDERING NO.

| | |
I—I l_I I_I I_l | I I I—l
Return Method Int/Ext. Pilot Manual Operator J Solenoid Coil Type Connector Type Voltage
0 0

SIV5 1 5/2 Single 0 None | | Internal Pilot 0 None None None 0 None
Solenoid Valve 2 5/2 Double 1 Air +Spring E | External Pilot P Push Non-Locking SC2| 3 Pin Connector Coil ~ CN2| Normal Connector A2 | AC 220V
3 5/3 Closed Center 2 Air L Lever Locking SG2| Grommet/Flying Leads CD2| Connector With LED Al AC 110V
, 4 5/3 Open Center 3 Spring SD2| Grommet/Flying Leads CZ2| Connector With LED A4 | AC 24V
SIP5 N 5_ 5/3 Pressure Center With LED & Surge Suppressor W DC 24V
Pneumatic Valve - i oC v




Solenoid & Pilot Actuated Spool Valves 50mm Body Width

SPort 2Position Solenoid Valve 5Port 2Position Pneumatic Valve

2-02.4
Single Peneumatic

Single Solenoid (Lever Lodking) IB
—|pP- —xk Manual Button L
S\\/g\ \4 |P-SD2 ﬁ SIP511
— 4

27.0

400£10.0

zy
g

2 Plate
oI 6 i
315 (External Pilot—M5x0.8) 3L U T N & 4} X
Plate. i 4 ; :;
External Pilot \ . 3 a .
o ) -

SIV511-EP-SD2-%+ § [T A o

24 9 N N 0 0 9] ‘ X

o

A\ Tk 13 L0

315 1155

©
B

4-M6x1.0 }

115.5

Double Peneumatic
1305 SIP520 )

max10.0 159.5 max10.0 2 4
N I AN
315

BEF 7 0|
U U
Double Solenoid 121.5

SIV520-IP-SC2-CN2-#*
2 4 i ’,QL ;ﬁ‘F 4-M6x1.0 240

% L ERCRE: H@H
— |

HMH e e =t

U U

64,

o

113.5

46.0

50.0
I

R

@ o [ @ &
@ Y i [ @l T
g M _ [T 2
® — | ® E X
% ® ]% Hpea - |
s © I o i ‘X@ a
max10.0 159.5 max10.0 51.0 § ‘
il [ F° @ =E |
B [ I
'R 3
? \N%) 5Port 3Position Preumatic Valve
[ [ B a &I q>
g Closed Center Exhaust Center Pressure Center
T *H‘B ‘Hﬁf - T T T T SIP533 ) 4 SIP543 L 4 SIP553 y 4
4 R | ® SO TP ST M DT e
el I 375 315 315
i &
DD | |

Sub Base Ordering Code

140.0

SPort 3Position Solenoid Valve

Closed Center Exhaust Center Pressure Center |

SIV533-IP-SC2-CN2—*+ SIV543-IP-SC2-CN2—** SIV553-IP-SC2-Ch2—*+
4

RNINMITAYY AT 70 LI 35

iz 0 None S Single Station Sub Base,
SIV500 Solenoid Valve 2 G 3/8 Without Pilot Ports
3 G 1/2 SP | Single Station Sub Base,
4 G 3/4 With Pilot Ports
SIB50 SINGLE SUB BASE T [weras
8 NPT 1/2
(SIV500 Solenoid & Pneumatic Valve Use Sub Base) 9 | NPT 3/4
Single Station Sub Base Dimension
75.0 48.5
48.5 62.0 D
= 4-M6x1.0 DP9.0 \ 80 220
\
SN T
Sub Base Gasket %O %% = ‘
(Material: NBR) o =
A=H @ [
{1 =<7 Sé%i%D%**%fU
an o=
N e &= fah
Sub Base i = U
(Material: Al) )@ ! Jr
2-97.5 Hc\e/
Thread A B c 0 a
D
SIB52-G3/8 | 36.0 19.0 |60.0 29.0 o
sIB53-G1/2 | 31.0 2?3 0 [63.2 32“ D g /EJ QH m
SIB54-G3/4 | 36.0 23.0 |67.2 26.3




(2]

IE211-IP-
2 4

*x:\oltage Selection (see page 80)

ORDERING NO.

SIE2
’—l

HE- B
= —

SPECIFICATION

SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Sectional Area(mi)-5bar 12.0 8.5
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

25ms or Less 35ms or Less

Max. Working Frequency

5c/sec 3c/sec

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC:3.5VA(60Hz) / DC:2.5W

Transition Capacity Graph

1500
1250 e
£ 1000 ]
= 0 - "
< 1 e T T
(S 500 = — T e 5/2
/(—- — 7 | [i
250 [ [ad ‘ —- e —5/3 i
0 | I S S .
1 2 3 4 5 6 7 8 9 10
Pressure (bar)
The Material of Parts
Valve Body : Die-Cast Aluminium = Pilot Parts : Glass Filled Nylon
Spool : Aluminium ® Armature : Stainless Steel
Seals : NBR ® Armature Seals : Viton

Spring : Stainless

Cap : Zinc Pressure Die-Cast

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

I I—I

|
Manual Operator @ Solenoid Coil Type lf  Connector Type
0 0

Valve Series Function Retum Method Int/Ext. Pilot Voltage
SIE2 1 5/2 Single 0 None | | Internal Pilot 0 None None None 0 None

Sl dl\/ | 2 5/2 Double 1 Air +Spring E | External Pilot P Push Non-Locking SC1| 3 Pin Connector Coil ~ CN1| Normal Connector A2 | AC 220V
clenoc Yale 3 | 5/3 Closed Center 2| Ar L | Lever Locking SG1| Grommet/Flyng Leads  CD1| Comnector With LED AT | AC 110V
. 4 | 5/3 Open Center 3 | Spring SD1| Grommet/Flying Leads CZ1| Connector With LED ~ A4 | AC 24V
S|EP2‘ . 5 5/3 Pressure Center With LED & Surge Suppressor D4 | DC 24V
Prematic Valve SL1| 90 Degree Plug-in Wire D2 | DC12v

Assembly With LED

SMI[ 180 Degree Plug-in Wire
Assembly With LED




Solenoid & Pilot Actuated Spool Valves

18mm Body Width

SPort 2Position Solenoid Valve

Single Solenoid
SIE211-IP-SG1-**
2 4

SAVIIVA

315

External Pilot

SIE211-EP-SG1-**

2 4
e L\ Tk

315 o

SIE211-IP-SM1—#*

RNy
315

SIE211-IP-SC1-CN1-**
2 4

315

Double Solenoid
SIE220-1P-SL1—**
2 4

315

BPort 3Pesition Solenoid Valve

Closed Center
SIE233-IP-SC1-CN1-**
2 4

315

mox10.0

18.0

2-93.2 Hole
(Manifold Hole)
o
. 3
(Lever Locking) g
Manual Button: k=]
E
(External Pilot—M5x0.8)
i 3
o) o
| o —r o
S S
T I ] i
2-) ZXO.Sj
105.5
o E o
R g A
105.5
ng
BIS|
o
o3|
o 4
s 3
17 I F
max10.0
o o
S 3
T
i
) 6.0 T
3
L9

156.5(Double)

171.0(3—Position)

Exhaust Center
SIE243-IP-SC1-CN1—*x

315

Pressure Center
SIE253-IP-SC1-CN1-**
2 4

315

Hz‘%zﬂ
C
D0

162.5(3—Position)

SIB20 SINGLE, DOUBLE SUB BASE

(SIE200 Solenoid & Pneumatic Valve Use Sub Base)

AN A AN E
\Y>)
48.0
56.0

Blanking Plate

Manifold Gasket

5-G1/4
(1.2.3.4.5-Port)

350 2-M3x0.5 DP5.0
125 o5
T | |
9| 4!

El & o o o

> 98 Pk
EE

eI

T &

3]

\z—m.s Hole

i

SPort 2Position Pneumatic Valve

Single Pneumatic
SIEP211

2 4
SRVIIVARG

Double Pneumatic
SIEP220

2 4

SPort 3Position Pneumatic Valve

Closed Center
SIEP233
2 4
RN
315
Exhaust Center
SIEP243
2 4
SIS
315
Pressure Center
SIEP253
2

,
ST
315

S I N
y
& s 140

mey

555

Sub Base Ordering Code
SIB2 1 - 'S
SIB2 0 None S Single Station Sub Base,
e SIE200 Solenoid Valve 1 | G 1/4 Port Without Pilot Ports
2 NPT SP | Single Station Sub Base,
1/4 Port With Pilot Ports
ql DB | Double Modular Sub Base,
h 1/8 Port Without Pilot Ports
DC6| Double Modular Sub Base
$6 One-Touch Fitting
E End Cover, 1/8 Port
EB | End Blanking Cover
Ordering Code
SIB20-8LK
Blanking Plate
d@ (Material: STS304)
== Manifold Gasket.
a q <> (Material: NBR)
Double Modular Sub Base Dimension e
Ordering Code
240 _P=19.0 12.5 SiB21-€
N30 4-04.5 Hole 3-G1/8
N T/' End Cover, 1/8
==y Py gy S (Material: Al)
D° °| D |d @@
@ D ©O| © |o o
K| < ™\ |
q b & o g
D D ] ] = K
L | ) KRS ZA PN Ordering Code
) | [] g SIB20-EB
End Blanking
36 B=(19.0n+20.8) 36 o Caver
A=(19.0n+28.0) REAN (Material: Al)
21.4
24.0 P=19.0 an—cl/8 Ordering Code
S1B21-DB
J g 5 T
S EERE Double Modular
N >X< >;< % DL I Sub Base, 1/8
| ANT/IINT/ANTAES (Material: Al)

DOUBLE MODULAR SUB BASE DIMENSION -s7a7i0n

e 2 4 ] 6 D
8 | 588 | 9681348 17282108
A 66.0 | 104.0 | 142.0 | 180.0 | 218.0

Ordering Code

REEE Double todular

Sub Base

@6 one-touch
fitting
(Material: Al)




SIE311-EP-SC2-CN2-**
2 4
315 )
**:\oltage Selection (see page 80)

ORDERING NO.

SE3 (1 1 -1 [P - sC2 -
— L

SPECIFICATION

SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 20~10.0
Eff. Sectional Area(mi)-5bar 18.0 11.0
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

25ms or Less

35ms or Less

5c/sec

3c/sec

Max. Working Frequency

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC :5.5VA(60Hz) / DC:2.5W

]
nt/Ext. Pilot Manual Operator

Transition Capacity Graph
2500 | T —
= 2000 P ] |
€ 1500 — |
N = o —
2 1000 /_f/i""’"j— I
& [ I e s Sy ; sz ||
500 === ——--—5/3 —
G LT ' et
1 2 3 4 5 6 7 8 9 10
Pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
® Spool : Aluminium ® Armature : Stainless Steel
m Seals : NBR ® Armature Seals : Viton
m Spring @ Stainless
m Cap : Zinc Pressure Die-Cast

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

—

SIE3 ! 1 5/2 Single 0 None | | Internal Pilot 0 None 0 None 0 None 0 None
SOIenoidl valve 2 5/2 Double 1 Air + Spring E | External Pilot P Push Non-Locking SC2| 3 Pin Connector Coil  CN2| Normal Connector A2 | AC 220V
3 5/3 Closed Center 2 Air L Lever Locking SG2| Grommet/Flying Leads CD2| Connector With LED A1 | AC 110V
4 5/3 Open Center 3 Spring SD2| Grommet/Flying Leads CZ2| Connector With LED ~ A4 | AC 24V
SIEP3: 5| 5/3 Pressure Center With LED & Surge Suppressor D4 | DC 24V
Pneumatic Valve - D2 | 0C 12v




Solenoid & Pilot Actuated Spool Valves

26mm Body Width

SPort 2Position Solenoid Valve

Single Solenoid
SIE311-IP-SD2-*+
2 4

315

External Pilot

SIE311-EP-SD2-**

2 4
315 5

max10.0

26.5

2- 94.3 Hole
(Manifald Hole)

(Lever Locking Type)

Manual Button

53]

35.0
280

B

2-M5x0. aju

38.0

285

19.0

o5

T

202.0(Double)

max10.0

Double Solenoid

SIE320-IP-SC2-CN2—*»
2 4

e ANIIVA

315

2]

Sl
o ]
(-

220.0

il

L1

|o18.0

675

U

193.5(Double)

SPort 3Position Solenoid Valve

Closed Center
SIE333-IP-SC2-CN2—**
2 4

BN T2

315
maxi0.0

o
xOW

O

es@@

214.0(3-Position)

maxi0.0

Exhaust Center
SIE343-IP-SC2-CN2-#*
2 4

315

kg
lna]

Pressure Center

SIE353-IP-SC2-CN2-**
2 4

ARSI IA:

315

L b

206.0(3—Posttion)

SIB30 SINGLE, DOUBLE SUB BASE

(SIE300 Solenoid & Pneumatic Valve Use Sub Base)

==

Manifold Gasket

=]
o

2-94.3 Hole \ .

|
2

2-M4x0.7 DP5.0
/ 105

D
&%

1.0
69.0

—

5-G1/4
(1,2,3,4,5-Port)

2n-M4x0.7
Blanking Plate N\

SPort 2Position Pneumatic Valve

Single Pneumatic

SIEP311
2 4

CAVIIASS
315

Double Pneumatic
SIEP320

2 4
SSANIITAR
315

110.0

SPort 3Position Pneumatic Valve

Closed Center
SIEP333

175

2 4
NS

315
Exhaust Center
SIEP343

=5

60.3

CANIIRIAS
315
Pressure Center
SIEP353

==

0%

22 130.5
ST '
315
Sub Base Ordering Code
SIB3 1 - 'S
SIB3 0 None S] Single Station Sub Base,
SIE300 Solenoid Valve 1 G 1/4 Port Without Pilot Ports
2 NPT SP | Single Station Sub Base,
1/4 Port With Pilot Ports
DB | Double Modular Sub Base,
1/4 Port Without Pilot Ports
DC8| Double Modular Sub Base,
88 One-Touch Fitting
E End Cover, 1/4 Port
EB | End Blanking Cover

Double Modular Sub Base Dimension

Ordering Code
SIB30-BLK

=4
===

Blanking Plate
(Material: STS304)

Manifold Gasket.
(Material: NBR)

Ordering Code
SIB31-E

285 | P=27.0 19.0 4-64.5 Hole
End Cover, 1/4
(Material: Al)
=, =P . =p. =
(@i @i @i l
o D ) ) | o
E o0 GCO1PEG o 9 Ordering Code
D D} D) D) - o SIB30-EB
(@ g g @ €]
B [S=YS === 3 End Blanking
"’r’ i 1 Cover
% [ = (Material: Al)
4.0 B=(27.0n+22.0) 40 18.01 =
A=(27.0n+30.0) 2533|
Ordering Code
295 _ P=27.0. 4n—G1 /4 SIB31-DB
Double Modular
Sub Base, 1/4
o o
9 2 9 (Haterial: Al
) E
@8 One-Touch Fiting: Ordering Code

DOUBLE MODULAR SUB BASE DIMENSION (-s7ATi011

Ten 2 [ 4 6 8 [ 10
A 76.0 | 130.0 | 184.0 | 238.0 | 292.0
8 | 840 | 1380 192.0 [ 246.0 [ 300.0

51830-DC8 Double Modular

Sub Base

®8 one-touch
fitting
(Material: Al)







M C S Series

EMCS100

MCS100
SC200
Solenoid Valve
MOUNTED

MCS100
SC300, SCE300
Solenoid Valve
MOUNTED

MCS100
SC400, SCE400
Solenoid Valve
MOUNTED



com

Wire Color | fi | Sejenoid

Black o1 | s-of

Brown 02 | 5-02

Red 03 | s5-03

Orange 04 | S-04

Yellow 05| 505

Green 06 | S-06

Blue 07 | s-07

Purple 08 | s5-08

Gray 09 | s-09

White 10| s-10

Pink T s11

Light Green 2| s-12

Black/White 13| S-13

Brown/White | 14 | S-14

Red/White 15

Orange/White | 16

Green/White | 17

Blue/White 18

Purple/White 19

Red/White 20

Orange/Black | 21

Yellow/Black 22

Green/Black 23

Gray/Black 24

Pink/Black 5] oM

D-Sub Connector Pin No.
—
) K-\
22: ; E:Iri(\j:n) % @ Sol 14 (Brown/White)
Sol 3 (Red) o) ® (Red/White)
Sol 4 (Orange) D @ (Orange/W'hlle)
Sol 5 (Yellow) B} @ (Green/Whlte)
Sol 6 (Green) ® (€ (Blue/White)
Sol 7 (Blue) 0 (& SPurple/Whlte)
Sol 8 (Purple) D) @ {Red/B'ackJ
Sol 9 (Gray) ) @) Orange/Black)
Sol 10 (White) ® @ (Yellow/Black)
Sol 11 (Pink) 0@ (Green/Black)
@ &

Sol 12 (Light Green)
Sol 13 (Black/White)

@

#§

(24-Gray/Black)
(25-Pink/Black)

SCB31-D-M06

Terminal B

Terminal Box
MCS100 -T14-D4

94.0

3.0

2-M3x0.5
2-62.5 Hole \

o o

Wﬁ i

S o] G o ol o ool ol e Go?

o =

BTN 2 e o
oo} foo} fao) faoy

o]
=

23.0
min
L.
23.0

100.0

107.0

114.5

o 7

MCS100 -T14-D4 /

Terminal Box
+ Manifold Block

Fixed Bolt

@

Single D-SUB v

Connector Cable
MCS100-SC-10

SC311D-F5-P-L-+
SC321D-F5-P-L-x
SC333D-F5-P-#

Plug Connector
With Clip
PG2-01-D
PG2-02-D

Terminal Box

Ordering Code
MCS100 —T14—#x

Plug Connector With Clip

Ordering Code
PG2-01-D (100mm)
PG2-02-D (200mm)

Single D-Sub Connector Cable IP40

Female 5

Ordering Code
MCS100-SC-10 (1m)
MCS100-SC-30 (3m)

UNC NO.4—-40

L=(Cable Length)

ORDERING NO.

wcst [0 [0 - Tid - b4
s HH-H-1

[ [ ]
D—Sub Connector Multipole Wireway Box

Voltage

MCS1:

Multi Connector
Solenoid Valve Mounted

0 Single Module

0 25 Pin D-Sub
Connector

T14 | 14 Station 0 None
D4 | DC 24V
D2 | DC 1V




Multi Connector System Solenoid Valve Mounted

SC200 Series Mounted

2n—M5x0.8 2n—M5x0.8
(AB—Port) (AB—Port)
133.5 136.0
111.5(3—Position) 111.5(3—Position)
E 95.0(Double) E 95.0(Double) E s
(h=port)
T ts e T h
-—JeHE oHof = ~—JoHa S = E
= o B lof = | 5 = | -
@ 0 @
e E fol NE: ENCS = B e
i E 5 = 3 5 5 = ot E
1 ol 5|9 58
glgl 2 1o ElEI SN = ElEI s
Tzl e 19 T I < & = TIZl S =
<% & 5 lof <%l & E = <|®l 4 E
5 = 5 -
5 Tl 5 = = -
Fo el [P Fe & (—
Jd [ERN N nesTATON g l200)150] o e 2 e n=sTATON PE 2051\ 5054 Hoe n=STATON
A 47.0 w10 | 12 | 4 ~ - 52.0 SRR - YRR
75.0 B | 11451355 [ 1%5 765 B | 11451355 ] 1565 B | 11251335 ] 1545
A | 1225 1435 | 1645 A | 1225 1435 | 1645 A | 1951405 | 1615
sal 1 - Sal 1
e ot ¢
@ selte EER @ sone
com f
) s coM ‘
4-M5x0.8 .0 B84.5 1,000
6-G1/8 106.5 1,000 6-G1/8 115 1,000 (PR-Port)
(P,R1,R2—Port) (P,R1,R2—Port)
2n-G1/8 2n-G1/8
(AB—Part) (AB—Part)
153.0 155.0
133.5(3-Position) 133.5(3-Position)
o) 123.5(Double) | 123.5(Double) | n—M5x0.8
| | | (A—Port)
el e 1
;% = = SHDR = -
e == o | == < :
&)
D3] Doy
E e B NEDQ o= B J -
g% [T 3% ; 3%
£l s Hos L = s L[S A\l s &l s
3| &l e 2l
= =N [ | = L& Sl =l d
T|a T|'D i o
Lo HED 1 <2l g 0 Wil 9
g ,‘%, g 974 AS 9
d LESZST0] d REESZAS Y\l d g
= 2 ) a =
L i giE==
i o
= (& l]
o 9 ‘ n=STATION ol g F04.5 Hle = sTATION ol 9 = sTATON
o ! o & |
] 8 w0 [ 12 ] s 8 o | 12 | 14 ——s680 | ] 8 0 | 12| 14
B | 1360 | 1680 | 2000 | 2320 1390 | 1710 | 2030 | 2350 8 | 1360 | 1680 | 2000 | 2320
A | 1430 | 1810 | 2130 | 2450 A | 1520 | 1840 | 2160 | 2480 A | 1490 | 1810 | 2130 | 2450
o a
g R
3 5
y X 4-G1/8
6-G1/4 68.0 (PR-Port)
P,R1,R2—Port] 120.5 1,000
( ort) 5"3‘/“/ 1275 1000 |

(P.R1.R2=Port)

SC400 Series Mounted

2n-G1 /4 on-61/4
(AB—Port) (A,B—Part)
160.0 161.5
—| i 151.0(3—Positi
151.0(3—Paosition) ) (3-Position) n—c1/8
o 138.0(Double) o 138.0(Double) | (A=Part)
T—s 5/ e =71 | =/
S = |VasWan's T st Dﬁz
i == & =
SIS
1265 e > 5 —
[WESCS 1
) o > £
55 i 5|9 ® 2|5 id
g% o e 33 : 3% & =
£ls LLES [ & © ] £ls
S 12 e K J - d|e £ =
T L= Tl T (© T T
<|= N — <|@ <|=® £? |
O == = i
9 o o o
i e o D = o 4 L
‘ o= : . 1%
| - S = id jﬁ=
PEess e & fpe—
S &
[
o g l4—04.3 Holl n=STATION o = 4-94.3 Hole n=STATION o g 4-24.5 Hole n=STATION
o o] s [w] ]« @l o] 8 [0 2] 14 @ s 39.0 ] 8 [
30 B | 1600 | 1980 | 236.0 | 2740 1075 8 | 1630 | 2010 [ 2390 2170 55 79.0 5 [ 1600 [ 1980 [ 2360 | 2140
1730 | 211.0 | 2490 | 2870 A | 1760 | 2140 | 2520 | 2200 A | 1730 211.0 | 2490 | 2870
r =
fl
- ) CE P
K| g a9 g\
o 199
g =
9.5 20.0
4-61/8 39.0
6-G1/4 P.R—Port;
(P.R1,R2—Port) 1245 1,000 6-Gl/4 (PiR=Port) 98.5 1,000
(P,R1,R2-Port) 130.5 1,000




Terminal Box

MCS100 -T14-D4

) Pin | Solenoid 3.0 94.0 3.0
Wire Color No. No. I I
Black 01 | s-ot = .
Brown 02 | s-02
Red 03] s-03 ’Tﬁ T
Orange 04| s-04 B
Yellow 05| 505 , é 5MS<X\O‘5\
06 | S-06 —92.5 Hole ~
Ty o[ 507 e I
Purple 08 | S-08 ‘) P> m
Gray 09 | s-09
White 10 | s-10
Pink 1] s
Light Green 12| s-12
Black/White 13| s-13
Brown/White 14| s-14
Red/White 15
Orange/White 16
Green/White 17
Blue/White 18
Purple/White 19
Red/White 20
Orange/Black | 21
Yellow/Black 22
Green/Black 23
Gray/Black 24
Pink/Black 25 com
D-Sub Connector Pin No.
—
)
Sol 1 (Black N D (i3 Sol 14 (Brown/White)
Sol 2 (Brov:mr 2 ® (Red/White)
Sl (fied ) 9 ® (Orange/White)
Sol4 (Orange\ D] @ (Green/White)
Sol 5 (Yellow\ 5 @ (Blus/White)
gg: 3 Eglrf:\” % @ (Purple/White) . /
) @ (Red/Black) erminaf Box
go: g E(F;urpl\e, B ® (Orange/Black) MCS100 ~T14-D4
Sgl 10 (\;\élir}:ite\ 8 @ (Yellow/Black)
Sol 11 (Pink) @) Q (Green/Black) Terminal Box
Sol 12 (Light Green) E) é | com + Manifold Block
Sol 13 (Black/White) ® (24-Gray/Black) Fixed Bolt
\/ (25-Pink/Black)
@ Single D-SUB v
Connector Cable
—_— MCS100-SC-10
Terminal Box Plug Connector With Clip Single D-Sub Connector Cable IP40
17.0
35.0
Female g
o
I
)
RS
L=(Cable Length
) Ordering Code Ordering Code UNC NO.4-40 | L=(Coble Length) |
Ordering Code PG2-01-D (100mm) MCS100-SC-10 (1m)
MCS100 ~T14-*x PG2-02-D (200mm) MCS100-SC-30 (3m)

ORDERING NO.

wcst [0 [0 - Tid - b4
s HH-H-1

[ [ ]
D—Sub Connector Multipole Wireway Box

Voltage

MCS1:

Multi Connector
Solenoid Valve Mounted

0 Single Module

0 25 Pin D-Sub
Connector

T14 | 14 Station 0 None
D4 | DC 24V
D2 | DC 1V

SCE311D-F5-P-L—**
SCEB21D-F5-P-L—**
SCE333D-F5-P—**

Plug Connector
With Clip
PG2-01-D
PG2-02-D



Multi Connector System

Solenoid Valve Mounted

SCE300 Series Mounted

2n-G1/8 20-G1/8
(AB—Port) (AB—Port)
164.5 169.0
158.0(3—Position) 158.0(3-Position)
| 148.0(Doubl n-M5x0.8
o 148.0(Double) b (Double) P (amport)
e /11 H o/ | Y|
BT Bl BT e gl e 7 I
e A i B e ) [ tHA =
B | = B |l = =
= = s = =
; = = =
4 & 4 =
o = =l D = | =
2= 4 =, ele S\ZAN: =, 2| -t
&| @ 3= oA N
HE O3 = HE : = B =
5| e 5| & t 5|5
BE i = BE ,% = % gle =
T T - ]:% = L ol ,
<| 2| g @3 = <| o] g SHY) = <| @ o =
i = i & = i =
d| | d| MISSZANY d|
= = ® =
=y 8 = WSS = =
I\ @) = G = =
o = o = =
— i
= ¢ [ & A To @ |
o ‘zo,o‘ 4-94.5 Hol o 27.0 |20.0] \-4{-84.5 Hole o o ——34'0\4¥27¢45Hue
| 61.0 | 68.0 @ 80.5
104.5 107.0
0|
) B
B N
|
o
ElE]
Tiz0
4-61/8
6-G1/4 (P,R—Port)
1205 5,000
P,R1,R2—Port] 6-G1/4 5,000
¢ ) (P,R1,R2—Port) e -
n=sTATION n=STATION n=sTATION
w8 10 12 14 | 8 10 12 14 w8 10 12 14
B | 1360 | 1680 | 2000 | 2320 B [ 1390 1710 | 2030 | 2350 B [ 1360 1680 [ 2000 [ 2320
A 14901810 | 2130 [ 2450 A | 1520 1840 | 2160 | 280 A [1490 1810 [ 2130 | 2450
20-G1/4 2061 /4
(AB—Port) (AB—Part)
1700 1740
—Posi 175.0(3—Position
N 175.0(3—Position) " (. ) —ci/8
o 163.0(Double) | 163.0(Double) | (A=Port)
¢ » T —
=1 =] ZaY B Fait
B B[O P ® ¥
=T = Zan) = B
BT =B :T% [ CT5H ® f
i O P
[ 1= @ ¥
D =8 it
sz = 5 [[OX S 1 =d 3|z ® ¥
213 = =
g2 - 95 DD s i =
HE 56 Hox = 55
g2 ElE g gl2 at
il st WIS ol ! P ®
&l i@ <|@ ik
: 1 |2 s HB
J o e ——
i 9l o £
& 4 ":T% I e
O S
RISSY o 1= i
D) 5 3}
E ] [ 51 1 il
a B +—o =«
o X fi—04.3 Hole o 30.0 ‘ 4-04.3 Hole P [4-24.5 Hole
©l 65.0 <l 710 ol 39.0
30 112.0 120.0 65 91.0

70.0

5—01/4/
(P.R1,R2-Port)

65.0
126.0 5,000
n=STATION
w8 10 12 14
B | 1600 | 1980 [ 2360 | 2740
A | 17302110 2490 [ 287.0

82.0

o ol
9 7S
19.0] 210200
6—@1/4/ —
(P,R1,R2—Port) 130.5 5,000

n=STATION
m~r| 8 10 12 14
B | 1630 [ 201.0 [ 2390 | 277.0
A [1760] 2140 2520 [ 2900

525

4-G1/8 ; 39.0
(P,R—Port)

5,000 ‘

=

98.5
n=STATION
w8 10 12 14
B | 160.0 | 1980 [ 2360 | 2740
A | 17302110 2490 | 287.0







SC:SCE covpacn Series

SC200 SC300

Body Width-10mm Body Width-15mm

Thread-M5, M3 Thread-1/8, M5
SCE300

Body Width-15mm
Thread-1/8, M5

SC400
Body Width-18mm
Thread-1/4, 1/8

SCE400
Body Width-18mm
Thread-1/4, 1/8

ESC200
R SC300
nSC400

e SCE300
nSCE400
R SCESO0O0O

SCE500
Body Width-26mm
Thread-3/8



SCP211D-F5
2 4

SRRIIyARS

315

*x:Voltage Selection (see page 10)

ORDERING NO.

sc2 1 1
I_\

18
4
B/

SC211B-E-L-L—=**
2

i

315

SC271D-F-P-L-xx
2

AN

13

ST
ﬁ]||‘illl
SCZPZGI D-F

AT e

13

SPECIFICATION

SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5, 3Port 2Position 5Port 3Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 20~7.0 25~7.0
Eff. Sectional Area(mi)-5bar 2.3 1.8
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

20ms or Less

30ms or Less

Max. Working Frequency

10c/sec 8c/sec

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

DC:10% or Less

Power Consumption(DC)

Holding-DC: 0.65W (24V:27.0mA/12V:54.0mA)

Transition Capacity Graph

300
R EEEEEE
= 5/2,3/2
E 200 o P ee =
Z 150 e
- L1
S 100 =1

/f"
58 ===
1 2 3 4 5 6 7 8

Pressure (bar)

Spool : Aluminium
Seals : NBR
Spring : Stainless

The Material of Parts
Valve Body : Die-Cast Aluminium m Pilot Parts :

Cap : Zinc Pressure Die-Cast

Glass Filled Nylon
® Armature : Stainless Steel
® Armature Seals : Viton

3Port M5 Bottom Port Plate

Port Plate Ordering Code (Material : Zinc)

g SC200-B

Blanking Plate

SC200-FC5
5-Port ¢4 One-Touch Fitting

SC200-FC3 SC200-E

3-Port ¢4 One-Touch Fitting

External Plate

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

Voltage

Solenoid Coil Type

SC2:

Solenoid Valve

SCP2:

Preumatic Valve

]
Retum Method Port Type Port Plate & Thread Monual Operator
0

YPC

3/2 Normally Open

3-Port @4 One-Touch Fitting
E External End Plate, Plate M3x0.5
B Blanking End Plate

1 5/2 Single 0 None D | Manifold 0 None None 0 None 0 None
2 5/2 Double 1 Air +Spring B | Sub-Base F5 5-Port M5X0.8 P Push L 90 Degree Plug-in Wire D4 | DC 24V
3 | 5/3Closed Center 2 | Ar F3 | 3-Port M5x0.8 Non-Locking Assembly with LED D2 | oo v
4 5/3 Open Center 3 Spring FN5| 5-Port NPT M5X0.8 L Lever Locking M 180 Degree Plug-in Wire

5 5/3 Pressure Center FN3| 3-Port NPT M5x0.8 Assembly with LED

6_ 3/2 Normally Closed FC5| 5-Port 84 One-Touch Fitting

7



Solenoid & Pilot Actuated Spool Valves Port Thread M5, M3

5Port 2Position Solenoid Valve (Manifold) SPort 2Position Solenoid Valve (Sub-Base) SPort 2Position Pneumatic Valve ros
Single Solenoid o 2-MBX0.8(2,4-Port) Single Solenoid Single Pneumatic
SC211D-F5-P-L—** — - Red SC211B-B-P-L-** SCP211D-F5
2 4 | 2 4 2 4
EVIIVA e W<
315 315 315

ED -Manual
o o Button
9w b= —
S EEEIIN ] §
— o|
.

9 2-M3x0.5 }P4.0(back)
~ |4zl |95

Single Pneumatic
60.7 SCP2118-8

66.0 2 4
CANIIVASE
315

Double Solenoid

SC220D-F5-P-L-** Double Pneumatic ‘

2 4 |
) SCP220D-F5
mm Double Solenoid
315 External Pilot

2 4
LVIIVASE
315

SC220B-E~P-M-**

5Port 3Position Solenoid Valve (Manifold) MME%S
315

Closed Center
SC2330-F5-P-M-#+

BPort 3Position Pneumatic Valve

Closed Center 5.5
SCP23385 \ |

5Port 3Position Solenoid Valve (Sub-Base) SN P %

315
Closed Center a0 |
SC2338-B-P-L-*+ Exhaust Center

2 4 4

SCP243B-B

315
Exhaust Center
SC243D-F5-P-M—+=

,‘{>, ,4,
315
Pressure Center
SCP2538-8
2 4

LRVIEHVA.. oA TIIIVALS i SR

315
Exhaust Center
SC2438-8-P—L—++

315
Pressure Center
SC2530-F5-P-M-x+

2 4

315

3Port 2Position Solenoid Valve (Manifold) Pressure Center

i ; SC253B-B-P—L—++ o _
fggg'gfg'iﬁﬁ'd L us0s(-Por) 5 s 3Port 2Position Pneumatic Valve

2 315 Single Pneumatic . 7337&‘ M3x0.5(2—Port)
m Sgpzem T M5x0.8

13

AN
1 3

35.0

Eg’]: Foad = 2—M3x0.5(1,3—Port)
: W
—M3x0.5(1,3—Port) adls 7.0

Manifold Ordering Code
SCB20 SINGLE, DOUBLE MANIFOLD BLOCK —
(SC200 Solenoid & Pneumatic Valve Use)
Manifold Block Dimension
SCB2 0 | None 0 None MO2 | 2-Station
SC20 Solenoid Valve 1 G S Single Station Sub Base, MO04 | 4-Station
2 NPT 1/8 Port Without Pilot Ports ~ MO6 | 6-Station
2 SEER-ELX SCB20-BLK Double Modular D Manifold, Port 1/8 M08 | 8-Station
Blanking Plate Blanking Plate Manifold Block Dimension DB | Double Modular Manifold Block, M10 | 10-Station
@ P=10.5 14.0 M5 Port
s @ o DC4 | Double Modular Manifold Block,
Manifold Gasket Base Gasket Eﬂ 16.8 @4 Fitting
042 Hole B N D3 | Manifold, M5 Port
M3x0.5 ] — / Nl = Without Pilot Ports(3/2Way)
] | o pa
o — o]
g % ‘ jda N 5 a
| g o o
P=10.5 ‘ 14, 1, ﬁ :i 3 -~ ‘ a9
Bk &
[ oy T Loe d Single Station Sub Base
%EM}P?S 1 (1.3.5-Port) (1.35-Port)”| 28151 B Dimension (SCB21-S)
H o 40 || B=(10.5n+9.5) 4.0 60.5
& Ooxe jo A=(10.5n+17.5)
Neoe fi E s DOUBLE MODULAR DIMENSION ST
AR \ 500 @, el 2 4 6 8 10
4-94.2 Hole ATATA A o S A 30.5 51.5 | 72.5 935 | 1145
i 9,0, 915 8 | 385 | 59.5 | 80.5 | 1015 | 1225
| 2,0,9,9,15
P=10.5 __.‘12_9_ u?[
40 || B=(105n+9.5) 4 & /Q’szo»“
A=(10.5n+17.5) . _ . —
Manifold Block Dimension J J o o
5PORT MANIFOLD BLOCK DIMENSION _ 171y 10 155 g S T1Esl A ¥
el 2 4 6 8 10 el
A 305 | 515 | 725 | 935 | 1145 [F1FF 5-G1/8/| EJ_‘ \2,9,34
B | 85 | 595 | 805 | 1015 | 1225 50 AR =R 20
~ /’Z*DIS'S Hole o “ 4-M5x0.8
gsﬁiﬁ P‘B;K n-M5x0.8_ [} g = (=Rt Ordering Code Ordering Code
3PORT MANIFOLD BLOCK DIMENSION _g; 17 0, @mror) N4 3 ECEZERRS ECEZ0aE A
= (s Ik | & Blanking Plate Blanking Plate
e 2 9 g g LY @ Material: STS304) @ (Material: STS304)
A | 285 | 495 | 705 | 915 | 1125 35 || B=(osni7.5) || 35 Manifold Gasket.
B | 355 | 565 | 77.5 | 98.5 | 119.5 Manifold Gasket A=(10.5n+14.5) \, Manifold Gasket. << Base Gasket.
(Material: NBR) S (Material: NBR)




SC300. 1/8

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5, 3Port 2Postion 5Port 3Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~7.0 20~7.0
Eff. Sectional Area(mi)-5bar 9.0 75
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

25ms or Less 35ms or Less

Max. Working Frequency

8c/sec 5c/sec

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

DC:10% or Less

Holding-DC: 0.65W (24V:27.0mA/12V:54.0mA)

Power Consumption(DC)

Transition Capacity Graph

1200
. 1000 ‘ ‘ ‘ ‘ ‘
£ 5/2,3/2
g S0 ——
Z 600 — =
— -
o — L=t
o] 400 -
L ——FT
200 ——
0
1 2 3 4 5 6 7 8

Pressure (bar)

SCQPSSI DO-F

=R

13

The Material of Parts

m Valve Body : Die-Cast Aluminium m Cap : Zinc Pressure Die-Cast
m Spool : Aluminium m Pilot Parts : Glass Filled Nylon
m Seals : NBR ® Armature : Stainless Steel

m Spring : Stainless m Armature Seals : Viton

Port Plate Ordering Code (Material : Zinc)

é SC300-F5

5Port G1/8 Bottom Port Plate

é SC300-F3

3Port G1/8 Bottom Port Plate

SC300-FC5
5-Port $6 One-Touch Fitting

SC300-E
External Plate

3-Port $6 One-Touch Fitting

**:\Voltage Selection (see page 10)

% The specification on each item can be amended without any prenotice to improve a performance.
ORDERING NO.

# The specification on each item can be different from actual specification.
|_\ [ | | | [
|

] ]
Solenoid Coail Type

I—' I_I 1
Retun Method Port Type Port Plate & Thread Monual Operator
0

Voltage

SC3: 1 5/2 Single 0 None D | Manifold 0 None None 0 None 0 None
! 2 5/2 Double 1 Air +8Spring B | Sub-Base F5 | 5-Port G1/8 P Push L 90 Degree Plug-in Wire D4 | DC 24V
Solenaid Valve 3 5/3 Closed Center 2 Air F3 | 3-Port G1/8 Non-Locking Assembly with LED D2 | oc1v
SCP3: 4 5/3 Open Center 3 Spring FN5| 5-Port NPT1/8 L Lever Locking M 180 Degree Plug-in Wire
Prumtc Valve 5 | 5/3 Pressure Center FN3| 3-Port NPT1/8 Assembly with LED
6 3/2 Normally Closed FC5| 5-Port 86 One-Touch Fitting
7 3/2 Normally Open FC3| 3-Port @6 One-Touch Fitting
_ E External End Plate, Plate M5x0.8




Solenoid & Pilot Actuated Spool Valves Port Thread 1/8, M5

5Port 2Position Solenoid Valve (Manifold) SPort 2Position Solenoid Valve (Sub-Base) BPort 2Position Pneumatic Valve o
Single Solenoid Single Solenoid Single Pneumatic >
SC311D-F5-P-L-#* SC3118-0-P-L-** SCP311D-F5
2 4 2 4 g 2 4
SANIIARY SN T Ll barz o SANIIVASS
315 - 315 (Manifold Hole) 315
(Manifold Hole)
Manual
=== w Button o?
i @[ . 79.0 |
P5.0(back) S Single Pneumatic
SCP3118B
2 4
CAVIIVARY
315
Double Pneumatic 805

Double Solenoid

External Pilot
SC320B-E-P-M-#+

Double Solenoid

SCP320D-F5
5C320D-F5-P-L-x+ 2 4
2 4

Eiviiyaxs

315

5Port 3Position Pneumatic Valve

Closed Center
Closed Center - o
SCI3BD—FB-P—Hlrs SPort 3Position Solenoid Valve (Sub-Base) SCP3338

315

5Port 3Position Solenoid Valve (Manifold) L

70.5

24
4 Closed Center SN/ | p—
AL Lk 31 i

SC333B-0-P-L—**
315 2 4

Exhaust Center

il n
Exhaust Center '=HH=H|=='
B86.0

SCP3438

SCB43D-F5-P-H-x 315 2 4
Exhaust Center W
Dt/ SC3438-0-P-L-** 315
315 24 Pressure Center
Pressure Center Mﬂ% 1 SCP3538
SC353D-F5-P-M-#* 315 — 1335 2 4
Pressure Center {W
SC3538-0-P-L-** 315
o ) 3Port 2Position Pneumatic Valve
3Port 2Position Solenoid Valve (Manifold) A RNISE A ol Prouma ——
) . 315 ingle Pneumatic :
Single Solenoid 1291 ~usi0.82-port) scp?em -
SCB61D-F-P-L-*x C'JE’E 5 | M5x0.8
2 ENS :ﬁ,
AN i NI T
2-92.7 13
Bl g[ ||
A4 ‘ 550 2-M5x0.8 (1,3—Port)
—em0 o
2-M5x0.8(1,3—Port) 3
Manifold Ordering Code
SCB30 SINGLE, DOUBLE MANIFOLD BLOCK
. . SCB3 1 - D - M4
(SC300 Solenoid & Pneumatic Valve Use)
Manifold Block Dimension
SCB3 0 None 0 None MO2 | 2-Station
SC300 Solenoid Valve 1 G S Single Station Sub Base, M04 | 4-Station
ggﬁi‘;‘pﬂtK { 505054 Double Modular 2 | NPT 1/4 Port Without Pilot Ports MO0 | 6-Station
ﬁ EEHRFHED Manifold Block Di - D | Manifold, Port 1/4 MO8 | 8-Station
» = an P:‘gcmu . = DB | Double Modular Manifold Block, M10 | 10-Station
- ‘ 1/8 Port
Manifold Gasket t
e e Gl 0o O-G1/4 DC6 | Double Modular Manifold Block,
3_9(“'3‘5%'0 96 Fitting
AenE ! s D3 | Manifold, Port 1/8(3/2Way)
P=16.0 18.5 M5x0.87Y T T
4 & @ @ @/ o -
o < o |
i1 kT
g R soe 0L L I S Single Station Sub Base
.S Hole 3.5-Por 5! ® ) g A
2nc1/6_ (VK S E Dimension (SCB31-S)
@a-ror) Ik il . = E
gl o o 33.0
]l o 3| 65.5
D 6.5 B=[16.0n+11.0] 6.5
() A=[16.0n+24.0]
2610 P=16 14.0
2,4—Port, 2
By L] DOUBLE MODULAR DIMENSION <110
@ @ \@ @*T; ol ] 2 hd ° o 10 2-M3x0.5 2-94.4 Hole
6.5 B=(16.0n+8.0) 6.5 O = A | 430 | 75.0 | 107.0 | 139.0 5 —
T A=(16.0n+21.0) '@. @ @_ @_ B | 56.0 | 88.0 | 120.0 | 152.0 = ¥
P=16.0 ‘ 26.0 | uf o | Ej dq
5PORT MANIFOLD BLOCK DIMENSION | aton X EREES EEE
e 4 6 8 10 - - = L]
Tl Bl
A 40.0 72.0 | 104.0 | 136.0 | 168.0 ManifOId BIOCK DlmeHSIon = [Tl S
8 | 530 | 850 |117.0 [ 149.0 | 181.0 P=16.0 185 !—;—-% 2.9
3PORT MANIFOLD BLOCK DIMENSION . 57 0n SCB36-BLK "MPONN [S [/ BB Ordering Code Ordering Code
T 7 5 3 I Blanking Plate SCB36-BLK SCB30-BLK
1TER = - — [y R B [® / o Blanking Plate Blanking Plate
A 400 | 720 | 1040 ] 1860 | 1680 - ol gld |9 |3 (Material: STS304) (Material: STS304)
8 53.0 85.0 | 117.0 | 149.0 | 181.0
= ﬂ» Manifold Gasket.
ManiioldiGaskat aa B=(16.00+8.0) am <> Manifold Gasket. i‘—— <\ Base Gasket.
“ T _A=(60n+210) ) (Material: NBR) == (Material: NBR)




SC400. 1/4

SPECIFICATION
SERIES SOLENOID, PNEUMATIC

ITEM FUNCTION 5, 3Port 2Position 5Port 3Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~7.0 2.0~7.0
Eff. Sectional Area(mi)-5bar 16.0 12.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
Response Time(5bar) 25ms or Less 35ms or Less
Max. Working Frequency 5c/sec 3c/sec
Lubrication Not Required(Use 1SO VG324 )
Manual Override Push Button(Standard), Lever Lock(Option)
Coil Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage DC:10% or Less
Power Consumption(DC) Holding-DC: 0.65W (24V:27.0mA/12V:54.0mA)

Transition Capacity Graph

£ 1600
E —5/2,3/2 ]
= 1200 —-—5/3 — =
~ —1 o=
s 800 B e g

400—1—= -

0

T2 3 4 5 6 7 &8

Pressure (bar)

The Material of Parts

Valve Body : Die-Cast Aluminium = Cap : Zinc Pressure Die-Cast
Spool @ Aluminium Pilot Parts : Glass Filled Nylon
Seals @ NBR Armature : Stainless Steel
Spring : Stainless Armature Seals : Viton

% SC400-F5

5Port G1/4 Bottom Port Plate

— ] é SCA00-F3
.

3Port G1/4 Bottom Port Plate 3-Port $8 One-Touch Fitting

Port Plate Ordering Code (Material : Zinc)

**:Voltage Selection (see page 10) % The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

ORDERING NO.

o8 (1111 o/ - B - P - Lo

I—' I_I 1
Retun Method Port Type Port Plate & Thread Manual Operator Solenoid Coil Type Voltage
0

SC3: 1 5/2 Single 0 None D | Manifold 0 None None 0 None 0 None
! 2 5/2 Double 1 Air +8Spring B | Sub-Base F5 | 5-Port G1/4 P Push L 90 Degree Plug-in Wire D4 | DC 24V
Solenaid Valve 3 5/3 Closed Center 2 Air F3 | 3-Port G1/4 Non-Locking Assembly with LED D2 | oc1v
SCP3: 4 5/3 Open Center 3 Spring FN5| 5-Port NPT1/4 L Lever Locking M 180 Degree Plug-in Wire
Prumtc Valve 5 | 5/3 Pressure Center FN3| 3-Port NPTI/4 Assembly with LED
6 3/2 Normally Closed FC5| 5-Port 88 One-Touch Fitting
7 3/2 Normally Open FC3| 3-Port @8 One-Touch Fitting
_ E External End Plate, Plate M5x0.8




Solenoid & Pilot Actuated Spool Valves

Port Thread 1/4,1/8

BPort 2Position Solenoid Valve (Manifold)

Single Solenoid

2- 61/4(2,4Port)

140 42.0
SC411D-F5-P-L—*x f Red
p
AN IVAMS K '
o 255 |19.0 2-04.2 Hole Bk
5 (Manifold Hole)
&
T + = Th—
ol i o
2 2 of B [ i
NESI m B H 3
(- | N
M zss Tras] Ny DPF.0(back)
82.5
104.0

Double Solenoid
r

ort)

5Port 2Position Solenoid Valve (Sub-Base)

Single Solenoid
SC4118-0-P-L-+x
2

Manual
Button

Double Solenoid

5C420D-F5-P-L—+x
2 4 External Pilot
e NIIA 5C4208-E-P-M-++
2 4
315 115.0 ; 7
138.0 T T

5Port 3Position Solenoid Valve (Manifold)

Closed Center
SC433D-F-P-M-*x

315
Exhaust Center
SC443D-F5_P-h-1x

i

=
122.0 SC4438-0-P-L-*x B
b 144.0 2 4 cr < SCP4538
3| 2 4
Pressure Center : VMEN .
SC453D-F5-P-M-+= 315 ’@@ s 315 ¢
274 Pressure Center
S04588-0-P-L=xx e 3Port 2Position Pneumatic Valve
o1 . ' BN T A, ' Single Pneumatic
3Port 2Position Solenoid Valve (Manifold) l 5k l SCP41D
Single Solenoid 28.0 G1/8(2—Port) 2
SC461D-F-P~L—++
: AT}
CANIE v
13
SCB40 SINGLE, DOUBLE MANIFOLD BLOCK Hantiow) Qrderns
)
(SC400 Solenoid & Pneumatic Valve Use) sScB4 1 - D - MNo4
Manifold Block Dimension
Double Modular SCB3 0 | None 0 |None M2 | 2-Station
Manifold Block Dimension | _St40Soewid ee 1 | G S | singe Station Sub Base, ~ _MO04 | 4-Station
SCB40-BLK 2 | NPT 1/4 Port Without Pilot Ports ~ M06 | 6-Station
Blanking Plate D | Manifold, Port 1/4 MO8 | 8-Station
27.4
@% T DB | Double Modular Manifold Block, M10 | 10-Station
SSS=g w0 1/4 Port
@ %r(«s,s—w DC8 | Double Modular Manifold Block,
4—94.3 Hols [ it
98 Fitting
o { = -
I R E D3 | Manifold, Port 1/8 (3/2Way)
9 = M
P=19.0,_20.0 60.0 8 H JT 9 ;
I — _ O Single Station Sub Base
ey [ k E Dimension (SCB41-S)
(2""%"3 B hd© 4-04.3 Holg ngg/—‘;on) 170 S
1 ! 38.0
@ GZ o 4 77.0
Q} 4 = | 6. B=[19.0n+11.0] ..
> < { . A=[19.0n+24.0] 6s
I\S! = Ei 2n—G1/4 P=19.014.3
@ (1,3-Port)
L E N Double Modular Sub Base Dimention 4-64.3 Hole e
I % é Ja W 2 4 6 8 10 I
jE @ @ 3‘\ “ EE B | 49.0 | 87.0 | 125.0( 163.0 | 201.0 7 @
@ @ ga A OC” A 62.0 [100.0 [ 138.0 [ 176.0 | 214.0 —
6.5 B=(19.0n+8.0) 6.5 o ol o o
A=(19.0n+21.0) pP=19.0. 267 g 1( @7 < o 8|
Manifold Block Dimension gl
5Port Manifold Block Dimention . i — £ gri |
e 2 4 6 8 10 =+l [F] [= 5-61/4_/I0.g ‘ 1
B | 46.0 | 840 |122.0| 160.0| 188.0 e 4-c1/8 Gz |ma
A | se.0 | 97.0 [135.0 [ 173.0] 211.0 (Qipuﬁ) rIUEIUES ot Hore (1,3-Part)
3 E on A
. RIS S - L1 I° < Ordering Code Ordering Code
Port Manifold Block Dimenti P SCB46-BLK o o RIS <
Spor az"' owa 4°° ':e" '°: S Blanking Piate D DD | 8] g a3 SCB46-BLK SCB40-BLK
ITE = & Blanking Plate Blanking Plate
8 | 40 | 840 |1220] 1600|1880 L S SIS £ o (Material : STS304) @ (Material : STS304)
A [ 50.0 | 97.0 [135.0 | 173.0| 211.0 P e o UIA . i 5> Manifold Gasket.
Manifold Gesket &> 5=(19.01721.0) == 520 70 Manifold Gasket. Base Gasket.
(Material : NBR) <& (Material : NBR)

nn

T

15.0 ‘
132.0

SPort 3Position Solehoid Valve (Sub-Base)

Closed Center
SC4338-0-P-L-*+
2 4

Exhaust Center

BPort 2Position Pneumatic Valve

Single Pneumatic
SCP411D-F5
2 4

LANIARS
315

Single Pneumatic
SCP4118

Double Pneumatic
SCP420D-F5

2 4
M7z
315

SPort 3Position Pneumatic Valve

Closed Center
SCP4338 2

ST m

315
Exhaust Center
SCP4438

2

4

31
Pressure %enter

it




SCE300.1/8

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5, 3Port 2Postion 5Port 3Postion
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 20~10.0
Eff. Sectional Area(mi)-5bar 95 75
Ambient & Fluid Temp. 5~60°C (41~140°F)
Response Time(5bar) 25ms or Less 35ms or Less
Max. Working Frequency 8c/sec 5c/sec
Lubrication Not Required(Use 1SO VG324 )
Manual Override Push Button(Standard), Lever Lock(Option)
Coil Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage AC:20% or Less / DC:10% or Less
Power Consumption Holding-AC:3.5VA(60Hz) / DC:2.5W
Transition Capacity Graph
1200
o —
§ 600 — f__—j:/-""-——-
R —
0 1 2 3 4 5 6 7 ‘8 | ‘9 | ‘10
Pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
m Spool @ Aluminium ® Armature : Stainless Steel
m Seals : NBR ® Armature Seals : Viton
m Spring : Stainless
m Cap : Zinc Pressure Die-Cast
Port Plate Ordering Code (Material : Zinc)
£
SCZE wa 10-F8 ?ﬁfﬂoﬁxs Bottom Port Plate gi:zggiizsonefmuch Fitting Eftaeor?v: Plate
**: Voltage Selection (see page 80) SC300-F3 s SC300-FC3
3Port G1/8 Bottom Port Plate 3-Port $6 One-Touch Fitting

x The specification on each item can be amended without any prenotice to improve a performance.

ORDERING NO. % The specification on each item can be different from actual specification.

= HHE-H-H-lN-IH-B

| | |
| IJ ] ] ] I_I
Retum Method Port Type Port Piate & Thread || Manual Operator Solenoid Coil Type Connector Type Voltage
0 0 0 0

SCE3: 1 5/2 Single 0 | None D [ Manifold None None 0 | None None None
Solenold vlalve 2 5/2 Double 1 Air +Spring B | Sub-Base F5 | 5-Port G1/8 P Push SC1| 3 Pin Connector Coil CN1| Normal Connector A2 | AC 220V
3 5/3 Closed Center 2 Air F3 | 3-Port GI/8 Non-Locking ~ SG1| Grommet/Flying Leads CD1| Connector With LED Al | AC 110V
SCEP3 . 4 5/3 Open Center 3 Spring FN5| 5-Port NPT1/8 L Lever Locking  SD1| Grommet/Flying Leads CZ1| Connector With LED ~ A4 | AC 24V
o 5 5/3 Pressure Center FN3| 3-Port NPT1/8 With LED & Surge Suppressor D4 | DC 24V
Preuritic e 5372 Normally Closea 5| 5-Port 96 Ore-Toueh Fiing SLT | 90 Degree Plug-n Wire D2 | nc v
7| 3/2 Normally Open FC3| 3Put 96 One-Touen Fiting Assembly with LED _
- E | Eema tnd Pate, SM1| 180 Degree Plug-in Wire

Plate M5x0.8 Assembly with LED
1 5) -



Solenoid & Pilot Actuated Spool Valves

Port Thread 1/8, M5

SPort 2Position Solenoid Valve (Manifold)

Single Solenoid o
SCEB11D-F5-P-SD1-#*
2 4

A L

315

2-93.2 Hole
(Manifold Hole)

33.5

+ 4
Tt

22.0 13,5 \_2-M3x0.5 DP&|0(bock)
102.7

Double Solenoid
SCEB20D-F5-P-SM1—**

2 4
A Ll
315

BPort 3Position Solenoid Valve (Manifold)

Closed Center
SCE3IAD_FH-P-SLI-t

139.5

315
Exhaust Center
SCEB43DF5-P-SL1-+x

EEEEES NN

‘ 1580 |

315
Pressure Center
SCEB530-F5-P-SL1-#+

315

3Port 2Position Solenoid Valve (Manifold)

Single Solenoid JLQ‘ M5x0.8(2—Part)
SCE361D-F-P-SM1—* R [ 0
> Ertple=
14.5| B.5

SPort 2Position Solenoid Valve (Sub-Base)

Single Solenoid
SCE311B-0-P-SC1-CN1-#
2 4

A L

315

23.0

(Manifold Hale)

0 156.0

106.5 mTLLT.D
0
— |
]
ai
102.7 ‘

Double Solenoid

External Pilot
SCE320B-E-P-SC1-CN1-+x
2 4

o

SPort 2Position Pneumatic Valve

Single Pneumatic
SCEP311D-F5

2 4
M7
315

Single Pneumatic

SCEP3118
2 4
LANIvARY
315

Double Pneumatic
SCEP320D-F5

2 4
M Iz

315

SPort 3Position Pneumatic Valve

315 g

SPort 3Position Solenoid Valve (Sub-Base)

Closed Center
SCE333B-0-P-SC1-CN1-x

mex10.0

166.0

mox10.0

315

Exhaust Center
SCE3438-0_P-SC1-CN1-x

T T

STE\
Pressure Center

SCE353B-0-P-SC1-CN1-#*
4

315

Closed Center ‘L‘
SCEP3338

4 ] I

AV PAT -

315 ‘ ‘

. s0 |

Exhaust Center

SCEP3438

2 4

315
Pressure Center
SCEP3538

2 4

315

3Port 2Position Pneumatic Valve

2
AT
13

Single Pneumatic

SCEP361D M5x0.8 (2-Port)

M5x0.8

g g]
\%‘
2-M5x0.8 (1,3—Port)
g
_bsd_[ 110
SCB30 SINGLE, DOUBLE MANIFOLD BLOCK Martiold Ordering Sode
30 ,DOU
(SCE300 Solenoid & Pneumatic Valve Use) SCB3 1 - D - Mo
Manifold Block Dimension
SCB3 0 | None 0 None M02 [ 2-Station
SC300 Solenoid Valve 1 Single Station Sub Base, MO04 | 4-Station
Double Modular 2 | NPT 1/4 Port Without Pilot Ports ~ M06 | 6-Station
@ Y Manifold Block Dimension D Manifold, Port 1/4 M08 | 8-Station
P SCB30-BLK f s0830-BLK DB | Double Modular Manifold Block, M10 [ 10-Station
Blanking Plate Blanking Plate =16.0_20.0 1/8 Port
g 2 g 2 TITC
‘_‘,-9 DC6 | Double Modular Manifold Block,
"o AN o
Manifold Gasket Base Gasket ] #6 Fitting
. D3 | Manifold, Port 1/8 (3/2Way)
—16.0_18.5 Max0.8 /“’”5 Ll (1,3.5-Port)
‘H\HH\H . ‘C ‘@ E - -
$ . S Single Station Sub Base
o 9 = -
g,,, Dol E Dimension (SCB31-S)
L. 6-G1/4 D! (® of
(fosw/g 4‘7 | 4-84.5 Hole [ el (1,3,5{Por() 2 7;3‘ IS
N E ;%
®
o
N4
&
NSNS STl Double Modular Sub Base Dimention
e S~ B B N B
B 43.0 | 75.0 [ 107.0| 139.0| 171.0
fermats P=16.014.0 A | 56.0 | BB.O | 120.0 152.0 | 184.0
—
I 1 o
[imimmi il @‘QQA@A E;; A
y B=(16.0n+8.0) N P=16,0 18.5 9
e A=(16.0n+21.0) £ @ @ @' @'
{0 (i ol | 20| )
| | | - ~N| . - 5-G1/4.
5Pl:fl M:nlfuld Block Dimention . I R R Manifold Block Dimension 2345
178} 4 6 8 10 T
B 40.0 | 72.0 [104.0 | 136.0 | 168.0 s E“\i;;léirt)
A | 53.0 | 85.0 [117.0 [149.0| 181.0 M5x0.8, Hole
=i - Ordering code Ordering Code
SCB36-8LK SCB36-BLK SCB30-BLK
3Port Manifold Block Dimention &% s oO@ 2 BErt e Fe Rt FEE Blanking Plate
STz ]+ e & }‘ ‘}‘ }‘ Ll ‘ <& (Material : ST5304) @ (Material : ST5304)
B | 40.0 | 72.0 | 104.0 | 136.0| 168.0 B=(6.0n75.0) v i ” i . a» Manifold Gasket.
A | 53.0 | 85.0 [117.0 | 148.0 | 181.0 A=(16.0n+21.0) o 71.0 "ﬂ"‘ Manifold Gasket Manifold Gasket Base Gasket.

(Material : NBR) (Material : NBR)




SCE4A400.1/4

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5, 3Port 2Postion 5Port 3Postion
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 20~10.0
Eff. Sectional Area(mi)-5bar 16.0 12.0
Ambient & Fluid Temp. 5~60°C (41~140°F)

Response Time(5bar)

25ms or Less 35ms or Less

Max. Working Frequency

5c/sec 3c/sec

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC:3.5VA(60Hz) / DC:2.5W

Transition Capacity Graph

2000 -
S 1600 T =
£ [ —
> 1200 — ==
~ // T =
5 800 T 5/2.3/2 ||
400 —1— = —-—5/3 |
0 I
1 2 3 4 5 6 7 B 9 10

Pressure (bar)

Spool : Aluminium
Seals : NBR
Spring : Stainless

The Material of Parts
Valve Body : Die-Cast Aluminium = Pilot Parts :

Cap : Zinc Pressure Die-Cast

Glass Filled Nylon
® Armature : Stainless Steel
® Armature Seals : Viton

g SC400-F5

SPort G1/4 Bottom Port Plate

2 4

4
315
SC400-F3

*x:Voltage Selection (see page 80) St o s bort 7
ort ottom Port Plate

Port Plate Ordering Code (Material : Zinc)

SC400-E
External Plate

SC400-FC3
3-Port $8 One-Touch Fitting

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

EEN-H-H-N-=-BE

ORDERING NO.

SCE4 1
|

| | |
IJ 1 1 I_l |_\

]
ort Plote & Thread Manual Operator Solenoid Coil Type Connector Type Voltage
0 0 0

P
SCE4: 1 5/2 Single 0 None D [ Manifold 0 None None 0 None None None
Soenaid vlalve 2 5/2 Double 1 Air +Spring B | Sub-Base F5 5-Port G1/4 P Push SC1| 3 Pin Connector Coil CNT| Normal Connector A2 | AC 220v
3 5/3 Closed Center 2 Air F3 | 3-Port G1/4 Non-Locking ~ SG1| Grommet/Flying Leads CDI1| Connector With LED Al [ AC 110V
SCEP4 4 5/3 Open Center 3 Spring FN5 | 5-Port NPT1/4 L Lever Locking  SD1| Grommet/Flying Leads CZ1| Connector With LED A4 | AC 24V
o 5 5/3 Pressure Center FN3 | 3-Port NPT1/4 With LED & Surge Suppressor D4 | oc v
Preumete Ve T 2 Normally Closed 'FC5 | 5-Port 98 One-Touen Fiting SLT| %0 Degree Plug-in Wire D2 | oC 12V
7| 3/2 Normally Open FC3 | 5ot 08 One-Tou Fiting Assembly with LED —
E External End Plate, SM1| 180 Degree Plug-in Wire
| Plate M5x0.8 Assembly with LED




Solenoid & Pilot Actuated Spool Valves

Port Thread 1/4,1/8

SPort 2Position Solenoid Valve (Manifold)

Single Solenoid AM‘.A
SCE411D-F5-P-SG1—** |

3-G1/4(2.4-Port)
|

o d
2 4 EIE ]
Wi |
315 (Manifold Hole)
] 4
TH T T -‘\
2 4|
7l o of )
NEEE ‘ ‘ Y E
; [HNI i
255 ‘.‘9_5.‘ 2-M4x0.7 DP.0(back)
116.2

Double Solenoid

SCE420D-F5-P-SM1—*x

2-61/8(3,5-Port)
G1/4(1-Port)

o, ,
= ﬁ@‘\ TR
e\ [ L o= 3

163.0

5Port 3Position Solenoid Valve (Manifold)

Closed Center
SCE4330D-F5-P-SLi-+x

T I T T Tl T 157.0
315
Exhaust Center
SCE443D-F5-P-SL1-*x Py
2 4 % T o
— B
315 ‘ Al
Pressure Center 175.0

SCE453D-F5-P-SL1-#
2%

315

3Port 2Position Solenoid valz\gg [Manifold)

G1/8(2-Port)

Single Solenoid
SCE461D-F-P-SM1—**
2

SCB40 SINGLE, DOUBLE MANIFOLD BLOCK

(SCE400 Solenoid & Pneumatic Valve Use)
Manifold Block Dimension

SPort 2Position Solenoid Valve (Sub-Base)

Single Solenoid
SCE411B-0-P-SC1-CN1-**

NI RS

315

2-94.2 Hole
(Manifold Hole)

120.0

31.0
27.2

max1Q.
Double Solenoid | |
External Pilot

SPort 2Position Pneumatic Valve

Single Pneumatic
SCEZPAQWDf%

CANITARY
315

Single Pneumatic
SCEP4118
2 4

ANITARY
315

Double Pneumatic EE—
SCEP420D-F5 ‘ ‘
2 4 }

ST« i
315

SCE420B-E-P-SC1-CN1-**
2 4 86.0
mﬂﬂmgg 5Port 3Position Pneumatic Valve
315 Closed Center
b SCEP43382 4 I 82.0 |
5Port 3Position Solenoid Valve (Sub-Base) SN
Closed Center 315
SCEA338.0_P-5C1-CHI-++ Exhaust Center ‘ ‘
agm mg 1‘0.0 182.5 mn‘xWOvO SCEPMSBQ 4 eet
315
Exhaust Center 315
SCE4438-0-P-SC1-CN1—** Pressure Center
2 4 o
2 SCEP4538, ,
Pressure Center DYe j 315
SCE4538;0,P-SC1-CN1-xx 750 3Port 2Position Pneumatic Valve
H § L f l {F% . . 254 /61/8(2—por)
T Single Pneumatic | | N5x0.8
¢
SCEP46ID 1 ey «\-@fﬁt
SANINEE S
13 p—
ER
59.0 ‘
2-G1/8 (1,3—Port)
Manifold Ordering Code

B4

SCl
,—l

1 - D - Mo4

'_l

M Ii’flzerl ul:rD_ - SCB4 0 None 0 None MO2 | 2-Station
p Man oCcK DIMensIion| sy spnoig vave 1 | G S | Singe Station Sub Base,  MO04 | 4-Station
2 | NPT 1/4 Port Without Pilot Ports ~ M06 | 6-Station
D Manifold, Port 1/4 MO8 [ 8-Station
SEFBAO’BFK p=19.0_210 DB | Double Modular Manifold Block, M10 | 10-Station
lanking Plate | —_—
@ ® _ 1/4 Port
DC8 | Double Modular Manifold Block,
Base Gasket 98 Fitting
20.0
150), o 01/ D3 | Manifold, Port 1/8 (3/2Way)
4—@4.3|Hole (1,3,5-Port)
I o
B EENCACATYIR AT A . .
= % ® T (. k E Single Station Sub Base
= - -
\ Jel ] LA Dv1<  Dimension (SCB41-S)
F ) @ | Y
o 155 6/ PR Do 3‘ E iE
24.3 Hole [ 2
o= < 17.0
B 38.0
050
=
g
) Double Modular Sub Base Dimention
O o
B=[19.0n+11.0] 65 me 2 4 6 8 10 2-M4x0.7
A=[19.0n+24.0] B | 49.0 | 87.0 [ 125.0( 163.0| 201.0
2n-G1/4 P=19.014.3 A 62.0 [ 100.0 | 138.0 | 176.0 | 214.0
(2.4—Port)
FEE g EE
B8 ZEE 9 i
EE
=
E
6.5 8.5
A=(19.0n+21.0) - 5—@1/4¢ .5
Manifold Block Dimension (1.2.3,45~Pert)
5Port Manifold Block Dimention i
| 2 6 8 10
= 48.0 B:D 122.0 | 160.0| 198.0 (E’S‘/{‘ iﬁ 2=CalEte
X 0] 160.0] 1880 (3_pon T
A | 59.0 | 97.0 |135.0 | 173.0 | 211.0 b ) [ SCB46-BLK Ordering Code Ordering Code
o Blanking Plate SCB46-BLK SCB40-BLK
3Port Manifold Block Dimention ® ME Blanking Plate Blanking Plate
STz s sw IERCRERE ; (Material : STS304) (Material : STS304)
O O Manifold Gasket n - => Manifold Gasket.
5 [ #60 [eao [20[woo[1e80 ey o Manifold Gasket. Base Gasket,
A | &0 || fr [|lE | i 6o B=(19.0n+21.0) (Material : NBR) @ (Material : NBR)




SCES00. 3/8

SPECIFICATION

SERIES SOLENOID, PNEUMATIC

ITEM FUNCTION | 5, 3 Port 2 Position 5 Port 3 Position

Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Sectional Area(mi)-5bar 40.0 30.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
Response Time(5bar) 30ms or Less 40ms or Less
Max. Working Frequency 5c/sec 3c/sec
Lubrication Not Required(Use 1SO VG324 )
Manual Override Push Button(Standard), Lever Lock(Option)
Coil Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage AC:20% or Less / DC:10% or Less
Power Consumption Holding-AC :5.5VA(60Hz) / DC:2.5W

Transition Capacity Graph
4000 I T T
3500
3000 :
2500 . ; i

R
i

1500 :
1000 : =1

500

Qn( ¢ /min
g
‘\
\
\\
3
IT

-
)
w
ES
< .-
@
~
©
S

pressure{bar)

The Material of Parts

m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
m Spool @ Aluminium ® Armature : Stainless Steel

m Seals : NBR ® Armature Seals : Viton

m Spring : Stainless

m Cap : Zinc Pressure Die-Cast

Port Plate Ordering Code (Material : Zinc)

)
S
&k
5C500+F5 5C500-FC5 5C500-B

N

L —
S=

CEP533B-F D SPort G3/8 Bottom Port Plate 5Port @0 One-touch Fitting Blanking Plate

2 4
[ARVIEEIVALS =
SC500-F3 csoo—Fca 50500 £
-500-F ¢ com Port Plat ?s/ 10 One—touch F Exlarna. Plal
«x: Voltage Selection (see page 80) 3Fort 63.8 Botton Port Plate 3Port @10 One—touch Filting Buierra: Plate

% The specification on each item can be amended without any prenotice to improve a performance.

ORDERING No_ % The specification on each item can be different from actual specification.

sces (41 (¥ 18] - [F - b - 5e2 - (o - o4

8

| .

| |
Retum Method Port Type Port Plate &Thread | Manual Operator Solenoid Coil Type Connector Type Voltage
0 0

SCE5 1 5/2 Single 0 None D[ Manifld F [ @38 0 | None 0 None None None
Solenoid Vlalve 2 5/2 Double 1 Air +Spring B | Sub-Base FN | NPT 3/8 P Push SC2| 3 Pin Connector Coil CN2| Normal Connector A2 | AC 220v
3 5/3 Closed Center 2 Air FC | #10 One-Touch Non-Locking ~ SG2| Grommet/Flying Leads CD2| Connector With LED Al [ AC 110V
SCEP5 4 5/3 Open Center 3 Spring Fitting L | Lever Locking SD2| Grommet/Flying Leads CZz2| Connector With LED A4 | AC 24V
o 5 5/3 Pressure Center B Blanking End Plate With LED & Surge Suppressor D4 | DC 24v
Preumatic Valve P e — P e —
6 3/2 Normally Closed E External End Plate, D2 | DC 12V
7 3/2 Normally Open Plate M5x08




Solenoid & Pilot Actuated Spool Valves Port Thread 3/8

5Port 2Position Solenoid Valve (Manifold) SPort 2Position Solenoid Valve (Sub-Base) BPort 2Position Pneumatic Valve
Single Solenoid Single Solenoid 150 ss0 2-04.5 Hole Single Pneumatic
SCE511D-B-P-SD2-#* 150 56.0 (Zr;:‘"“,‘-f;:j;e) SCE5118-B-P-SC2-CN2-+x | /7~ (Manifold Hole) SCEP5118-F
2 ¢ ‘ + g S = “
RNIIDAES d = BB
315 315
30.5 ‘.25_»0. 145.5 max10.0 0
5
Push|Button Override ‘ ‘7
7 Il Lever|Lacking Ovemde\m rﬁ»
) 5 L S } | §
EEE J EE ERE \Mj
= I ’ g
P
3 | i@@jj E
p
141.5
Single Pneumatic N
SCEP5118-8 E
2 4

169.0 max10.0 205.0 max10.0 315

ﬂ ﬂ ‘ ‘7 103.0
. H M5x0.8
Double Solenoid Double Solenoid @* A *ﬁ‘ o
SCE520B-F-P-SG2-++ External Pilot Wi [] g ® ; e
sc&zszga—E—P—scz»ch—u [ 8 Double Pneumatic ‘
I}

a3 SCEP5208-F
ol T2l iof R SAY{IAT i
' - 315

44.0

515 |

SN

108.0
5Port 3Position Solenoid Valve (Manifold) SPort 3Position Solenoid Valve (Sub-Base! 5Port 3Position Pneumatic Valve
Closed Center Closed Center Closed Center
SCE5338-F-P-SG2-** SCE5338-8-P-SC2-CN2—+x SCEP532B-B

24 2 4 121.0
315 315 ‘ ‘ ‘ ‘7 315
Exhaust Center [ i Exhaust Center % ﬁ Exhaust Center
SCE54386-P-5C2-ON2-++ . SOEP5A28-B

39.5

SCE543B-F-P-SG2-#*

| LHE — g 1 ]
1 eI
315 315 3156 133.0
Pressure Center - Pressure Center Pressure Center
SCE5538-F-P-SG2-*+ 210.5 SCE5538-B-P-SC2-CN2-xx os SCEP5508-8
2 4 2 4 b 2 4
315 315 315

SCB50 SINGLE, DOUBLE MANIFOLD BLOCK Manifold Ordering Code

(SCE500 Solenoid & Pneumatic Valve Use) SCB5 1 - D - Mo4
Manifold Block Dimension | J, ' L L
SOB50-BLK SCB5 0 | None 0 None MO02 | 2-Station
Blanking Plate SCES00 Solenaid Vale 1 | G s Single Station Sub Base, MO4 | 4-Station
snkino plate Gasket DOUDIE Mod_ular . 2 [NPT 3/8 Port Without Pilot Ports  M06 | 6-Station
S0B51-D-t04 Sub Base Dimension D | Manifold, Port 3/8 M08 | 8-Station
Menifold Block R iy Double Modular Sub Base, ~ M10 | 10-Station
o DB | 3/8 Port Without Pilot Ports
Double Modular Sub Base,
DC10| ¢ 10 Fitting
|re=natien End Cover, 3/8 Port
17 J E End Blanking Cover
NCoREm g &
’j E B4 B
3 ?ﬁmr o
j “ & “L ER
e
g i Sar
Tl & e W S
i I (| E‘ﬁ‘ Double Modular Sub Base Dimention
23.8, \3fG)/E TER 5 2 4 [ 8 10
250 8 | 83.0 [ 137.0 191.0] 245.0| 299.0
4B.6
114.6 A 91.0 | 145.0 | 199.0 | 253.0 | 307.0
40 B=(27.0n+29.0) 40
[ A=(27.0n+37.0) Ordering Code
< SCB50-BLK
;D 94.0 P=27.0,_34.0 @ (Bp\Aank'mg‘ Péatgso )
i e aterial: STS304)
SPort Manifold Block n=STATION
2| 2| =) Manifold Gasket.
p=27.0|_27.0 | 29.0 N 4 6 8 10 (a\V/a\i7a\V7a Base Gasket
6.0 B8=(27.50+16.5) 60 B | 71.5 [ 1265|1815 | 2365 | 2915 ® ® E ORI <SS Material: NBR)
A=(27.5+26.5) A | 835 | 13851935 | 2485 | 303.5 NSRS NS —o—
285 ) @ Ordering Code
= = 145 50.0 2n—-G3/8 | ( SCB51-E
Slngle Station 5 20.0 2-84.3 Hole 145 : =
[ S
L / [ B End Cover, 3/8
Base Gasket (Material: Al)
o
3 A ERS g Ordering Code Ordering Code Ordering Code
SCB50-DC10 B SCB51-08 SCB50-E8
ouble Modular
o b B
L b e e Double Modular End Blanking
T ¢ fitting Sub Base, 3/8 Cowr
5-63/8 (Material: Al) (Material: Al) HEEDh ()
(1,2,3,4,5-Part) 2-M4x0.7 DPB.O







S N (NAMUR) Series

E SN3000
" SN4000

SN3000 SN4000
Body Width-23mm Body Width-30mm
Thread-1/4 Thread-1/4



SN3000. 1/4

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Sectional Area(mi)-5bar 18.0 12.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
Response Time(5bar) 30ms or Less 40ms or Less
Max. Working Frequency 5c/sec 3c/sec
Lubrication Not Required(Use I1SO VG32#)
Manual Override Push Button(Standard), Lever Lock(Option)
Coil Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage AC:20% or Less / DC:10% or Less
Power Consumption Holding-AC :5.5VA(60Hz) / DC:2.5W
Transition Capacity Graph
2000 :
_. 1600 ’ — /i/,/,J
(= P
£ 1200 — -
T 80 B e
a 400 e —s)2
T e 513 ﬁ
0 S S S f—
1 2 3 4 5 6 7 8 9 10
pressure(bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
m Spool : Aluminium m Armature : Stainless Steel
m Seals : NBR ® Armature Seals : Viton
m Spring : Stainless
m Cap : Zinc Pressure Die-Cast

Ex-Proof cort

Metal Connector 3Port Blanking Ring
(Material:ZnDC) (Material :Al)
CNM2 SN3000-BLK

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

ORDERING NO.

«~HEN-EN-IN-IN-B

| | | |
| I I I I I
PortSize & Tnread | Retum Method [§  Int/Ext. Pilot | Manual Operator i Solenoid Coil Type Connector Type Voltage
0 0

N3 1| 5/2 Singe 0 [ci/ 0| None I [internal Pt 0 [ None None 0 [ None None
Solenoid‘ valve 2 | 5/2 Double 1 | NPT 1/4 1 | Air+Spring P | Push SC2| 3 Pin Connector Coil CN2 [ Normal Connector A2 | AC 220v
3 | 5/3 Closed Center 2 |Ar | Non-Locking SG2 | Grommet/Flying CD2 | Connector With LED Al | AC 110V
4 | 5/3 Open Center 3 | Spring L | Lever Locking Leads CZ2 | Connector With LED & Surge A4 | AC 24V
SNP3 : 5_ 5/3 Pressure Center _ SD2| Grommet/Flying Suppressor W DC 24v
Preumatic Valve _ Leads With LED Oz Metal Connector D2 | e T2V
CDM2| Metal Connector With LED
C2MZ | Metal Connector With LED &

Surge Suppressor
YPC



Solenoid & Pilot Actuated Spool Valves

Namur

Port Thread 1/4

5Port 2Position Solenoid Valve 5Port 2Position Pneumatic Valve
Single Solenoid 4-05.5 Hole Single Pneumatic
SN3101-IL-SD2- = L . SNP3101
2 4 ¥ ’» 2 4 4-05.5 Hole
g T = A7+ ¥ a
315 A 315 Y ¥ 4—‘
D= 3
b
27.0 ‘ 240 ‘ E J
22.0 9.5
[ — 27.0 | 240
o Y o
T
2.0 9.5
: [
E
Lever Locking Override pt
or Manual Button 8| o o 0 o
2-65.5 DP3.5. b by z‘] H W ‘\t‘ ‘ &
2-65.5 DP3.5
)
g < 9
AEE e i D SR
_ ol 9 B\ (e a
ER AN S 9
2 T T 4 |
135.0 ¥ [
27.0 24.0
do Il AN a1 i a0
il :[J\%':LM
16.5 450 3-G1/4(1,3,5-Port) 1.0 ci/s
donlh A A W/
-t £
148.0 Thread 1/2
SN3101-IL-8C2-CNM2-#= Lever Locking Override 16.5 45.0 3Gl /4(1,3,5-Part)
2 4 or Manual Button 9 o
315 A
s |
% g
) o
EE RS — 1 4
o |0 .
Double Pneumatic NP4
270 | 240
SNP3200 - B Ava:S -
135.0, 2 4 RZANS
2z S 4
EVIARE | Bad |
315 15.0
Double Solenoid 2185
SN3200-IL-SC2-CNM2-+**
M T
315 ﬂ Jm]—
a4
P
FAVAS
R7AN S
| 2 R (b A 4 ||
191.5
- . 5Port 3Position Pneumatic Valve
SPort 3Position Solenoid Valve N -
Closed Center Closed Center [ Y [ ]
231.5 FyeS
SN3303-IL-SC2-CNM2-+= SNP3303 RN
2 4 2 4
T 2 R TR 4
AL AP 11 ST L & -+
315 315
|  E— 128.0
Exhaust Center
= m Exhaust Center
SN3403-IL-SC2-CNM2-+= BV SNP3403
2 4 . iﬁ ﬁétiii ~ 2 4
SO O ST PN
315 2 by ¢ . 315 i Y g Y Y|
Pressure Center 204.5 Pressure Center
SN3503-1L-SC2-CHM2—* SNP3503 1160
2 4 2 4
315 315

Sealing Part Dimension
6.0
T N (%r 3
PW\Y/
21.0 ‘
24.0
Sealing Area

35

(Material : Al)

3-Port Blanking Part

SN3000-BLK

10.0 Hole #10.0 DP7.0 M5x0.8
3] .
o o o \ % o
I == o
5| s § | ) ¥
@ O
f
By 24.0 AU‘
70.0

Single Acting Use Plate

SN3000-Plate

Metal Connector (Material : ZnDC)

Thread 1/2

24.0
33.0

21.0

CNM2




SN4000. 1/4

ORDERING NO.

s 41 [0 (41 (1] B - &

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Sectional Area(mi)-5bar 32.0 16.0
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

30ms or Less 40ms or Less

Max. Working Frequency

5c/sec 3c/sec

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC :5.5VA(60Hz) / DC:2.5W

Transition Capacity Graph

5000
= 4000 F— /2
€ ——— 573 ‘ e
= 3000 —— p
T 2000 ] =
e /// b = T -
1000 = o ] =T
//.- =
0
1 2 3 4 5 6 7 8 9 10
pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
m Spool : Aluminium m Armature : Stainless Steel
m Seals : NBR ® Armature Seals : Viton
m Spring : Stainless
m Cap : Zinc Pressure Die-Cast

Ex-Proof Coil

SP3 SPT3

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

- ON2 - A2
——

| | |
] ] ] ]
Port Size & Thread § Retum Method Int/Ext. Pilot Manual Operator § Solenoid Coil Type
0

Connector Type Voltage
SNA - 1| 5/2 Singe 0 [ci/ 0| None || internal Piot 0| None None 0 [ Nore 0 [ None
Solenoid‘ Vale 2 | 5/2 Double 1 | NPT 1/4 1 | Air+Spring P | Push SC2| 3 Pin Connector Coil CN2| Normal Connector A2 | AC 220V
3 | 5/3 Closed Center 2 |Ar | MNon-Locking  SG2| Grommet/Flying CD2 | Connector With LED Al [ AC T10V
_4 | 5/3 Open Center _3 | Spring L | Lever Locking Leads CZ2 | Connector With LED & Surge _Ad4 | AC 2V
SNP4: 5 | 5/3 Pressure Center SD2| Grommet/Flying Suppressor D4 | DC 24V
Prieumatc Vahe - Leads With LD ONV2| Metal Connecor D2 oC 12v
SP2| 22mm HEIY (CDM2| Metal Connector With LED
_sP3 mm SEIA 2 | Metal Comnector With LED &
SPT3[ 36mm WEFY Surge Suppressor




Namur
Solenoid & Pilot Actuated Spool Valves Port Thread 1/4

SPort 2Position Solenoid Valve SPort 2Position & 3Position Pneumatic Valve
Single Solenoid 4=95.5 Hole Single Pneumatic 2-95.5 DP3.5
—IL-" — TeRT T T —
SNé\O‘J IL-SD2: ] ‘ & D ‘ SNEM‘)OW 1] h{}:} ]
ZANIIVA® ; CANIIVASS LIRS ZannE
315 315 2 4
JASZA| JASZ| © & +
‘ |_24.0 | ‘ m]]i E |__s00 24.0
b ‘ 103.0

25.0 jo. ik

97.0
I | v o
g = m )
98 1l - o [P
o E
S g
3 SsHNSS] J—‘
Lever Locking Override E
or Manual Button 17.0, 50.0 3-G1/4(1,3,5-Port)
2-65.5 P35 H
— € b P —
b Double Pneumatic /A
4 b
493 Ve Elx SNP4200 gl
17 N N — Ly | o e ° F
2 @ 4 — '”M* | 10.0
300 | 240 218 123.0(137.0) ()2te) xi% & 3-Position®
142.0

SPort 2Position Ex-proof Solenoid Valve

[ i

e5 T e | I — K EEp
Single Solenoid & ’7’7’ﬁ"
17.0, 50.0
3-61/4(1,35-Port) SN4101-IP-SP2-+#
2 4 153.0
3,000+£10,0
1545 Thread 1/2 315
SN4101-1L-SC2-CNM2*+ |
2 4 Lever Locking Override — 2-05.5DP3.5 ‘[Ej%
or Manual Button o
EAVIIA:Y il E
s 2-95.5 DP3.5 || g 5 vch E
E
T ﬂl g el ) s
4 ol e PR o] ) B g | sl
4 o o 4 § L © —
2 oo 4 0 30.0 24.0
141.5
30.0 24.0 G172
1415 250 10.0_
Double Solenoid SN4101-IP=SP3~
SN4200-1L-SC2-CNM2-++ 1 H1H
2 4 o ol
E
315 == —~ g
Jﬂl 4 & P M 2-#5.5 DP3.5
0\
AN b} reb ki
. E
L e - o o 0\ E
R pigisid e
198.5 2 4 i 1
© & L
30.0 240
141.5
SPort 3Position Solenoid Valve 220 0g
Closed Center SN4101-IP-SPT3-*x BH e =
~IL-SC2-CNM2~ 2.4 o m > o
SN4308-1L-SC2-CNM2—++ 2305 L 4. L3
5 o3 7 G
ST ~ -
315 i | Ej Ej | L ’
3,000+10.0
Exhaust Center — Jj;]l JmL L J
SN4403-1L-SC2-CNM2-++ T
o 2 4 5 H f@ @ - l% 2-95.5 DP3.5 =
VT ;1 ;i a o|
21e Ll 2eee " | 1 5 o] 2
a2 A\ yE g
Pressure Center 212.5 | i W\ ‘ 3
SN4503-1L-SC2-CNM2-+* Loae f ol
2.4 30.0 240
315
Sealing Part Dimension 3-Port Blanking Part Metal Connector (Material : ZnDC)
(Material : Al)
80,
810.0 Hale 10.0 DP7.0 M5x0.8
q
N _f\ | 4 } é Thread 1/2
! I = % o o o 2 1. ] 7=
Ak i = e
| | S I 3 <
L e - ‘ \\J ; |
21.0 t
B4 . 24.0 | ALJ; 32.0 24.0
240 a6 700 52.0
Single Acting Use Plate
Sealing Area SN3000-BLK SN3000-Plate CNM2




Solenoid Coil
Series

SPECIFICATION

FUNCTION

SOLENOID COIL

ITEM

sCl | SC2

Voltage Tolerances

+10% of Rated Voltage

Coil Insulation Class

F-Class or Equivalent

SC1-sx Temperature Range 5~60°C (41 ~140°F)
IP65(With Connector)
SC2-%x
IP65(With Connector) AC 60Hz 3.5VA 5.5VA
Holding Power 50Hz 4.5VA 6.5VA
DC 2.5W 2.5W
The Material of Parts
SGlnn m Molding : Glass Pressure Nylon
P65 m | ead Wire : AWG-no.22, no.24
m | ead Wire Packing : Viton
m Yoke : Carbon Iron
SG2-%x )
P65 m |ndicator Cap : Polycarbonate
% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.
SD1-%x
P42
Indicator : LED
SD2-%*
P42
Indicator : LED
SL1-xx
1P42
Indicator : LED
SM1-%x
P42
Indicator : LED

+*:Voltage Selection
ORDERING NO.

SC1 -
I_l I—I

SC1 15mm-3 Pin Connector Coll A2 AC 220V
SG1 15mm-Grommet/Flying Leads Al AC 110V
SD1 15mm-Grommet/Flying Leads With LED A4 AC 24V
SL1 15mm-90 Degree Plug-in Wire Assembly LED D4 DC 24V
SM1 15mm-180 Degree Plug-in Wire Assembly LED D2 DC 12v

SC2 | 22mm-3 Pin Connector Coil
SG2 | 22mm-Grommet/Flying Leads
SD2 22mm-Grommet/Flying Leads With LED




Solenoid Coil Series

15mm Width / 22mm Width

SC1-xx
(3Pin Connector Coil)

M3x0.5

BN
I}

8G2-
(3Pin Connector Coil)

11.0

[J;[M/¢7v9 Hole _ 7.1 Hole Hm” H m
N o K]
T 22.0 \wg.o Hole 29.5 981 Hole
SG1- 8G2- %
(Grommet/Flying Leads) (Grommet/Flying Leads)
2-01.4 i %Wy %
i it [ . [
| /w.e Hole | 97.1 Hole éﬁj 1 |
_ 26.0 15.0 & I
e oo 22.0 \ag.o Hole 295 8.1 Hole
SD1-% % SD2 - *
(180 Degree Plug—in Wire Assembly LED) (Grommet/Flying Leads With LED)
2-924 _ %
2-01.4 % ﬂﬂ W 5, ﬂﬂ
J\* 1l
_ S
|
26.0 22.0 \M).O Hole

SL1-s%x

(90 Degree Plug—in Wire Assembly LED)

87.1 Hale

SMIT-x %

(180 Degree Plug—in Wire Assembly LED)

%/ﬁm Hole = TJ]:.:.
o )
o M w o
} 3 B I I
—7—91.5 DP1.0 26.0

97.1 Hole




DIN Connector
Series

SPECIFICATION
FUNCTION Connector
ITEM CNI | CN2
Voltage Tolerances +10% of Rated Voltage
Temperature Range 5~60°C (41 ~140°F)
Max. Current 2.5A
CN1 CN2
Protection Class IPE5(With Coil)
Section Conductance Max. 075mi |  Max. 1.50mi
The Material of Parts
m |ndicator : Glass Pressure Nylon, Polycarbonate
m Sealing Packing : NBR
m Jointing Bolt : Carbon Iron
CD1-*% CD2-*%
% The specification on each item can be amended without any prenotice to improve a performance.

? ? % The specification on each item can be different from actual specification.

*x:Voltage Selection

ORDERING NO.

CD1 -

|—I

CN1 15mm-3 Pin Normal Connector A2 AC 220V
CD1 15mm-3 Pin Connector With LED Al AC 110V
CZ1 15mm-3 Pin Connector With LED & Surge Suppressor A AC 24V

D4 DC 24v
CN2 | 22mm-3 Pin Normal Connector D2 DC 12V

CD2 | 22mm-3 Pin Connector With LED

Cz2 22mm-3 Pin Connector With LED & Surge Suppressor
CNM2 | 24mm-3 Pin Metal Normal Connector

CDM2 | 24mm-3 Pin Metal Connector With LED

CZM2 | 24mm-3 Pin Metal Connector With LED &

Surge Suppressor




DIN Connector Series

15mm Width / 22mm Width

CN1
(Normal Connector)

CD1-x

(Connector With Connector)

CZ1-+x

(Connector With Connector & Surge Suppressor)

EU(EEE 4.
L]

25.5

18.5

CN2
(Normal Connector)

CD2-

(Connector With Connector)

CZ2-+ +

(Connector With Connector & Surge Suppressor)

40.7 mox10.0

]
L]
F=—
LTI
218.0
30.0

21.0

11.0,

e | T8
s

CNM2
Metal Connector

CDM2- =
Metal Connector With LED

CIM2-+ =
Metal Connector With LED & Surge Suppressor

Thread 1/2

21.0

[
PO







Y M VSeries
P ME Vscrics
= LVSeries

I L\/ scries
KM V/ scries
T M V/ scrics
=T scrics

YMV Series (3/2 Mechanically Valve)

PMEV Series
(5/2, 3/2 Panel Mounted Mechanically Valve)

RLV Serles
(5/2, 3/2 Roller Lever Mechanically Valve)

HLV Series KMV Series TMV Series
(5/2, 5/3, 3/2 Hand Lever (5/2, 3/2 Knob push  (5/2, 3/2 Toggle Lever
Operated Spool Valve) /Pull Manually Valve)  Mechanically Valve)

FT Series

(5/2 Foot Treadle
Operated Spool
Valve)



YMV Series

SPECIFICATION
SERIES YMV310 | YMV410
ITEM FUNCTION 3/2-Way
VA 10-PU Dy v Fluids Compressed Air & Inert Gases
ouT ouTt
Port Size 1/8 | 1/4
NC NO NC NO NC NO
@ ] Pressure(bar) 0~8.0
¥ Wit Eff. Secti - 105 160
= . Sectional Area(mit)-5bar ! f
Ambient & Fluid Temp. 5~60°C (41~140°F)
Lubrication Not Required(Use 1SO VG324 )
YMV310-FP-3
Transition Capacity Graph
NC NO 1600 I , ‘
1400 | :
- ; : | i
S 1200 —i| !
£ YMV410 T L~
= 1000 l—t]—--—YMV310 !
< T T ‘
O 0 | —
600 | el R
NENO 400 /_ "/—-/‘ |
/__/——‘/
200 ;
0 \ o
1 2 3 4 5 6 7 8
pressure (bar)
YMV410-FP-3 YMV410-MT-3 Th M 1‘ A | f P 1‘
out , OUT L UT e Marerial ot Parts
NCNO NC NO NCNO m Valve Body : Die-Cast Aluminium m Switch Parts : Glass Filled Nylon,
m Spool @ Aluminium POM
m Seals : NBR
m Spring @ Stainless
m Button Parts : Stainless Steel, POM

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

ORDERING NO.

s (1 8-

J
[ [ |
Port Size & Thread Switch Type Mounting Holes
o [

YMV3: 1| 3/2- Spring Retun PU_ [ Pushrod 3 [ somm
1/6-Port Bo.d 1 | NPT 1RP Two-way Plastic Roller Lever
y 1RB | Two-way Bearing Roller Lever
. 2RP One-way Plastic Roller Lever
YMV4 ) 2RB One-way Bearing Roller Lever
1/4-Port Body

FP Flush, Push Button (R)
SL 2-Position Selector (B)
MS | Mushroom 40mm dia Spring Return (R)
MT Mushroom 40mm dia Turn to Unlock (R)

() Standard Color




Manually & Mechanically Actuated Spool Valves

Port Thread 1/8,1/4

3/2-Way, Direct Pushrod Operation T1 | Vaid Operaton Dist 3.5m 3/2-Way, Direct Pushrod Operation T+ | Vaid Operaton Dist 3.5m
anead_]/ 8 Tz | InVaild Operation Dist 1.0mm anead_]/ 4 Tz | InVaild Operation Dist 1.0mm
Fr | Pressure for Vaid Operation 35ke Fr | Pressure for Vaid Operation 35ke
F | Pressure for InVaild Operation F | Pressure for IVaild Operation
YMV310-PU YMV410-PU
ouT ouT
NC NO NC NO
27.0,
It =
— 28.0 98.0
= 5.5
w, gJ = 9 % ‘ 95.5 FJ
I = ‘ ! )
T T = - ;
. m R ! $7D>* g 3-G1/8 . z; e ﬁ‘ q
3 — b o i gl | g
e 2l b ol
S i o | Eli o
4-eds ‘zsn‘ m‘ 3—gB.4 ‘ 30.0 ‘
35.3 : 40.0
3/2-Way, Direct Roller Lever Operation vaio-1ee | vnaio-zp 3/2-Way, Direct Roller Lever Operation aie-Iee | o
Thread-1/8 T: [ vaig Operation Dist 85m | 9.0mn Thread-1/4 T: [ Veid Operaton Dist 80m | 9.0m
Tz | InVaild Operation Dist 3.0mm 3.5mm Tz | InVaild Operation Dist 3.0mm 3.5mm
Fr | Pressure for Vald Operation 20ke | 20k Fr | Pressure for Vaid Operation 20ke | 20ke
Fa | Pressure for InVald Operaton| Fa | Pressure for InVaild Operation
YMV310-1RP YMV310-2RP YMV410-1RP YMV410-2RP
YMV310-1RB YMV310-2RB YMV410-1RB YMV410-2R8
ouT ouT ouT ouT
NC NO NC NO NC NO NC NO
62.5
55.0 57.0 #17.0
54.2 /" :ig R29.5—|
22.5 22.5
! | ! &
= . == ; .
i \ e == N i E
3 & g71° ‘ 3 @ P P
iE ol iE A o
8 Bl SRR E
4—p4.4 ‘25_0 3-95.4. ‘ 30.0 354/ |
40.0
3/2-Way, Direct Pushrod & Selector Operation 3/2-Way, Direct Pushrod & Selector Operation
Thread-1/8 Thread-1/4
YMV310-FP-3 YMV310-SL-3  YMV310-MS-3  YMV310-MT-3 YMV410-FP-3 YMV410-SL-3  YMV410-MS-3  YMV410-MT-3
ouT ouT ouT out outr ouT ouT ouT
T [eoeands [sem v\ NGB W\ SNy | T ermanos [ssm N[ ®"NTB ol N by SN
Ne O NE NG NG NG NG NG NG NG NE NG NC NG N NG
Tz | InVaild Operation Dist 1.0mm Tz | InVaild Operation Dist 1.0mm
Flush , Push Button 2-Position Selector Dia Spring Return Turn to unlock Flush , Push Button 2-Position Selector Dia Spring Return Turn to unlock
Fi | Pressure for Vald Operation 35K Fi | Pressure for Valld Operation 35K
Fo | Pressre fr nvald Operetn| - Fo | Pressre for vald Opeaton|
] E /gh E
< —
° 37.0 K’w
37.0 0.0
235.0
$33.0 - 7
A
| 8 o
oz ) ol o ) of
=N E E : E = E
359 7 | = I 2l | g
N & | ¢ D
| haik |




Series

SPECIFICATION
\ SERES | PMEVIOD | PMEV200 | PMEVAOD
ITEM FUNCTION 5/2, 3/2-Way
Fluids Compressed Air & Inert Gases
Port Size M5 | 1/8 | 1/4
PMEVIBO-MT-2 Pressure(bar) 0~8.0
EANIREY Eff. Sectional Area(mi )-5bar 35 | 126 | 190
Ambient & Fluid Temp. 5~60°C (41~140°F)
Lubrication Not Required(Use 1SO VG324 )

Transition Capacity Graph

PMEV400|

— === PMEV20
1200 |—q-——-- PMEV100

PMEV210-FP-3 PMEV210-SL-3 PMEV260-MS-3
2 4 out

L R WG

315 315 NC NO

Qn( ¢ /min)
[{=]
3

1 2 3 4 5 6 7 8
pressure (bar)

The Material of Parts

m Valve Body : Die-Cast Aluminium m Switch Parts : Glass Filled Nylon,
m Spool @ Aluminium POM

m Seals : NBR

m Spring @ Stainless

m Button Parts : Stainless Steel, POM

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

ORDERING NO.

e 4 [0 - B -

PMEVT 1 [ 5/2 - Spring Retun o Ja FP Flush, Push Button (R) 2 | zmm
' 6 | 3/2- Spring Retum G SL_ [ 2-Position Selector (B) 3 | somm

MS Mushroom 40mm dia Spring Return (R)

MT Mushroom 40mm dia Turn to Unlock (R)

() Standard Color

M5X0.8-Port Body

PMEV2:

1/8-Port Body

PMEV4:

1/4-Port Body



Panel Mounting Mechanically Actuated Spool Valves Port Thread M5, 1/8,1/4

5/2-Way, Pushrod & Selector Operation 3/2-Way, Pushrod & Selector Operation
Thread-M5x 0.8 Thread-M5x 0.8
OPERATION SPEC. OPERATION SPEC.
T | Vaid Operation Dist 5.5mm T | Vaild Operation Dist 5.5mm
T | InVaild Operation Dist 1.0mm T | InValld Operation Dist 1.0mm
Fr_| Pressue fo Vaid Operaton kg PMEVIIO-FP-2 PMEVIIO-SL-2  PMEVIIO-MS-2  PMEVI10-MT-2 Fo [ Presswe f Vald Opealin | ) o PMEVIGO-FP-2  PMEVIGO-SL-2  PMEVIGO-MS-2  PMEVIE0-MT-2
Fa | Pressure for InVaild Operation 2 4 42 2 4 2 4 Pressure for InVaid Operation ouT ouT ouT ouT
PENIIVAS S ENIIVAS RNTIA S - AV 17AS) A by d AR LA by d ATy
315 315 315 315 NCNO NCNO NCNO NCNO
Flush . Push Button  2-Position Selector Dia Spring Return Turm to unlock Flush , Push Button 2-Position Selector Dia Spring Return Turn to unlock
(Standard Color : Red) (Standard Color : Black) ~(Standard Color : Red) (Standard Color : Red) (Standard Color : Red) (Standard Color : Black) (Standard Color : Red) (Standard Color : Red)
g, g ¥
v A oA T
d ofd I, 4 103 o T |
g8 A &7 »‘;{44"4 a2 TN AL 7N
Panel Hole Size | 320 | £ |sz0 | Panel Hole Size | 520 | B ‘ 520 ‘
g o g\i
: 4 :
5/2-Way, Pushrod & Selector Operation 3/2-Way, Pushrod & Selector Operation
Thread-1/8 Thread-1/8
OPERATION SPEC. OPERATION SPEC.
T+ | Vaild Operation Dist 5.5mm T | Vaid Operation Dist 5.5mm
Tz | Ivald Operaton Dist 100m  opevpio-Fp-3  PMEV210-SL-3 PMEV210-MS-3  PMEV210-MT-3 T | nvald Operaton Dist 1.0mm oy ievos0-FP-3  PMEV260-SL-3  PMEV260-MS-3  PMEV260-MT-3
Fi | Pressure for Vald Operation 3.0ke 2 4 2 4 2 4 2 4 Fi | Pressure for Valld Operation 3.0ke ouT ouT ouT ouT
Fe [peswenmastean| WS ZEy ol ATAR ARy (A T2 Fe [reseeo oot~ wl AT P s\ B AT By W AT bp
3158 3158 315 315 NCNO NCNO NCNO NCNO
Flush , Push Button 2-Position Selector Dia Spring Return Turn to unlock Flush , Push Button 2-Position Selector Dia Spring Return Turn to unlock
(Standard Color : Red) (Standard Color : Black) ~(Standard Color : Red) (Standard Color : Red) (Standard Color : Red) (Standard Color : Black) (Standard Color : Red)  (Standard Color : Red)
@/% T w/@ 1
Panel Hole Size ‘ 229 ‘ Panel Hole Size
833.0
" 3 833.0
: g E o 3 E
al ] | < I ! ©
N b : :
sl 8 0 N‘i = 4 sl
E g E ol 3 Py RIF |
- E A — N & o
i % El i ;F:f L
o ||2.5 2l el ) Ll |2L5) ) o
:‘ 2.4 - ﬁ_g 2 <l 3.0 285 | €l ﬁjj
18.0 |18
5/2-Way, Pushrod & Selector Operation 3/2-Way, Pushrod & Selector Operation
Thread-1/4 Thread-1/4
OPERATION SPEC. OPERATION SPEC.
T | Vaild Operation Dist 5.5mm T | Vaild Operation Dist 5.5mm
Tz | InVaild Operation Dist 1.0mm PHEVA10-FP-3  PMEV410-SL-3  PMEV410-MS-3  PHMEV4A10-MT-3 Tz | InVaild Operation Dist 1.0mm PMEV460-FP-3  PMEVAB0-SL-3  PMEVAG0-MS-3  PMEVAG0-MT-3
Fr- | Pressure for Vaid Operation 2 4 2 4 2 4 2.4 Fr | Pressure for Vaid Operation out out out out
aoks AL A TAR AT ALy oA 4.0ke ; ;
F2 | Pressure for InValld Operation s s s W SRS }—D F2 | Pressure for InVaiid Operation Nl@cko‘ 1 T}_D #NTC\bo‘ I TH NJNTC}O‘ I J‘D %Jnrc}o‘ I T}‘D
Flush , Push Button 2-Position Selector Dia Spring Return Turn to unlock Flush , Push Button 2-Position Selector Dia Spring Return Turn to unlock
(Standard Color : Red) (Standard Color : Black) ~ (Standard Color : Red)  (Standard Color : Red) (Standard Color : Red) ~(Standard Color : Black)  (Standard Color : Red)  (Standard Color : Red)
_ AN
% N g 9 of o F% o
A /R
o 1 e LN W
I Panel Hole Size ‘-—320 ‘ Lg ‘ 32.0
° $33.0
: 3 2 < 3 3
i i g i z J i . 4
N4 E 4 ] g 4 g E
S E E " 9| i E
20.0
265 2 m‘ o an 7
26.5 -




RLV Series

SPECIFICATION

\ SERES | Rvio | Rwveo | RLvao
ITEM FUNCTION 5/2, 3/2-Way

Fluids Compressed Air & Inert Gases

Port Size M5 | 1/8 | 1/4

Pressure(bar) 0~8.0

Eff. Sectional Area(mi)-5bar 35 | 128 | 190

Ambient & Fluid Temp. 5~60°C (41~140°F)

Lubrication Not Required(Use ISO VG32# )

Transition Capacity Graph

1600 T
1500\t

N RLV400
1200 - —-—RLV200
o RLV100

RLV260-PU RLV260-1RP

ouT out

NC NO NCNO

Qn( £ /min)
[{=]
S
\

pressure (bar)

The Material of Parts

m Valve Body : Die-Cast Aluminium m Lever Parts : Steel Plate, POM
m Spool : Aluminium m Pilot Parts : Glass Filled Nylon
m Seals : NBR m Cap : Zinc Pressure Die-Cast

m Spring : Stainless

m Button Parts : Stainless Steel

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

ORDERING NO.

RV 1 0 - PU

0o Ja PU

RLVI: 1 5/2 - Spring Return Pushrod

. 6 3/2 - Spring Return 1 | NPT 1RP | Two-way Roller Plastic Lever
TRB | Two-way Roller Bearing Lever
2RP One-way Roller Plastic Lever
2RB | One-way Roller Bearing Lever

M5x0.8-Port Body

RLV2:

1/8-Port Body

RLVA4:
1/4-Port Body



Roller Lever Mechanically Actuated Spool Valves Port Thread M5, 1/8,1/4

5/2-Way, Pushrod & Roller Lever Operation 3/2-Way, Pushrod & Roller Lever Operation
Thread-M5x 0.8 Thread-M5x 0.8
RLVI10 | RLVI10-1RP| RLV110-2RP RLV160-PU | RLV160-1RP| RLV160-2RP
T | Vaid Operation Dist 2.0mm 6.0mm 7.0mm T | Vaid Operation Dist 2.0mm 6.0mm 7.0mm
Tz | InVaild Operation Dist 1.0mm 2.0mm 2.0mm Tz | InVaild Operation Dist 1.0mm 2.0mm 2.0mm
Fr | Pressure for Vaild Operation 2.0k 1.0k 1.0k Fr | Pressure for Vaild Operation 2.0k 1.0k 1.0k
Fa | Pressure for InVald Operation CRe oRe ke Fa | Pressure for InVald Operation e s e
RLV110-1RP RLV110-2RP RLV160-1RP RLV160-2RP
RLV110-PU RLV110-1RB RLV110-2RB RLV160-PU RLV160-1RB RLV160-2RB
2 4 2 4 2 4 ouT ouT ouTt
315 315 315 NCNO NCNO NCNO
3 E
3 3
3 azo, E 17.0,
o 53.0
4B.5 #14.0
o
& 3 3 o
9 ) T H H g
4 1 | = 1
IN | - M, 1
3 I o B B S
- o $ = = E gf— ] 74 o @ 2
4 $/ = J 9 b9 5 L 1
Bam Rk g ENENRNE
150 9 145[| 25 150 ﬁ‘
- 23.0 -
5/2-Way, Pushrod & Roller Lever Operation 3/2-Way, Pushrod & Roller Lever Operation
Thread-1/8 Thread-1/8
RLV210 | RLV210-1RP| RLV210-2RP RLV260-PU | RLV260-1RP| RLV260-2RP
T | Vaild Operation Dist 3.0mm 8.5mm 9.5mm Tr | Vaild Operation Dist 3.0mm 8.5mm 9.5mm
Tz | InVaild Operation Dist 1.0mm 2.0mm 2.0mm Tz | InVaild Operation Dist 1.0mm 2.0mm 2.0mm
Fr | Pressure for Vald Operation 25k 15k 5k Fr | Pressure for Vald Operation 25k 15k 15k
Fa | Pressure for InVald Operation e e e Fa | Pressure for InVald Operation e e K8
ALV210-1RP RLV210-2RP RLV260-1RP RLV260-2RP
RLV210-PU RLV210-1RB RLV210-2RB RALV260-PU RLV260-1RB RLV260-2RB
2 4 2 4 2 4 ouT ouT ouT
315 315 315 NCNO NTCNO = NENO =
a4 7.0, &
e 1
- 914.0
B Ro7.9~ 22 /;l 914.0
% E‘:‘ /MM.G \ - " :ﬂ ) /}:\
: g g G A B . 3 -
] DI A 2 o
i Y ﬁ = 2 A oo ¥ 3 el
‘ A i ° & . | o 4
Ny Mo | g Sl o : =
9 @ ] EE “ o —® R 4 [
i E[ = pec—| e g S iadl
G.‘ i‘li ‘ 215 | o 1) i ‘ 251 v |
= 13.0 285 | H g 13.0 285 g l1a.0| 9
l18.0| 8.0
5/2-Way, Pushrod & Roller Lever Operation 3/2-Way, Pushrod & Roller Lever Operation
Thread-1/4 Thread-1/4
RLVA10 | RLVAI0-1RP| RLVA10-2RP RLV460-PU | RLVA460-1RP| RLVA60-2RP
Tr | Vaid Operation Dist 3.6mm 9.0mm 10.5mm Ti | Vaid Operation Dist 3.6mm 9.0mm 10.5mm
Tz | InVaild Operation Dist 1.0mm 3.0mm 3.0mm Tz | InVaild Operation Dist 1.0mm 3.0mm 3.0mm
F1 | Pressure for Vaid Operation 35k 15k 15k F1 | Pressure for Vaid Operation 3.5k 1 5k 15k
Fa | Pressure for InVald Operation ORE e oKe Fa | Pressure for InVald Operation -OXE oXE oKe
RLV410-1RP RLV410-2RP RLV460-1RP RLV460-2RP
RLV410-PU RLV410-1RB RLV410-2R8 RLV460-PU RLV460-1RB RLV460-2RB
2 4 2 4 2 4 ouT ouT ouT
315 315 315 NCNO NCNO NCNO
g‘x 27.0
R 62.5
57.0 [-o17.0 62.5
56.0 R20.5- |25 o 57.0 |-o17.0
542 #17.0 55.0 R20.5 225 n
3 25 / > ol 542 #17.0 B -
iy N P > 3 ¢ < o £
3 i 2 @ N ? J 2 4 E i >
gt § ! . E 4 s Y ST | e
ek |1 e T B L
ach paL [ 8 IE==N Do, E E R E 3
8T g 3 J?Ej #4 = e
‘ |20 70 o | zes 20 || | o
265 345 E 345 | 265 | o




HLV Series

SPECIFICATION
SERIES HLV300 HLV400 | HLV500 HLV600
HLV310-S Single HLV330-D Closed Center
2 4 2 4
NN AN ITEM FUNCTION |5/2, 5/3-Way 5/2, 5/3, 3/2-Way 5/2, 5/3-Way
315 315
HLV320-D Degellded HLV340-D Exhaust geljter Fluids Compressed Air & Inert Gases
HLV330-§ C|8s‘e§ Center HLV350-0 Pressureidefmer Port Size 1/8 | 1/4 | 3/8 | 1/2
HLV340-5 Exhaist Center are Pressure(bar) 0~80
Eff. Sectional Area(mi)-5bar 135 | 18.0 | 35.0 | 90.0
HLV350-5 Pressie Center - - 5 -
Ambient & Fluid Temp. 5~60°C (41~140°F)
EAR]
Lubrication Not Required(Use 1SO VG324 )
Transition Capacity Graph
HLV460-S gLnTgle HLV410-S Single HLV430-D Closed Center 9000 T t L - l
2 4 ) 2 4 | ;
N@OERT EXL]]IRT EERNINMIVAS 8000 e
HLV460-D Detented HLV420-D Detented HLV440-D Exhaust Center -——-HLV630-S.D A A
SANIBL ERNIIVAL! EUAVIIRIIVAE; e ves0-2 0 —
0% L =L < HLV500-S.0 T~
HLV430-S Closed Center HLV450-D Pressure ?e?ter £ 6000 — - — HLV400-5.D =
~ -7
ST |3 o0 HLV300-50 || | e S
HLV440-S Exhaust Center S 1
2y 4000
315
HLV450-S Pressgr%Center 3000 ——
TR — 1
1000 | L2 ==
0 i
1 2 3 4 5 6 7 8
pressure (bar)
HLV560-S Single HLV510-S Single HLV530-D Closed Center
ouT /T 2 4 /T ) 2 4
HLV560—DNB%%?ded HLV520-D Detented HLV540-D Exhaust Center The Material of Parts
i) e ) . ) .
AN ANIIDAR NS m Valve Body : Die-Cast Aluminium ® Cap : Zinc Pressure Die-Cast
NENO HLV530-8 o|<§s‘e§ Genter HLV550-D Pressureiégfmer m Spool @ Aluminium
N RVIEEIIA= m Seals : NBR
HLV540-S Exhaist Center e ® Spring : Stainless
o m |ever Parts : Steel, NBR, Plastic
HLV550-8 Press:i;r%Center

HLV610-S Single x The specification on each item can be amended without any prenotice to improve a performance.

% The specification on each item can be different from actual specification.
315
HLV620-D Dentended
2 4
.

HLV630-S Closed Center HLV630-D Closed Center
2 4 2 4

5
HLV640-S Exhaiist Center HLV640-D Exhaust Center
2 4 2 4
!

HLV650-S Pressure Center HLV650-0 Pressure’ Cénter
2 4 2 4

EERNIEIRVAS

TR TR

ORDERING NO.

o Jo

HLV3 0 - s
I—l

HLV3 1 5/2 Single S Single Spring Return
1/8-Port Body 2 5; 2 Double 1 [ wer D | Double Detented
3 5/3 Closed Center
HLV4: e om o
1/4-Port Bocy 4 5/3 Open Center
5 5/3 Pressure Center
HLV5: 6 3/2 Normally Closed
3/8-Port Body -
HLV6:
1/2-Port Body



Hand Lever Operated Spool Valves

Port Thread 1/8,1/4,3/8,1/2

9/2-Way, Hand Lever Manually Actuated Valve
Thread-G1/8

HLV310-5

SIMGLE

Niviac

HLV320-D DOUBLE

S TTZH

L@

95/3-Way, Hand Lever Manually Actuated Valve
Thread-G1/8

HLV330-S Closed Center HLV330-0 Closed Center
315 315
HLV340-S Exhaust Center HLV340-0 Exhaust Center
315 315
HLV350-S Pressure Center HLV350-D Pressure Center
NIz
315
PP YNEE:
IR

5/2-Way, Hand Lever Manually Actuated Valve
Thread-G1/4

HLVA10-5 Single HLV420-0 Double
2 4
MANIIVARY AVIIVARY
31 315
3

5/3-Way, Hand Lever Manually Actuated Valve
Thread-G1/4 Thread-G1/4

HLV430-5 Closed Center HLV430-D Closed Center HLV460-5

315 315

3/2-Way, Hand Lever Manually Actuated Valve

Single

Double

HLV460-D
out

HLV440-S Exhaust Center HLV440-D Exhaust Center
HLV450-S Pressure Center HLV450-D Pressure Center

EE

2-G1/4

5/2-Way, Hand Lever Manually Actuated Valve
Thread-G3/8

HLV510-8 single HLV520-D Double HLV530-D
2 4 2 4
ANIVARY AVIIVAS
315 315
HLV540-D
80
ety
ol o
9 9 HLV550-D
NN Py
B P N

5/3-Way, Hand Lever Manually Actuated Valve

3/2-Way, Hand Lever Manually Actuated Valve
Thread-G3/8

Thread-G3/8

HLV530-8 Closed Center HLV530-D Closed Center

HLV560-S Single HLV560-D Double
2 4 2 4 ouT. ouT
315 315 NC NO NC NO
HLV540-S Exhaust Center HLV540-D Exhaust Center
315 315
HLV550-S Pressure Cente HLV550-D Pressure Cente
315 315 .

1180
180

5/2-Way, Hand Lever Manually Actuated Valve 5/3-Way, Hand Lever Manually Actuated Valve
Thread-G1/2 Thread-G1/2
HLV610-S Single HLV620-D Single HLV630-S Closed Center HLV630-D Closed Center
2 4 2 4 2 4 2 4
e WIZINTH RIET) v NETZH
315 315 315 315
775 ‘ HLV640-S Exhaust Center HLV640-D Exhaust Center
17 HLV650-S Pressure Center HLV650-D Pressure Center
; 2-G1/2
M
{11 44
NS iy
20 | ses




KMV Series

SPECIFICATION
SERIES KMV300 KMV400
ITEM FUNCTION 5/2-Way 5/2, 3/2-Way
Fluids Compressed Air & Inert Gases
Port Size 1/8 | 1/4
Pressure(bar) 0~8.0
Eff. Sectional Area(mi)-5bar 135 | 18.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
Lubrication Not Required(Use 1SO VG32# )
KMV310-S-P
3 Transition Capacity Graph
315
KMV310-D KMV310-D-P 1800
2 4 2 4 1600
315 315 . 1400
E 1200 —
2 1000 e
S a0 ]
§ -
600 ——— =
400 Lo
|
200
0
1 2 3 4 5 6 7 8
pressure (bar)

The Material of Parts

KMv410-5-p KMY410-DA KMV460-S m Valve Body : Die-Cast Aluminium m Cap : Zinc Pressure Die-Cast
N[glﬁ]]ﬂj) 1 3&1 15 A NI m Spool : Aluminium m Standing Plate : Steel Plate
KMV410-D KMV410-D-P KMV460-D m Seals @ NBR
24 Naws e m Spring : Stainless
315 ER NC NO m Lever Parts : Steel, NBR, Aluminium
KMV460-DA
. OUT
B EAuRE
NC NO
Standing Plate (Material : SCP1)
S
Order ing Code
KMY-P
% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.
ORDERING NO.

KMV3 0 -s -
— —

| | —
[ [
S

s = R s [memme T o
al )

1/8-Port Body DA | Push, Ar Retum

KMV4

1/4-Port Body



Knob Push / Pull Manually Actuated Valves Port Thread 1/8,1/4

5/2-Way, Spring Return & Push Pull & Air Return Operation

Thread-G1/8 ITEM | KMV310-S [KMV310-D
T 4.0mm 4.0mm
F 4.5kg 2.0kg
KHMY310-S KMy310-S-P
274 274
315 315 L
KMV310-D KMV310-D-P KMV310-DA
2 4 2 4 |2 4
| |
315 822.0_ 315 > 515
L] i
i
3 0 E 2 $
E g 3 : g
b o @ 4 9 s
h Rl &l Y
it ) — i
N <
i = &70 < E o d S
K E E 9 E E E
J = 0 ::f}ii 0" E & 0 ::677
S il B & ik N =, E
; : = ﬂ 5 E
18.0 7.0
23.0 34.0 ol é} ‘ ‘
H 61/8
5/2-Way, Spring Return & Push Pull & Air Return Operation 3/2-Way, Spring Return & Push Pull & Air Return Operation
Thread_G”A ITEM KMV410-S | KMV420-D anead_G1/4
KMV460-S | KMV460-D
T 4.0mm 4.0mm
KMY410-S Kiy410-5-P il 4.5kg 2.0kg KMV460-S
2 4 24 ouT
315 315 NC NO
KMV410-D KMV410-D-P KMV410-DA KMV460-D KMV460-DA
2 4 2 4 2 4 ouT . out
315 315 it [Wig\N(‘)zTFD *QNE\NL‘):TFD
‘ 222.0 ‘ ’tl
$22.0, e
| L] |
& !
S
3 E E B E s :
B 3 hi ¢ g h E: S B
¥ g E o ° b 9 Al ?
& " 3 5 ) i 9| 8 °
P! z° 8 h B
# ¢ — ¥ K
o 9 o E ol < o 9 ~ o
SR ==N ==, B DY 3 | § E e B NIE
b ) of | v &l . N P
~ A I b ) bRl o J -
| T = 4 |
i f ! N 265 | o 20.0 o
20,0 7.0 - 80} I s 265
26.5 34.5 3 61/8
4 G1/8




TMYV Series

SPECIFICATION
SERIES TMV200 | TMV400
ITEM FUNCTION 5/2, 3/2-Way
Fluids Compressed Air & Inert Gases
Port Size 1/8 | 1/4
Pressure(bar) 2.0~10.0 0~8.0
Eff. Sectional Area(mi)-5bar 90 | 18.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
Lubrication Not Required(Use 1SO VG32# )
TMV270 TMV270-P Transition CCIpOCITy Gl'Clph
2000 T T ] -+
= 1600 [—{—— 7uvz00 S T A I
= [ | |==— TMV400 —" —
§ 1200 ’____,..f ——
T 880 P
402 B
1 2 3 4 5 6 7 9 10
pressure(bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Cap : Zinc Pressure Die-Cast
m Spool : Aluminium
m Seals : NBR
m Spring : Stainless
TMVA10 TMV410-P TMVAE0 TMV460-P m [ever Parts : Steel, NBR, Aluminium
Standing Plate (Material : SCP1)
Ordering Code
TMV-P

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

ORDERING NO.

™V2 1 - 0 -
: o

o [

™MV2: 1 5/2 Single P | Standing Plate
J/6-Port By 6 3/2 Normally Closed 1| et
7 3/2 Normally Open
™MV4:
1/4-Port Body



Toggle Lever Operated Mechanically Actuated Spool Valves

Port Thread 1/8,1/4

5/2-Way, Toggle Lever Manually Actuated Valve

Thread-G1/8

— T __p15.0

3/2-Way, Toggle Lever Manually Actuated Valve

Thread-G1/8

TMV210 Y 7 i TMV260
L2 4 2 50.0° 215.0
' y — T 2150
ANl IVA= FANIN. ! /
315 1 3
TMV270 !
\ 2
AN \
{ 13
oI P | o
2-83.3 Hole 2 i s-c1/8 . Pl
\4‘—/(2275110 —_— L Y 38-port) 263 3 Hole .
% ' e Farsd . - -
E o A\L /Gt/&(A—Port) | 2-G1/8(P,R—Port)
o [P o Al %E;ﬁ e g |
| | 9 | o a1 wo| | ]
e e ! 8 1D 2 a8 1 g
o L — « 1 o B |
o g = E] feli e ] g a4 Epo— ﬂl
ElS S Ella 9 E H 2K =
i 1 ; 1
|45 2-93.3 Hole| | |-215_] L s ] 2-63.3 Hole /|| | 1215
13.0]| 25.0 180 13.0] 250
18.0 285 285
34.7 34.7
2-84.4 Hole 2—-94.4 Hole
& ¥ I & ¥ I
& @ % LD
o <
E E
o | o [ o
— o | o || o
Ol or<pr<pr-
Trl[eelel — ak
= 1
RN IR N Y P | Py [aug vy ;
o 8o d o / s Bike I« Iie|
- - 2-94.5 Hole~ [ ] i
2meastdes | g p-19.0 MF2500-4 " |doo P=10.0 MF2300-4
8.0, B-[19.0n+9.0] 6.0 6.0 B=[19.0n+3.0] 6.0
A=[19.0n+21.0] A=[19.0n+21.0]
5 PORT MANIFOLD BLOCK DIMENSION n=STATION 3 PORT MANIFOLD BLOCK DIMENSION =STATION
o] 2 4 6 8 10 12 14 o] 2 4 6 8 10 12 14
8 | 47.0 [ 850 [ 123.0] 161.0] 199.0 | 237.0 | 275.0 8 | 47.0 [ 850 [ 123.0] 161.0] 199.0 | 237.0 | 275.0
A | 590 | 970 [ 135.0] 173.0 [ 211.0 ] 249.0 | 287.0 50.0 | 97.0 | 135.0| 173.0 | 211.0 | 249.0 | 287.0
9/2-Way, Toggle Lever Manually Actuated Valve 3/2-Way, Togale Lever Manually Actuated Valve
Thread-G1/4 Thread-G1/4
TMV410 Fo0 TMV460
L2 4 L2 \,/SD\‘W/ 815.0
315 i 13
TMV470 \\
\
opr of 13 ’S
2 0|
3 2-61/8 our Bl T 2-G1/4
2-64.5 Hole: 3-G1/4 [ (1,3,5-Port) e /(pyk,pm)
3/ (24-Port) rt 2-24.5 Hole G1/4 |
N of ) (A=Port) —
EmAPE iE N %2 [ae = ° &
Heed [ a=my 1 e 3 43 3
9| Ll o Ed = = E
8 ,ﬂ,J 2 g N g ﬁuﬁ} & g * i i g ?(2
| | 2—-@4.5 Hole 1 = | 1 Il = 1 - -
2001 Ay ‘E, l200] ] 2-64.5 Hal [ 265 20
i 29.5 26.5 I 30.5 26.5
345 345
545
2-04.4 Hole 545 o0t 4 Hole
&)
4 gl & {}j o.[
i o
o _ofH b of 1t
. 44.0 o
— T,
) 7 50.0°
T
AN 7
\\
opr [ opr | opr 2
E o
— — ar | ol v IS
<= &5 | -
bl e Lo e RENEE 5T bA bA b EEe
J d ~d ~d ~d ]gg”}ﬁﬂ far ] war ¥l wian 93
I S1P1P¢ § d £q £9 =9 ] 4
2-855 2 2 2 7 2-955 / 3 s
Hole- Hole | MF4300-4
29.0 |P=27.] 6-G1/4 {:07.* 5.0 _|P=27.0 6-G1/4-f 130
6.0 B=[27.5n+16.5] 6.0 116.5| 55 B=[27.0n+12.0] 55 27.0
A=[27.5n+28.5] 27.0 A=[27.0n+23.0] 62.3
62.
5 PORT MANIFOLD BLOCK DIMENSION n=STATION 3 PORT MANIFOLD BLOCK DIMENSION n=STATION
o] 2 4 6 8 10 | 12 14 o] 2 4 6 ] 10 | 12 14
8 | 715 | 1265 181.5] 2365 | 2015 | 346.5 | 4015 8 | 66.0 | 120.0 | 174.0] 228.0 | 282.0 | 336.0 | 390.0
A | 835 | 138.5| 193.5| 248.5 | 303.5 | 358.5 | 4135 A | 77.0 [ 131.0 | 185.0| 239.0 | 293.0 | 347.0 | 401.0




FT Series

SPECIFICATION

SERIES | FT410-S | FT510-S FT600-S, D
R FUNCTION 5/2-Way 5/2, 5/3-Way
Fluids Compressed Air & Inert Gases
Port Size R 1/2
Pressure(bar) 1.5~8.0 0~8.0
Eff. Sectional Area(mi)-5bar 19.0 | 35.0 90.0
Ambient & Fluid Temp. 5~60°C (41~140°F)
Lubrication Not Required(Use I1SO VG32# )

Transition Capacity Graph

9000
1 [ | ] I
| = = - —FT610,620-5,D

3000 —} L -

7000 FT630,640,650-8,0) ~
= o000 — o =FT510-8 .7
€ —~
= — — —FT410-8 P4
Z s =
c - -
le] -

4000 —

L
.
3000 _ -
-7 — -7
. |-
2000 — — — -
- — et —-
1000 e =1 — = =
= T =+
. = 4 |
1 2 3 4 5 & 7 8
pressure (bar)

The Material of Parts

m Valve Body : Die-Cast Aluminium m Pilot parts : Glass Filled Nylon
® Spool : Aluminium m Foot Upper Plate : Die-Cast
Single m Seals : NBR Aluminium
2t ® Spring : Stainless ® Foot Low Plate : Zinc Pressure
3715 m Cap : Zinc Pressure Die-Cast Die-Cast
FT620-D  Detented
2 4
m % The specification on each item can be amended without any prenotice to improve a performance.
FT630-S Cl 315 % The specification on each item can be different from actual specification.
osed Center

315
FT640-S  Exhaust Center
2 4

315
FT650-S  Pressure Center

'S

315

| J —
[ [ |
o Jo

ORDERING NO.

FT4: 1 5/2 Single S | spring Retun
aror Bocy 2 5/2 Double 1| et D | Detented
3 5/3 Closed Center
F15: 4| 5/30pen Center
3/8-Port Body 5 5/3 Pressure Center
FT6:
1/2-Port Body



Foot Treadle Operated Spool Valves Port Thread 1/4,3/8,1/2

5/2-Way, Foot Valve, Air Return Operation
Thread-G1/4

i 2 E
[l S

in 35.1
Thax 4005

Mox 68.0
Min 57.00

235

550

5/2-Way, Foot Valve, Air Return Operation
Thread-G3/8

315

68.0

STV HHHHHH“ w

[YONWOO|

|

——— Eg —
%% B P Lﬂﬁ% 2
o2l e ﬁ{
M
E ‘ 305 | 27.0 3-G3/8 45,0 m‘
< — =
4 > DFT ogy .
q 3 al ool @
; U L S
5/2-Way, Foot Valve, Spring Return & Detented Operation
Thread-G1/2

85.0

FT610-S Single ’—\[
2 4

315 o
FT620-D Double e
2 4 5-1/2 . )

315 [ -
FT630-S Closed Center FT630-D Closed Center

615

3§
i
!

o o o z 1
2 4 2 4 EEE K
‘ N [ | ro 1 M [ v 2y ST
315 315 2 e E 420 285
FT640-5 Exhaust Center FT640-D Exhaust Centes (
!
315 315 4
FT650-S Pressure Center FT650-D Pressure Cente - —
2 4 2 4 H —0 d
, C







COMPBPACT CYLINDER serics
SPEED CONTROLLER serics
AlIR SILENCER scrics

AIR HYDRO CONVERTER scrics
BOOSTER CYLINDER serics

Speed Controller ~ Metal Silencer Plastic Silencer

Compact Cylinder

Direct Compressed Type
Booster Cylinder

Air Hydro Converter

Precompressed Type
Booster Cylinder



YOC(DIQ2 Series

SPECIFICATION
Fluids Air
Certified Pressure 15bar
Maximum Operation Pressure 10bar
Minimum Operation Pressure 0.5bar (812, 816 : 0.7bar)
Ambient & Fluid Temp. 5~60°C(41~140°F)
Lubrication Not Required(Use 1SO VG32# )
Cussion None
YCQ2B-12x5D~YCQ28-12430D YCQ2B-12x5DM~YCQ2B-12x30DM Rod End Screw Female Nut(standard), male Nut(option)
YCDQ2B-12x5D~YCDQ2B-12x30D YCDQ2B-12x50M~YCDQ2B-12x300M
(212, 216, 220, 225) (212, 216, 220, 225) Tolerance of Screw 2nd grade of KS
Allowance of Stroke Distance +1
Supporting Type Standard
Mounting Pierce(Basic), Both Ends Tap(Option)
The Material of Parts
® Tube : Aluminium Extruding ® Snap Ring @ HSWRI
YCQ28-32x50~YCQ28-32x500 YCQ2B-32x5DM~YCQ2B-32x500M = Pistion : Aluiminium m Hex Nut : Carbon Iron
YCDQ2B-32x50~YCDQ28-32x500 YCDQ2B-32x50M~YCDQ2B-32x500M ® Piston Rod : @12~ @ 25-STS304 m Bush : DU Bush
232, 240 ) (32, 240)
(c0. 240 “ @ 32~ ¢ 80-Carbon Iron m Head Cover : Aluminium
m Seals : NBR m Magnet : Rubber Magnet

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

YCQ2B-50x10D~YCQ2B-50x50D0 YCQ2B-50x100M~YCQ2B-50x500M

YCDQ28-50%100~YCDQ2B-50x500 YCDQ28-50x100M~YCDQ28-50x500M
(250, 263, 280) (250, 263, 280)
ORDERING NO.

YCDG2 B - 20 x 30 D M
B

| | |
| | | | |
Mogrets Aflached or Not Tube Diameter Cyiinder Stroke Operating Method Rod Type
12 (mm)

YCQ2 | Non Built-in A | Both Ends Tap 12mm Cylinder diameter Cylinder Stroke(mm Port Size & Thread D | Double-acting type Non-marked | Nut(Basic)
YCDQ2 [ Buit-in B [ Piere 16 : 16mm 912 016 5,10, 15, 20, 25, 30 VEX08 M Screw of rod tap

20 : 20mm 920, 925 5,10, 15, 20, 25, 30, 3, 40, 45, 50 ] (Option)

25 1 25mm 932, 840 5, 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100 G1/8

32 1 2mm #50, 963 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100 G1/4

40 : 40mm 080 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100 G 3/8

50 @ 50mm

63  63mm

80 : 80mm



YC(D)Q2 Series

Non Built-in Magnet Dimension Non Built-in Magnet Dimension
YCQ2B-00 x 00D(M) 12, p16, $H20, H25 YCQ2B-00 x 00D(M) 32, H40, $50, H63, H80
- B
neRc C%;Eecﬁor
) Size
o 2-p o
n ‘917 - q{ ggmemect\on 2 u @I g(} {j
2-¢N Hole | |
4—90 ‘ L
-] e E K L B+Stroke
& | BtStroke .M_i‘O.Q L47?5N,@Hoo‘e At Stroke
A+Stroke £ J
Outside Dimension
Bore Size(mm)| Stioke Renge(mm)| A B | ¢D| E [F H C gl J K L M | 8N 80 P Q S U \ zZ|B|T E G H N X
YCDQ2-12 5~30 [205(17.0| 6 [320(50 | M3x05 | 6 - - 5 [35]| 22 |35|65DP35 | M5%08(105| - - 25 - 8 [90]92| 4 [ M5%x0.8 |140/( 105
YCDQ2-16 5~30 |220(185| 8 [38.0|55| M4x07 | 8 - - 6 | 35| 28 |35 |65DP36 | M5x08|100| - - 29 - 10 10.0(9.2 | 5 | M6X1.0 [ 155 12.0
YCDQ2-20 5~50 [24.0(195]| 10 [46.8| 55| M5%X0.8 | 7 - - 8 | 45| 3 | 55|900P70 | M5X08[105( - - 36 - 13 112.0|150| 5 |M8x1.25]|185| 14.0
YCDQ2-25 5~50 [275(225| 12 [520( 55| M6xX1.0 | 12 - - 10 [ 50| 40 | 55| 90DP 70 | M5%x08 [11.0]| - - 40 - 17 115.0(19.6| 6 |[MI0X1.25|225( 17.5
YCDQ2-32 | 5~100 (30.0|23.0| 16 |450( 75 [M8x125| 13 | 60 | 45| 14 | 7.0 | 34 | 55 | 90DP 7.0 G1/8 |[105[49.5| - - 18| 22 [205|25.4| 8 [M14X15(285| 235
YCDQ2-40 | 5~100 |36.5(29.5| 16 |52.0| 80 | M8X1.25| 13 | 69 | 50| 14 [ 70| 40 | 55 [ 90DP 70 G1/8 120570 - - 18 | 22 |20.5|25.4| 8 |M14x15|285| 235
YCDQ2-50 | 10~100 |38.5)30.5( 20 |64.0)|10.5[MI10X1.5] 15 [ 8 | 70| 17 | 80| 50 | 6.6 | 11.0 DP 80 G1/4 |115|710| - - 22 | 27 [26.0]31.5[ 11 [M18%X15] 335|285
YCDQ2-63 | 10~100 [44.0(36.0| 20 |77.0|10.5| M10x1.5| 15 [ 103 | 70 | 17 | 80 | 60 | 9.0 [140DP 105 G1/4 [150(84.0| - - 22 | 27 [26.0]31.2| 11 [M18X15]335]( 285
YCDQ2-80 | 10~100 [53.0[(43.5| 25 |98.0|125|M16x20 | 21 [ 132| 6.0 | 22 |100| 77 [11.0[175DP 135 G3/8 [16.0[1040| - - 26 | 32 (325|370 13 [M22Xx1.5]435] 355
Built-in Magnet Dimension Built-in Magnet Dimension
YCDQ2B-00 < 00D(M) 12, H16, 20, H25 YCGDQ2B-00 X< 00D(M) 32, 40, H50, 63, H80
HDPC
oN Hole Q_ .
8—a
2-p
Connection
Size
Comnbotion s o §
& & size R SI g(} £
| |
.9_‘ 4L.i L B+Stroke
B+Stroke A+Stroke
A+ Stroke c )
Outside Dimension
Bore Size(mm)|SteRarg) | A | B | 9D| E | F H cler[Jwk[L[M[on] o0 P ofsfufv]z[®[c[E[G] # S
YCDQ2-12 5~30 [31.5|280| 6 [320]50 | M3X05 | 6 - - 5 |35| 22 |35|65DP35 | M5%x0.8 |10.5[/355(|19.5| 25 | - 8 190]92| 4 | M5x08 |14.0|105
YCDQ2-16 5~30 |34.0/30.0| 8 [38.0] 55| M4x0.7 | 8 - - 6 | 35| 28 |35|65DP36 | M5x0.8 |10.0]41.5|22.5| 29 - 10 [10.0]9.2| 5 | M6X1.0 |155]12.0
YCDQ2-20 5~50 |36.0(31.5| 10 [46.8| 55| M5x0.8 | 7 - - 8 | 45| 36 |55 90DP70 | M5x0.8 |10.5|480|24.5| 36 - 13 [12.0]15.0| 5 | M8x1.25 |18.5| 14.0
YcDQ2-25 | 5~50 [37.5]325] 12 [520[ 55| mex1.0] 12| - | - |10 |50] 40 [55]900r70 | mM5x08 [11.0]535[275] 40 | - | 17 |150]196] 6 [Mi0x1.25]225]17.5
YCDQ2-32 | 5~100 [40.0|33.0( 16 |45.0| 7.5 [M8x125| 13 | 60 | 45| 14 [ 70| 34 | 55| 90DP 70 G1/8 10.5(58531.5| - 18 | 22 |20.5(25.4| 8 | M14x15 |28.5( 235
YCDQ2-40 | 5~100 [46.5|39.5( 16 |52.0| 80 [M8x1.25| 13 | 69 |50 | 14 [ 70| 40 | 55| 90DP 70 G1/8 12.0]66.0 |35.0| - 18 | 22 |20.5(25.4] 8 [ M14X15 [28.5|23.5
YCDQ2-50 | 10~100 [48.5|40.5| 20 |64.0|10.5/M10x1.5| 15 | 86 | 7.0 | 17 [ 8.0 | 50 | 6.6 | 11.0 DP 8.0 G1/4 11.5[800[41.0] - 22 | 27 |26.0(31.5[ 11 | M18x1.5 | 33.5( 28.5
YCDQ2-63 | 10~100 [54.0{46.0| 20 [77.0]|10.5/M10x 15| 15 | 103 |70 | 17 | 80| 60 | 9.0 |140DP 105 G1/4 15.0(930 [47.5| - 22 | 27 |26.0(31.2| 11 | M18x1.5 |33.5(28.5
YCDQ2-80 | 10~100 [63.5|53.5| 25 [98.0|12.5|M16x25| 21 | 132| 6.0 | 22 |10.0| 77 [11.0|1750P 135| G3/8 16.0(1125/57.5| - 26 | 32 |325(37.0| 13 | M22x1.5 |43.5[ 35.5
Male Screw Outside Dimension
Both Ends Tap Dimension
®12, $16, 20, $25 ®32, $40, d50, 63, $80 Bore Size| 0 R
o 12 M4 x0.7 10
16 M4 x0.7 10
25 M6X%1.0 17
tﬂ*ﬁ 30 M6X 1.0 17
o e . | . 32 | M6x10 17
H Y A 40 M6 x 1.0 17
g D] ‘\ - 50 M8x1.25 20
S g] Both Ends Type 63 |MI0x15| 20
. j ‘ 80 |M12x1.75| 25
in " o
o
-




YSC Series

SPECIFICATION
SERIES YSC02
R PORT SIZE 1/8 | 1/4
Inside Pressure(bar) 15.0
Pressure Range(bar) 0.5~9.9
Ambient & Fluid Temp. 5~60°C (41~140°F)
Rotation Frequency 8 Cycle
YSC02-1 Weight(g) 80
Free Flux(NI/min) 340
Flowing | Effective Profile Area mi 5
Control | Flux(NI/min) 250
Flowing | Effective Profile Area mi 3.7
Applicable Sylinder Diameter( 8 ) 12, 16, 20, 25, 32, 40, 50, 63, 80
The Material of Parts
m Valve Body : Zinc Pressure m Lock Nut : Brass
Die-Cast m Seals : NBR
m Housing : Brass
m Controll Bar : Brass
m Hex Nut : Carbon Iron

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

YSC02-2

ORDERING NO.

YSC02 -

i G1/8
YSC 02 T o
3 | wTis
P G




YSC Series

1/8,1/4

Pipe Type Speed Controller
Thread- 1/8

Spanner Size

21.0
8.0 .
3 HH M14x1.0 x
o qo YSC02-1:1/8
g 98 /
= fe=a 52
Q o
W]
g
17.5 18.0
25.5
Pipe Type Speed Controller
Thread- 1/4
Spanner Size
21.0
8.0 .
e HH M14x1.0 ]
o o2 YSC02-2:1/4
S >
= € s2
o
9= 9
g
17.5 18.0
25.5
PANEL HOLE
max t:3.0 H&
7
0
<
B
%



Air Silencernr
Series

SPECIFICATION
METAL SILENCER
PORT SIZE WEIGHT DIAMETER
Type
PT (g) A B @ D
ASS 1000 M5 2 4 18 7 7
ASS-1000
ASS 2000 1/8 6 7 24 8 1
ASS 4000 1/4 17 8 32 10.5 15
=0
“%% ) ASS 5000 3/8 28 10 39 12 19
’ ASS 6000 1/2 35 14 44 15 22
AS5-2000 AS-2000 PLASTIC SILENCER
T PORT SIZE WEIGHT DIAMETER
_ ype
SO PT (8) Al e |c | o
Lo AS 2000 1/8 5 40 16 14 7
AS 4000 1/4 14 65 21 20 10
ASS-4000 7874000 AS 5000 3/8 22 85 25 22 13
AS 6000 1/2 32 95 26 26 14
ﬁ The Material of Parts
m Metal Silencer m Plastic Silencer
ASS-5000 « Body : Copper * Body, Cap : POM
* Element : Powder * Resin Element

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

2

ASS-6000 AS-6000

ORDERING NO.

ASS - 1000

ASS! 1000 | M5x08
Metal Silencer 2000 | PT1/8

4000 | PT 1/4
AS: 5000 | PT 3/8
Plastic Silencer 6000 | PT 1/2




Air Silencer Series MS5,1/8,1/4,3/8,1/2

A D
A ) —_
Bl ‘ ‘
© + g C JC ]
, lj leme=se==
PT
PT
PORT SIZE WEIGHT DIAMETER PORT SIZE WEIGHT DIAMETER
MODEL NO. MODEL NO.
T ) A B c D PT (g) A $B | C D
ASS 1000 M5 2 4 18 7 7 AS 2000 1/8 5 40 16 14 7
ASS 2000 1/8 6 7 24 8 1 AS 4000 1/4 14 65 21 20 10
ASS 4000 1/4 17 8 32 10.5 15 AS 5000 3/8 22 85 25 22 13
ASS 5000 3/8 28 10 39 12 19 AS 6000 1/2 32 95 26 26 14
ASS 6000 1/2 35 14 44 15 22




Series

SPECIFICATION
Usage Pressure 3~Tbar
Guaranteed Internal Pressure 10.5bar
Ambient & Fluid Temp. 5~50°C
Fluid Tubin Oil, Hydercting Diameter(40~ 100cst)
The Material of Parts
m Base : Die-Cast Aluminium m Nut Part : STS304
m Tube @ Aluminium Extruding
m |ndicator Tube : Polycarbonate
m Floot : Bubble Resin
m Tie Rod : Carbon Iron

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.
YCT 63x100

YCT 100x100

YCT 160x100
ORDERING NO.
Diameter of Converter
63 63mm
100 100mm
160 160mm
Standard Effective Stroke(Str)
50 100 150 200 250 300 350 400 500 600 700 800
63 [e] O [e] @) O @) O @) O X X X
100 X [®) o @) o [©) (6] @) (6] O X X
160 X X X @) ] O O [©) O O O O

xExcept to the above stroke statements, stroke design can be according to a quotation.



Air Hydro Converter

o
[
PR Air—Pipeing
\ \ =
I [auns!
I !
o
(€]
4
4=M6 il Pipeing
4—-M5
@4& s
P T + 2
b E
= T L o —
x J
c
£
MODEL NO.\ITEM AR PIPE (PT) OIL PIPE (PT) A c DA DB DL E
YCT 63 3/8 3/4 104 64 86 89 53 72
YCT 100 1/2 1 139 92 117 124 61 100
YCT 160 3/4 1.1/4 202 144 180 183 59 100
MODEL NO.\ITEM F G H K NL P QB QL T w X Y
YCT 63 36 72 36 45 28 3 86 31 11 6 35 35
YCT 100 40 72 36 65 33 5 118 32 13 6 53 45
YCT 160 40 72 36 93 29 0 180 48 18 6 44 44
'L’ Dimension
MODEL NO.\STROKE 50 100 150 200 250 300 350 400 500 600 700 800
YCT 63 224 294 344 394 444 494 544 594 694 - - -
YCT 100 - 304 354 404 454 504 554 604 704 804 - -
YCT 160 - - - 414 464 514 564 614 714 814 914 1014




Booster Series

SPECIFICATION
SERIES YNBH3-40 YNBH3-60
Direct Compressed Type ITEM YNPH3-40 YNPH3-60
YNBH3-40 (11:1) Heavy Pressure Rate 11 1 251
YNBH3-60 (25:1)
Overflowing Oil Gauge 70cit (70cc) 70crt (70cc)
Overflowing Oil Pressure at the Time of ,
App\icationg Maximun air Pressure Temperature T7kgf/ crt 175kgf/ eri
Ambient & Fluid Temp. 5~60°C (41 ~140°F)
Operation Oil Cosmorniter 10(cosmo gasolin), Tough spendux oi(made in Aukwang Tongsan Co.)
Fluid Air
Air Oil-Feeding Not Require
Pressure
Department | Pressure 3~Tbar
Oil Tubin oil, Oil Equivalent to ISO VG 32#
Weight(direct pressure) 8.0kgf 10.0kgf
Precompressed Type Converter is Optional

YNPH3-40 (11:1)
YNPH3-60 (25:1)

The Material of Parts

m Rod Cover : Die-Cast Aluminium m Tie Rod : Carbon Iron
m Head Cover : Die-Cast Aluminium ®m Hex Nut : Carbon Iron
m Tube : Aluminium Extruding

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

Air Hydro Converter

YNBH3-40 (11:1) YNPH3-40 (11:1)
YNBH3-60 (25:1) YNPH3-60 (25:1)

Hydro Cylinder

Compressed Air

Hydro Cylinder
Compressed Air

( Direct Compressed Type ) ( Precompressed Type )

Heavy Pressure Rate Overflowing
w0 |

YNBH3| Direct Compressed Type (11:1) 70 | 70cc
YNPH3| Precompressed Type 60 | (51 100 | 1o0ce

ORDERING NO.




Booster Cylinder

11:1,25:1

Oil Hole
Oil Gage
-
o 2-63/8
Air Pipeing | | L
4-¢11.0
x 4
I = il
G 1101 11.0 11.0 [’H.O
F c B
A
MODEL NO. A B C F G J K L M
YNBH3-40-70 378 188 | 162.5 155 130 180 120 60 14
YNBH3-40-100 | 478 238 | 212.5
YNBH3-60-70 378 188 | 162.5 225 190 207 137 %0 16
YNBH3-60-100 | 478 238 | 212.5
MODEL NO. A B C F G J K L M
YNPH3-40-70 378 188 | 162.5
Pl‘ecllmpl‘esseﬂ Type 155 130 196 136 60 14
YNPH3-40-100 | 478 238 |212.5
YNPH3-60-70 378 188 | 162.5
225 190 245 156 90 16
YNPH3-60-100 | 478 238 |212.5
5.5HOLE
29.00P5.5
100.0
#6.5HOLE
#11.5DP7.5 \ 120 .
2 g
2@@ T - h
g@@ 2-G3/8
x| AirPipeing -
A—W.ol B
¢ 1.0 11.0 1.0 ‘M
3 c B
A

p Ending stroke

After finished work, compressor of oil cylinder has been
restored to air pressure by converting valve, and all the
stroke is returned original state, then is prepared to
travel stoke.

SoL1 z

b @é Q SDL2
[SOL 1 OFF / SOL 2 OFF]

» Traveling stroke

By using common converter it has been changed from
“low-compressed air pressure” to “oil pressure” at the
time of 1:1 pressure.

» Precompressed Travelling stroke

By using compressor, high compressed oil should be
traveiied to the hydraulic to get output.

SU[ 2

[SOL 1 ON / SOL 2 ON]






	연우-영문A-2009 .PDF
	연우-영문B-2009.PDF

